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Instructions / }jell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).
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001. The Mahagujarat Andolan culminated in

002.

003.

004.

(A) Inclusion of Saurashtra and Kutchh in Bombay State

.Bombay state split into Gujarat and Maharashtra

(C) End of Mahmud Begada sultanate in Gujarat

(D) Ahmedabad became Capital of Gujarat

Match list I with list I1

List-1

1. Dry deciduous forests

2. Majestic grasslands

3. Vast landscapes

4. Wetland habitats

5. Marine ecosystems
A)1-i,2-ii,3-iii,4-iv,5-v
©)1-ii,2-i,3-iv,4-v,5-iii

Match I (Fort) with II (District)
List-1

1. Lakhota Fort

2. Dhoraji Fort

3. Uparkot Fort

4. Old Fort

5. Modpar Fort
A)1-v,2-iv,3-iii, 4-1ii,5-1i
O)1-iii, 2-ii, 3-1,4-iv,5-v

Match I (Palaces) with II (Places)

List-1

1. Aina Mahal

2. Kusum Vilas Palace

3. Navlakha Palace

4. Digvir Nivas Palace

5. Makarpara Palace
A)1-1i,2-ii,3 -iii,4-iv,5-v
©1-ii,2-iv,3-v,4-i,5-iii

List-11

i. Velavadar

ii. Gir

iii. Pirotan Islands

iv. Little Rann of Kutch

v. Nal Sarovar
B)1-ii, 2 -iii, 3 -iv,4-v,5-1i
M) 1-iii,2-ii,3-1,4-v,5-iv

List-11

i. Devbhumi Dwarka

ii. Junagadh

iii. Rajkot

iv Jamnagar

v. Surat

@)1 - iv, 2 - i, 3 -0, 4- v, 5-i
M1-ii,2-i,3-v,4-iii, 5-iv

List-11

i. Vansda

ii. Bhuj

iii. Vadodara

iv. Chotta Udepur

v. Gondal
B)1-ii, 2 -iii,3-iv,4-v,5-1i
M)1-iii,2-v,3-ii,4-i,5-1iv
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(B) HSIRIR Ar, AU

(C) WAL USRI

(D) HIA A%AUA

gHRPL gl ULl 2532AMH ........... vidd) Gemd 8.

(A) ARuc-1 aaus e B)eirez-u ulas Brea
(C) €181 1212 8dcll A gu (D) Buisd U is v )

AEL-T Hi 2 RBiluasia Wel-TT 1 2uden A%, 5 sl d Rad 9 d-l e Asi.

wel-1 el

1. AYARL i. Buwaausa

2. AR ii. ulZau vicum

3. ¥4t (Chamba) jii. XA

4. sl iv. Grwvis

@)1 -iii, 2-iv, 3-1, 4-ii B) 1-i, 2-iv, 3 -ii, 4-iii
(C)1-iv, 2-ii, 3-iii, 4-i D) 1-ii, 2-i, 3-iv, 4-iii
AARHAL 2 AoAS AEL2AAL UM 2L QA ... 8.

(A) 13l (Panchanada) B) é%@lﬂl

©)is (D) 534l

DA-u WS 54 Aol opna] aulls olla & ?

(A) AiR8L (B) £81

(©)sadl 2ol (D) a3 (Belaads)

B ﬁ%ﬁtd ol (Tiger Reserves) 4, duel 2l DA A8l W4 56 A dlail aloy dd el © ?

I.  Geidl i€l (Udanti Sitanadi) — sai2s

IL. ¢iddl 29l (Dandeli Anshi) — #9422

L. AR50 (Sariska) — A%AA

IV. Qs (Satkosia) — iRR

A 2udan sisuidl aiou 513 uzie 530 A1l [Aseu 2uul.

(A) LA 11 (B) L, IL, 1. IV
(C) 11, III ¢4 IV @11 24 1v
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005. The Sardar Sarovar Project covers which other State(s) besides Gujarat?
.Maharashtra, Madhya Pradesh, and Rajasthan
(B) Maharashtra and Rajasthan
(C) Only Maharashtra
(D) Only Rajasthan

006. The Damanganga River originates from Sahyadri hills in
(A) Valsad district of Gujarat
.Nasik district of Maharashtra

(C) Dadra Nagar Haveli and Daman
(D) None of the above

007. Match I (Hill-stations) with II (States)

1. Saputara i. Himachal Pradesh

2. Nainital ii. West Bengal

3. Chamba iii. Gujarat

4. Kalimpong iv. Uttarakhand
.1-iii,2-iv,3-i,4-ii B)1-i,2-iv, 3 -ii, 4 -iii
O)1-iv, 2 -ii, 3-iii, 4 -1 M)1-ii,2-1,3 -iv, 4 -iii

008. The site of confluence of rivers Sabarmati and Vatrak is
(A) Pachanada (B) Kurusela
@ vautha (D) Koodli

009. Among the following, which is a religious music in Gujarat?
(A) Sorathaa (B) Duha
.Haveli Sangeet (D) Belaads

010. Which of the following Tiger Reserves are correctly paired with their respective locations?
I. Udanti Sitanadi — Karnataka
II. Dandeli Anshi — Chhattisgarh
III. Sariska — Rajasthan
IV. Satkosia — Odisha
Select the correct option from the codes given below:
(A)Iand II (B) L, I, and IV
(O) I1, I and IV .III and IV

[BEG-1] rro. [N
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012.

013.

014.

01S.

016.

017.

Hiud, YAH[ER 58 gl (12 Rua 97

(A) adl (B) "HEL

©)ypuad (D) 248l

99l LA WA suL 6l Pyecutini ugR 2uleanfa-u dlst Sld 2den g Wi 6 ?
@) ruciaue, Y240 (B) 2HELUE, 2UilH0R

(C) UHN2R, HLAPR (D) MUAIR, AXSI2

slasn 22H oold dernani [Agud: ddeqdlla 2ulemld %a (Particularly Vulnerable Tribal
Groups) (PVTG)-L 52c uldad © ?

(A) 16.77 % ®)46.42 %

(C)21.39 % (D) 9.43 %

MIAYRY Beua - 20 wigus uSAA olld-il A4l A3 e 5l YNl 241 24 8-l AdNdma wrdaL,
56 ul2onld g1 S1oll-l a32ud udai Gyaai 2ud € ?

(A) enuld 2uleenld (B) s2u 2ulenld

(C) 2ulld >ulzald @)1 2uleonld

‘siBa @yartl HOW Hell [dendl qed Beua, ol ded 21 gl dld grad) si-idan 2usiay’ Rieai-l yoa
$AUML 2 8, d AARAdHL 58 2uleonldzil 6121 Boyaumi »ud 8 ?

@) e sl (B) sorule 2ufonld
(C) s5%u ul2oald (D) 2udla 2uleoanld

9 Hi gl uleomld ardl-i Aeeni NaA-u Wl 5y (A / sun Q- wea 9 ?

L %AdHl v 11 ulenldil ©.

1L &lla 2ul2onld 24 au-dl ga 2ulzonld axdlui Al Hiel adl 8.

L A2UHL 5 [Q2ud: Adgnalla 2ul2onld ol (Particularly Vulnerable Tribal Groups) €.
(A) A 1 (B) WA I ¢4 11

(C) WA IT 4R 11T @) im0 B,

A2l U sul anoly st Al gl WL 25 el ?

L esud- 2R [Qadizl 214 214 [Qizl a2 2uls 249 001195 dstadn Ad[ad sl

1L 2u(2onld [QeiRini Hirta [Asin yasls yara U wid 5+d s:d.

1L >ul2onfd [ 0HD S 214 WR S 2UHIRIH HNLULSY a1 YHIRAL UR RlIA 5-6ld 524,
IV. [agiud: Adeqslla 2ulzonld o siieur yardia wls gltst (Riduss) suuarl viddl 2uudl.
(A) WA T (B) WA I

(C) WA III @) v
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011.

012.

013.

014.

015.

016.

017.

The Sun Temple at Modhera is located on the bank of which river?
(A) Tapi (B) Narmada
.Pushpavati (D) Rupen

In which two districts of Gujarat, the Padhar tribes are concentrated?
.Ahmedabad, Surendranagar (B) Ahmedabad, Gandhinagar
(C) Gandhinagar, Bhavnagar (D) Bhavnagar, Rajkot

The Kolgha primitive tribe constitutes what percentage of the total Particularly Vulnerable Tribal
Groups (PVTG) in Gujarat?

(A) 16.77 % ®B)46.42 %

(0)21.39 % (D) 9.43 %

Bhanguriyu festival, a musical event with men and women dressed colourfully and dancing with
musical instruments, is celebrated by which tribe before the onset of Holi?

(A) Halpati tribe (B) Kukna tribe

(C) Gamit tribe @)Rathwa tribe

Kaliya Bhoot no Melo, a dance festival of witchcraft where hand-made terracotta sculptures are
worshipped amid dancing and drumbeats, is celebrated by which tribes in Gujarat?

@)Bhil Garasias (B) Halpati tribe
(C) Kukna tribe (D) Gamit tribe

Which is/are TRUE regarding Gujarat’s tribal demography in Gujarat?

I. There are 11 major tribes in Gujarat

II. The Bhil tribe constitutes the largest segment among total tribal population in the state
IIL. There are 5 Particularly Vulnerable Tribal Groups in the state

(A) Only I (B) Only I and 11

(C) Only II and III .All are correct

Which is NOT one of the objectives of Vanbandhu Kalyan Yojana?

I. To bridge economic and social gap between tribal areas and other areas of Gujarat.

II. Focus on improving human development index in tribal areas

II1. Focus on improving social and civil infrastructure in tribal areas

IV. To guarantee monthly stipend to unemployed youths of Particularly Vulnerable Tribal Groups
(A) Only I (B) Only 11

(C) Only III @ only 1v
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019.

020.

021.

022.

023.

024.

02S.

suL AL WAS Al WA 8sng [Raw g2 uBnni 2usalRalr 249 oA Yol [ o ?
@)-isopa Wi (B) Bigui
(C) n2s (D) 18828

sl WA A0 0 [ (74) 29 20l [l (r-uul) disil yrusidl YRR sa 4auql g
Salaal W12 434 HIHTL dZl3 vividl [@ay AR5 A0 Rug)s 538 ¢d) ?

(A) Asdpd Y (B) [Bigar

©)2iis (D) e

SR, 5 FHA L Al (wesione d Radu)l Agdaul a1 530 ¢dl, d .......... Al EOURHI
s(d gau

@)uysopa (B) [BaBruR

(C) x1is (D) [Bag2

Rigrllall acudaidl Al [AfRre sasld Al sswn ygt .......... ML Y2aR-l oiid) gdl.

A) i’ggﬂ'fl Yy (Limestone) .%élb\tal%sa (Steatite)

(C) 2192i51 (Travertine) (D) sue (Quartzite)

Rigelladl aeua (@2 QA1 WA 5y [ / s [Qsnl ac e ?

Ll o gde 21 Budl e,

IL gswit viid Hufl 2uddl Al dm 3d1d Aasuidl woll 2uddl sdl.
L 3wl dlsi Al Guaiaedl o081 8.

(A) WL T3 8. B)ust 1213 1103 8.

(C) WA TIT 0 9. (D) GuRLsd USL 2is w1y 4l
cuRd- U Bl [Bdla 2 SRul sudld nan ciwdl yruaa .......... wid .
(A) 61 (B) 59

(C) MHAR ()RR

A2 2uia 1R 20 WS 53 a0 @4 ayerng ulds 2an i 2ud 6 ?

(A) A-u 25321 (B) BIR 253121l

(C) AR 2532l @) i 25950

oAl Alell Gl udd sul €9 ?

(A) wRael (B) [enan

[(¢)[EERTEY (D) &us
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018. Which Mauryan King extended his control as far northwest as Afghanistan and Baluchistan?
.Chandragupta Maurya (B) Bindusara
(C) Ashoka (D) Brihadratha

019. Which Mauryan King had appointed special officers, known as the Dhamma Mahamatta, to spread
the message of Dhamma to ensure the well-being of people in this world and the next?

(A) Chandragupta Maurya (B) Bindusara
©Ashoka (D) Brihadratha

020. Harishena, who composed the Prayaga Prashasti (the Allahabad Pillar Inscription) in Sanskrit, -
was the court poet of

.Samudragupta (B) Bimbisara
(C) Ashoka (D) Bindusara

021. The Harappan seal, the most distinctive artefact of the Indus Valley Civilisation, made of a stone

called .
(A) Limestone .Steatite
(C) Travertine (D) Quartzite

022. Which is/are TRUE regarding Indus Valley Civilization?
I. Gold was rare and precious
I1. All the gold jewellery found at Harappan sites was recovered from hoards
III. Gold use was unknown to Harappan people
(A) Only I is correct .Both I and IT are correct
(C) Only III is correct (D) None of them is correct

023. The British East India Company's first business headquarter in west coast of India was at
(A) Bombay (B) Kutch
(C) Jamnagar .Surat

024. Which one among the following four places is considered a sacred place of the Jain community?
(A) Sana hill (B) Jessore hill
(C) Lor hill @) Shetrunjaya hill

025. Which is the highest mountain in Gujarat?
(A) Aravalli (B) Vindhyas
.Girnar (D) Sahyadri

[BEG-1] rro. [N
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026.

027.

028.

029.

030.

031.

032,

AU el ... videl Gemd 8.
@i 2012 ARARuid

(B) tiea widl gl udaroumisl
(C) vt AlgHi Adlan udanidl

(D) HEAUSAHE AHAIRA dvuanifl

2aHLAL AEL, 5 Ul 618 siAA 89, d .......... viid 2uadl [ dlor-u 6.
@) (B) Hduw
(C) 1R (D) A% sl2

2129, H2%9 2 cleiRll HElHE H 9 ¢ ?
@Gz 25 addl €1t

(B) &A1 drs agddl gl

(C) e[t ds adld 52691 Qi 1oL 8.
(D) A wesll vl 2v0AHE sLad €9,

.......... J9d-ll Gz usedl uR WA 8.

(A) elBagn (B) #5241l

(O) [yagn @)s5an

aisolla Wl .......... AHA ALl oMl 245 UsIR 69,

(A) ¥~ B2

(C) @+ (D) AHeRlls AL @i
YRR (Feunl dRRldR-AL Wl ... H12 GoraaiHi 2ud ¢,

(A) ®oLa [awgy (B) edl @&l
@)1 B (D) el gau

SRR P B B,

@) wdi-eq 2RI 25 Grial 3 B G120 AARAL AP Sr3gH s d-dlsige Jaqui-e sufRun
sIERIAL Beweld Hs2 52 8.

(B) elRuisisr-u oopua-il uizglds arn-u a0l gividl 3 B+ (UNESCO) a¢s 8R29 a0 a5 s
saquui 2udl 9.
(C) ¥t dlal -l giwen

-

(D) a2 3l gl 3 % 9pornaui [ARre 2ufls dsli-l cuol 8.
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026. Sabarmati river originates from
.Dhebar lake in Rajasthan
(B) Satpura ranges near Betwa
(C) Central Saurashtra in the Chotila range
(D) Amzara lake in Madhya Pradesh

027. The Rudramata river where dam is constructed is an irrigation project in
.Kutch (B) Mehsana
(C) Amreli (D) Rajkot

028. What is common about Aji, Machhu and Brahmani Rivers?
.Northward flowing rivers
(B) Southward flowing rivers
(C) Flow to the south into the desert of Kutch

(D) Empty their waters in the Gulf of Cambay

029. passes through the northern border of Gujarat.
(A) Southern Tropic (B) Tropic of Capricorn
(C) Equator .Tropic of Cancer

030. The folk song ‘Marsias’ is a form of singing at the time of
(A) Birth @) Death

(C) Marriage (D) Community dinner

031. The Tarnatar fair in Surendranagar district is celebrated for
(A) Lord Vishnu (B) Goddess Lakshmi
.Lord Shiva (D) Goddess Durga

032. GARVI-GURJARI is a

.Chain of departmental stores through which Gujarat State Handloom & Handicrafts
Development Corporation Ltd., (GSHHDC) market artisans’ products

(B) Chain of cultural heritage sites in coastal Gujarat that are declared as UNESCO World
Heritage Sites.

(C) Chain of Jain pilgrimage sites

(D) Chain of business centres which are part of Exclusive Economic Zones in Gujarat

[BEG-1] rro. KB
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033.

034.

035.

036.

037.

038.

039.

040.

041.

Bra-uzll 2580201 [Riendvil 214012, 20 .4, yd 2504 su1L U5 drj Uldlg sdd=L rndni [
8q ?

@) s was (B) dld4 Ada-it A Reuuey Aesl

(C) 25 v1ac RAuAL (Scythians) (D) HHUA AS ASHR

AL daril s Ao wr Aarnd- Slasiuui Yarlisn adls siavuy 8 8 uHaHi doudl Agld-d
(A5t wul gl ?

(A) wHdRis A€ ) SRRkt
(C) 1w (D) [Rea1r orulie

9.2, 102641 Hid vid YR [AHleL su1 020 g1RL sUME 20y 8 ?

(A) UHAL AU SRIEa (B) ulasiz eda-u [ ain
(€)1 azda elluga udan (D) 3 et Agopd Wl
G2 210 vid-u B A [Ruda ... GIRL AL YUY .

(A) @131 2us (Bhima Shah) @B) e s

(C) RN doun (D) HSIRWRU ™

.......... Al 951241 A g1L S udd- ganadl (96ll) 2ims avid ealadni 2udl 8.
@S (B) 2%l
(C) H81tcly4 (D) vogR1s1

naH dlels2 sumea xaa sulz-uaHl ag-d [@Qaun ulan HiBr2 2uop sa ¥ Hlgui 2uddl € ?
@) Rousi2 2 (B) gau audl 2dle:
(C) [Ana audl 4ile: (D) 2l wal-ua (e

A2l Wl s 4B YU A WA €9 ?

@) 422, Rewzu (B) cuetaRell W[2:, sl@diur
(C) 2acustL Hl[ez, G-z 2u0y (D) yavl {2, AYdur
B2 20y, A%RA AU ... 4, Alell Gly R 8.

(A) Renan udawo B)>racdl udaruon

(C) Wuneu-i Gamga (D) $IRASIRH, UddHu
gaausi-l dlgudl e Adl ........... Al 22l URd adcdl .

(A) 2y A B)-102 Al

(C) wa Al (D) aidu el
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033. As per rock inscriptions in the Girnar Hills, which emperor had extended his domain into Gujarat

in about 250 BC?
.Maurya Emperor Ashoka (B) Solanki dynasty king Sidh Raj Solanki
(C) Sakas or Scythians (D) Mughal Emperor Akbar

034. Which king’s reign of Solanki dynasty was known as golden period in the history of Gujarat
during which Gujarati culture flourished?

(A) Samantsinh Solanki .Mulraj Solanki
(C) Kumarpala (D) Sidhraj Jayasinh

035. The Sun temple at Modhera built in 1026 AD by which king?

(A) Karandev of Vaghela Dynasty (B) Mihira Bhoja of Pratihara dynasty

.Bhimdev I of Solanki dynasty (D) Chandragupta Maurya of Maurya dynasty
036. The Jain temples at Mount Abu were constructed by

(A) Bhima Shah @) Vimal Shah

(C) Vastapal Tejpal (D) Maharana Kumbha

037. Shaking of Mount Kailasha by Ravana has been depicted several times in the caves of
.Ellora (B) Ajanta
(C) Mahabalipuram (D) Khajuraho

038. A huge metal statue of the first Tirthankara, Rishabha Dev or Adinath is located in which Jain
temple in Mount Abu?

.Pittalhar Temple (B) Luna Vasahi Temple
(C) Vimal Vasahi Temple (D) Shri Parshvanatha Temple

039. In which of the temples Gopuram is found?

.Shiva Temple, Chidambaram (B) Bhabatarini Temple, Dakshineswar
(C) Dilwara Temple, Mount Abu (D) Golden Temple, Amritsar
040. Mount Abu is the highest peak in the of Rajasthan state.
(A) Vindhya Range .Aravalli Range
(C) Malwa Plateau (D) Karakoram Range

041. Delwara Temples architecture style is inspired by the
(A) Gopuram style .Nagara style
(C) Pala style (D) Vanga style
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042. WEL-THI 2004 HIER ucy Al WEl-TT Hi 2uua HIER 24 dru 24, As

wel-1 wel-11
1. duAd) i aus vun iR, sales
2. gladluq Al i, usLofay e, alRa-ug
3. -waR Adl jii. $31luL Hsiea Hl2R, wagRLsl, e
(A) 1 -iii, 2-ii, 3-i B) 1 -ii, 2-1i, 3 -iii
©)1-i, 2-ii, 3-iii D) 1-i, 2 -iii, 3-ii
043. [z Al 2R v ..., H e WAL €9,
@) las 2 (B) R A (C) Au Adl (D) Az A

044. R H[eR 2uucy (gl D U4 sy [ / su Q- wea © ?

L. 2-uHasiEl el Hizl s 2ugl g dradl 21 v [RRUIRS 2us12-1 21aR 41ad sladluq Hle:i
), 2R HlgAN Avumellui avn [Qeun 6.

IL 2R AL (2 15 2L 2121 9[61% UR Brrid SEIL-L AU drelivl 2R BUR 2R Sl .

@1 (B) Hiat 11
(C) T3 I tiA (D) GURisd WA 218yt 1l
045. dAd Hidud YAHER .......... A Ml 2uey 6.
(A) 2025 knucy A (B) AuRAl-Sau@s nuce Al
©)+2-2152 2ucu Al (D) WoR H[E2 22

046. Y23 22U 25 HUARs1UW EAGLE [ARum 2022 Aoildd DA 2udan o [Qaiql 2uqui al.
L d §Hlefl 2uauRd SHlure dlost uz ea1 €ls Hulerd d ad Hnda 2uan dlos-l & Avanit 7% Al ard

15% 42 9.
L d 309U 2R Sl dlost w2 291 els Haleln g2 53 8.
(A) HA T 1Y . (B) W T 1Y 8.
©)1 i 11 bin i 8. (D) I 2l I1 6iA vii2L 8.

047. Auet-2 d daietd A2 (A - U4l sy Q- Aca el ?
(A) d 200341 asiHi ApuHL AsRLL AUldA 5308 A3d s e 43 sAHE 20l dl.

(B) a [Amzu you Alld Ruidiil, Geidtl Aditl, [Ruamnsizl 20 uvaid Risaldel e 22l [Que
sl as yil ws 6.

@) 22uui Qsmaddl Nigsel w2 RRALRA 2B 5201 214 0182 ¢igin AsBd sl ds yd
ws o,
N\ Y RN

(D) A A%pAHL AMAd FellerRl A8 AlUs AR A WS AL 2 HH se-L Gelldlid WesiH Y3
RS
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042. Match I (style of temple architecture) with II (temple and location)

1. Vesara Style i. Lad Khan Temple, Karnataka

2. Dravidian Style ii. Mahabalipuram Temple, Tamil Nadu

3. Nagara Style iii. Kandariya Mahadev Temple, Khajuraho, MP
(A)1-iii, 2 -ii, 3 -1i B)1-ii,2-1i, 3 -iii
©1-i,2-ii,3-iii (D) 1-1i, 2 -iii, 3 - ii

043. Shikhara style of temple architecture is found in
.Dravida Style (B) Nagara Style
(C) Vesara style (D) Navaratna style

044. Which is/are correct regarding temple architecture in India?

I. Dravidian temples are much larger in comparison to Nagara temples with pyramid shaped
tower topped by a large round cushion like element called Anamalaka

II. Nagara style has a made up of layer upon layer of architectural elements culminating on a
dome on the top called a shikhara

@ only 1 (B) Only I
(C) Both 1 & 11 (D) None

045. The Sun Temple, Modhera in Gujarat is built in
(A) Gothic architecture style (B) Indo-Islamic architecture style
.Maru-Gurj ara architectural style (D) Nagara Temple Architecture

046. Consider the following two statements relating to the EAGLE Act of 2022 of United States of
America.

I. Itincreases the per-country cap on family-based immigrant visas from 7% of the total number
of such visas available that year to 15%

IL. It eliminates the per-country cap for employment-based immigrant visas.
(A) Only I is correct (B) Only II is correct
.Both I and IT are correct (D) Both I and II are wrong

047. Which is NOT true regarding Vibrant Gujarat Global Summit?
(A) Started in 2003 to rekindle the pace of investments in the state

(B) Provides opportunity to interact with key policy makers, industry leaders, regulators and
renowned academicians from all over the world

.Provides platform for inviting stakeholders and opportunity for raising public funding for
developmental projects in the state

(D) Provides platform for small and medium-sized enterprises (SMEs) to connect globally with
potential partners
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048.

049.

050.

051.

052.

053.

054.

D2l W 54 U G Al uam AR Glod >uaRd un & ?
(A) AosR1aril 43 PByecuni »udg Higt aun
B)oros21a-i udauen Precuni 2udg widat oun

(C) ARl M3 [Feauni »udg Hidl un

(D) -l 2ueie Pyecuni »udg Higw un

(Mo LiFE (g DA 05 5y / s Qe / Qi a8 2

1. 2021 UN 2uetisal wRad+ ulRug (2021 UN Climate Change Conference) vitd waHAlSl A3
Higll M- LiFE- qiven 530,

11 (M2l LiFE g WA 6 3 2uugll 20a3dl|i §2512 5304 yulaed yr@d s30 asu e,
T w222y s YRE, AsdirorR, sadlay, 9orud vid Mot LIFE-L W™ sul.
(A) HA T 244 1T 0 69, (B) oL TT 249 TIT 0 69,

(C) AL T A T 3 8. @) i 8.

Q1R At T988HI 521 221 A8 URHIYY AU A Y[AHI2AL BuRL gHALUR Wit 24500 52 UR $elaR
sul a1 ?

(A) USA (B) A+ ©) B (D) L2

URAML LRS uRHIY, Auis2-l FRumnsidl 214 Aamdl sl sa 2 198341 HIRA ABIR gIRL 58
Al 2uni sl 2udl 8dl ?

(A) =ysedluR waR sl M2 (NPCIL) B)121s 2ined 20y dedl vilS (AERB)
(C) uddrz 2iis 212135 iM% (DAE) (D) cucl 2i2ifls A A-2: (BARC)

Henry J. Hyde 2A[8[Aa4 2006 s [Guslla s s12 e Aoiltd © ?

(A) M1Rd-(2a RS UMY, USSR B) USA-#RA WRS vy, USsR
(C) MURA-AULL UAUR S URHIY, US 512 (D) AuRd-22[Aa1 RURS UMY, USSR

UN 1t Al (Rl urel Allon (2w sl s cidla agimtnd uRHIR-aRaA Ysd i
21[dus (A el HIR HsAA Wrrl Ul YUl Sdl ?

(A) FUSAA 183 (B) S it
(©) 14 i) (D) 2. 3. dpe

AR 1AL U 56 208 uR SeuaR sul e ?

(A) MUY, AR AA (yfsaur A-uidlgaq 8A) (NPT)
(B) ctus ulaw uldeit 2l (sislle-ila 222 sun &2l) (CTBT)
©)ifus udam ulaois AR (wellua 222 ouq 4) (PTBT)
(D) BuRisd U4 215 uaL )
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048.

049.

050.

051.

052.

053.

054.

Which is India’s first solar-powered village?

(A) Modhera village in Amreli district of Gujarat
.Modhera village in Mehsana district of Gujarat
(C) Modhera village in Bharuch district of Gujarat
(D) Modhera village in Anand district of Gujarat

Which is/are TRUE regarding Mission LiFE?

I. Atthe 2021 UN Climate Change Conference Prime Minister Narendra Modi announced Mission
LiFE

II. Mission LiFE believes that environment can be protected by making changes in our lifestyle.
II1. Prime Minister launched Mission LiFE at Statue of Unity in Ekta Nagar, Kevadia, Gujarat
(A) Only I and II are true (B) Only II and III are true

(C) Only I and III are true .All are true

India has signed the Agreement on the Prohibition of Attack against Nuclear Installations and
Facilities with which country in the year 1988?

(A) USA (B) China .Pakistan (D) Russia

Which body was set up by Government of India in 1983 to exercise regulatory and safety functions
of civil nuclear reactors in India?

(A) Nuclear Power Corporation of India Ltd (NPCIL)

.Atomic Energy Regulatory Board (AERB)

(C) Department of Atomic Energy (DAE)

(D) Bhabha Atomic Research Centre (BARC)

The Henry J. Hyde Act of 2006 relates to which bilateral cooperation?
(A) India-Russia civil nuclear cooperation

.USA-India civil nuclear cooperation

(C) India-Japan civil nuclear cooperation

(D) India-Australia civil nuclear cooperation

Which Indian Prime Minister had proposed an Action Plan for a Nuclear-Weapons-Free and Non-
violent World Order in the Third Special Session on Disarmament of the UN General Assembly?

(A) Jawaharlal Nehru (B) Indira Gandhi
(©)Rajiv Gandni (D) IK Gujral

India is a signatory to which of the following treaties?
(A) Nuclear Non-proliferation Treaty (NPT)

(B) Comprehensive Test Ban Treaty (CTBT)
.Partial Test Ban Treaty (PTBT)

(D) None of the above
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05S.

056.

057.

058.

059.

060.

MR g1e uHLg, [Resia yad o :

(A) Raadla yadu uHIY a4,

(B) U5 SR 51 ulAaAl UYL 08 [Dancs vigdl.
(C) Alus, a5l as dg 21 Br-cigcuayel uaHg, [R5
®)GuRisd axun

MR Y[5aUR sHL A (NCA)U A2l A4 56 e Aluani 20 9 ?
(A) 2uedls Qo [Qeuar (Bwén-e s x121dls 241%9) (DAE)

(B) QUM 2R 21l 22 (Cue 42148 U d-e’) (BARC)

(C) MRl -1

@)-22%5 (Agicus) §14 sH-s (SFC)

QR UNL s gl [Raiflse ua-l uRug (Conference on Disarmament (CD))Hi 8@; ég 5
IR 53 CTBTHL uatsi2 "l o1, ‘g4 -8, sy A’ ?

@)»zudl vl (B) R1agis2 At
(C) 2™ AW (D) alad i

Rl uHigy 2ol Alld 2091 5y [ / s [t ey 872

L QU US AL UMY, AL Gualol ] 52,

L QuRd [Bri-urg ¢RuR qRiadl 22l M ugy sfAuRiql Gualal 529 dl.
(A) HA T 013 8. (B) WL IT 1y 8.

©)1 247 11 viA i B. (D) T 241 T i vil2i .

A1 UL su1 510042 HIRd NPT Hlecuayel 6B ae ¢ ?
(A) w1 Feaaflse i ana A1 24 asiil asi ddl uldsiadidl Gedw 4.
(B) uRHIR, AL P-5 g2t [Agimlasi ol o 9.

-

(C) 1 A AN-y2uL) 1, 1967 USAL B 22 URHIY, AL [A512 5Ul Sdl, dHA UMY, AL YR
22l dZl3 1l Ad QT v .

®)Guiisd amn

@Rl waRs urHgy, Ylamia Ailds-yren yd wsal e 5§ Y A=Al gasier 8 ?
@24 S-sdlua 504 81 (CISF)

(B) S-3i-[dsien ol widla (ITBP)

(C) 18 A5 51 (BSF)

(D) A S-2clou 2ol (NIA)
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055. India’s Draft Nuclear Doctrine prescribes for:
(A) Credible minimum nuclear deterrence
(B) Punitive retaliation with nuclear weapons to inflict damage unacceptable to the aggressor

(C) Global, verifiable and non-discriminatory nuclear disarmament
.All of the above

056. Which body is entrusted to operationalize the directives of India’s Nuclear Command Authority
(NCA)?

(A) Department of Atomic Energy (DAE)

(B) Bhabha Atomic Research Centre (BARC)
(C) Indian Army

.Strategic Force Command (SFC)

057. Which Indian diplomat to the UN had forcefully told the Conference on Disarmament (CD) that
India would never become party to CTBT, “not now, not ever”.?

.Arundhati Ghose (B) Shiv Shankar Menon
(C) Shyam Saran (D) Lalit Mansingh

058. Which is/are correct regarding India’s Nuclear Weapons Policy?
I. India will not use nuclear weapons first.
II. India will not use nuclear weapons against non-nuclear weapon states.
(A) Only I is correct (B) Only II is correct
.Both I & II are correct (D) Both I & II are wrong

059. India considers NPT as a discriminatory treaty for which of the following reasons?
(A) No mention of time bound and verifiable commitment for nuclear disarmament
(B) Nuclear weapons have become prerogatives of the P-5 countries

(C) The treaty arbitrarily described the countries which had exploded nuclear weapons before
January 1, 1967 as Nuclear Weapon States

.All of the above

060. Which security agency is responsible for providing physical security to India’s civilian nuclear
facilities?

.Central Industrial Security Force (CISF)
(B) Indo-Tibetan Border Police (ITBP)

(C) Border Security Force (BSF)

(D) National Intelligence Agency (NIA)
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061.

062.

063.

064.

06S.

066.

Bra-[Aaadl cudlal (Non-Resident Indians) (NRIs)) A HRAlY Hu-L Sl (Persons of Indian
Origin) (P10s) (Mloud2il) a2a DA-unidl sl Yo dsiad € ?

(A) NRIs 2 iRdla daosl 8 34l [eani AiRsa Ha 8, sui PIOs 2 (ikdl walkst © o
212 3U [deami 28 8.

@BINRIs i [Q2ani 28l (U1 ARS8, FuR PIOs A ¢udld daosl 8 gl [Q2ami uaRsa
HNY 69,
(C) NRIs 21 PIOs i tidlu w25 2l uid s2aus PIOs A eladl R sdl 2aruaiHi »ud 6.

=\ N\ oY

(D) 4R NRIs MRAHL 420l HI HAgl 530 Asdl ell, PIOs % d2il GURdAHI 3013 8193 SId dl d¥il dH-il
H 20l a5 6.

-\

4231 o{a1Rella YHUIRL (1976) IR HIRAAL GIHIRRLAL 2UHMHI $ULUE (UEL) GHRA sAUHT 2udl 8 ?
L oadelid  IL wuael 1L Beaival@s 1. daiswdl

(A) AT AA TV (B) WA 11

(C) WA I @) 1121 1

2l WA 53 @giRl fuRd AsA%BY 21 AHR51 ABAYU GIHHT MU € ?
(A) 15 % WURs

(B) bituReimi AR YR Gedu

(C) vlag ~uudA

@))oinzer vielueq sa w2 una) uala =E1Ed

MRAlA s{aRRHE M 2E51R1 (A9 DA UL 53 aea 9 ?
(A) sitnRt- G I M uxfae san 54l 30

(B) tian@ueL 101 TV Hi qufare sau 10 4l 35
@iz cuo I Hi wwilde san 12 4 35

(D) sitRt- (L IV | qHlae saw 12 4] 35

g2017 @l axH ouotdiA 2140 Ad ud uR Adl ASA, 21 v uR 2uaRd 512615 xe14dl (Family
Courts) 2A[RUN s Qui a3aiml 2 gdl ?

@) 1984 (B) 1985

(C) 1986 (D) 1987

A=y <L, 199241 A4S e dadls Andla WSl 2l 220u-L suL dqidll sami »udl ?

(A) el w2 vitnelly 21 sl yrauuidl udlan 524

(B) Uldsizs stue1fly wadi-l M sl

(C) sRugin Rl ylaw uuan 214 Higaviid qadl arun Al 2100 a5 A 2uuaL.
®)GuRisd axun
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061.

062.

063.

064.

06S.

066.

Which among the following is the major difference between Non-Resident Indians (NRIs) and
Persons of Indian Origin (P1Os)?

(A) NRIs are Indian descendants who have acquired citizenship in foreign countries, whereas
PIOs are Indian citizens reside abroad temporarily.

.NRIs are citizens of India residing abroad, whereas PIOs are Indian descendants who have
acquired citizenship in foreign countries.

(C) Both NRIs and PIOs are not Indian citizens but some PIOs are given dual citizenship.

(D) While NRIs cannot vote in elections in India, PIOs can cast their vote if they are physically
present in India.

The 4274 Constitution Amendment (1976) added which of the term(s) to the Preamble of the Indian
Constitution?

I. Sovereign II. Socialist III. Secular IV. Democratic
(A) I & IV only (B) II only
(C) I1I only @11 & 111 only

Which one of the following is a common feature to both the Indian Federation and the American
Federation?

(A) Single citizenship

(B) Three lists in the constitution

(C) Dual judiciary

.A federal supreme court to interpret the constitution

Which is correct regarding Fundamental Rights in Indian Constitution?
(A) Article 5 to 30 contained in Part I1I of the Constitution

(B) Article 10 to 35 contained in Part IV of the Constitution

.Article 12 to 35 contained in Part I1I of the Constitution

(D) Article 12 to 35 contained in Part IV of the Constitution

The Family Courts Act, based on the idea that all matters concerning the family should be dealt
with separately, was enacted in which year?

@)1984 (B) 1985
(C) 1986 (D) 1987

The National Commission for Women was set up as statutory body in January, 1992 to:
(A) Review the constitutional and legal safeguards for women
(B) Recommend remedial legislative measures

(C) Facilitate redressal of grievances and advise the Government on all policy matters affecting
women

.All of the above
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067.

068.

069.

070.

071.

072.

AU agHAl 2A[A[RUH, 1992 8501 S5 AUSIR GIRA RAUUAUHT 2UAA ALY QgHAL 20U GIRL YAAAUH]
2094 9 agidl aufis uygil s e ?

(A) YRaw, [B2d), sllw, olied, WAl 244 (R
(B) y[Rau, [Bizdl, 2w, vlien, R 214 o101
(C) YRM, [B12d), ollv, ()], g1 214 ugel
@)1 Run, Brad), dlim, olled, Wil 244 -

RURAL AUld w1 HoAlHIN QAL nadH Aoibld A 56 AduS 2l gt [Run- sami »ud © ?
(A) 423 oirielly YRy xR RuR
)44 vituellu i AR
(C) 48+ vitellu YRy 2AAMRuH
(D) 543 eirnelly YRl x1ARuH

H12, 200741 AWAA A U 2A[ASIR U8R 212101 (The National Commission for Protection of
Child Rights) (NCPCR) s a4 9l al5daiiq suns als yRlad 52 6 ?

(A)0-10ad B)1-12ad
(©1-14a @)o - 18 0

A2 WA s 22, BRICSHI qHlae €9 ?

(A) stidaiedl, A, tuRd, Al 214 st
B3, 2, *urd, Do 214 el 2035

(C) tleau, dHIl, S-St 3431 2 RonyR

(D) YA, a3l Sed), Ael 241 Yeir

D2unioll Hudla sitredl 58 san tRUeA sirRaME YHIRL sl At 200 6 ?
@) san 368 (B) 544 365
(C) 544 362 (D) 544 361

D WA 5y [Asun / s Qs aea 69 ?

L o3y 21 51912 Yrolsdt [Bia, 2019 20 9 SRAUNE 20 8.

IL %+ 21 519412 Yrdlert [Bra gL g (e Qg Sweulaa nea oy,
(A) A T 013 89, (B) WL IT 1y 8.

©)1 217 116l i B, (D) T 247 11 644 vil2i 9.
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067.

068.

069.

070.

071.

072.

Which are the six minority religious communities notified by the National Commission for
Minorities (NCM) set up by the Union Government under the National Commission for Minorities
Act, 1992?

(A) Muslims, Christians, Sikhs, Buddhists, Zoroastrians and Sindhis
(B) Muslims, Christians, Sikhs, Buddhists, Sindhis and Bahais

(C) Muslims, Christians, Sikhs, Sindhis, Bahais and Judaism
.Muslims, Christians, Sikhs, Buddhists, Zoroastrians and Jains

The present relationship between the President of India and the Council of Ministers is governed
by the provisions of:

(A) 42M Constitutional Amendment Act
.44th Constitutional Amendment Act
(C) 48th Constitutional Amendment Act
(D) 54th Constitutional Amendment Act

The National Commission for Protection of Child Rights (NCPCR) set up in March, 2007 defines
Child as a person in the age group of:

(A) 0-10 years (B) 1-12 years
(C) 1-14 years .0 to 18 years

Which of the following countries are part of BRICS?
(A) Bangladesh, Russia, India, China, Sri Lanka
.Brazil, Russia, India, China, South Africa

(C) Belgium, Romania, Indonesia, Canada, Singapore

(D) Brunei, Rwanda, Italy, Chile, Sudan

Which among the following Articles of the Indian Constitution bestows power on the legislature to
amend the Constitution?

@Article 368 (B) Article 365
(C) Article 362 (D) Article 361

Which statement(s) is/are correct?
I. The Jammu and Kashmir Reorganisation Bill, 2019 was introduced in Rajya Sabha.

II. Jammu and Kashmir Reorganization Bill made the Union Territory of Ladakh without a

legislature.
(A) Only I is correct (B) Only II is correct
.Both I and IT are correct (D) Both I and II are wrong
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073. *Rarl oitRadl uiadl A4yR viddld sidual dad UgARA [Rar’ 445 allid s Hugs,
s e ?

L 2ulRold axdlg adza

| CERTER | ROET) (compactness) A quegofl (reasonable) $¢

1. [¥ean, sals viad digst Bdl aau adladl A

IV. ugianil [QzeiRiAl avumelui [@Qediz-0 2uls usiad

(A) WA T 24 TV (B) 1 1T 244 I11

(C) HA L, 1 %44 I @) s i 8.

074. a1 A22uld 2182 Vidold 6iRRM sau 35A UM 2ud)l 8dl ?
(A) 22uld 2ue2 1950 (B) 1xzuld 2ug 1952

©)=2uld 2ua 1954 (D) 202uld 2u82 1956

075.  QURALA itRRM uHlAR Yed 590 6©:
(A) A% YR s:A%¥Ald (B) U2 UR s(%¥Uld

©)1oR51 vz s (D) ~uad= uR A%

076. WEL-THI 20Ul sQHIA AEL-TTHE 20Ul FRUS AL 08 A3

wel-1 el

1. 544 48A i RURSLAA L A

2. 544 49 i, valazerd A8 24 yarew

3. 54450 i, 2tid2ndlu Aild 214 Yreu-l gl
4. 544 51 iv. 51R60AH udAdl 21401 59

@)1 -ii, 2-i, 3-iv, 4-iii
B) 1-i, 2 -iii, 3-iv, 4-ii
(C) 1 -iii, 2-iv, 3-i, 4-ii
(D) 1 -iv, 2 -ii, 3-iii, 4-i
077. GURAN 6{HIRRIAL U HP9eul ealauni 2ue © 5 neldioru 53 R, Y 512 xnaa i siéu
o ad- {91 e 2l 530 wsdl 6l ?
@)san 121 214 211 (B) 544 122 ¥4 212

(C) 544 123 211 213 (D) 544 124 241 214
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073. What are the criteria for declaring any area as a “Scheduled Area” under the Fifth Schedule of the

Indian Constitution?

I. Preponderance of tribal population

II. Compactness and reasonable size of the area

III. A viable administrative entity such as a district, Block or Taluk

IV. Economic backwardness of the area as compared to the neighbouring areas

(A) Only I and IV (B) Only II and IIT

(C) Only L, IT and 111 @)All are correct

074. Article 35A was added to the Constitution by which Presidential Order?
(A) Presidential Order 1950 (B) Presidential Order 1952

@) presidential Order 1954 (D) Presidential Order 1956

075. Fundamental duties enshrined in the Indian Constitution are:
(A) Obligatory on the State (B) Obligatory on the government

.Obligatory on citizens (D) Obligatory on the judiciary

076. Match I (Articles) with II (Provisions)

I 11

1. Article 48A i. Protection of monuments and places

2. Article 49 ii. Protection and improvement of environment

3. Article 50 iii. Promotion of international peace and security
4. Article 51 iv. Separation of judiciary from executive
.1-ii,2-i,3-iv,4-iii B)1-1i,2-iii, 3 -iv, 4 -ii
O)1-iii, 2-iv,3 -1, 4 -1ii M) 1-iv, 2 -ii, 3 -iii, 4 - i

077. Which Articles of the Constitution of India enumerate that the legislature cannot discuss the

conduct of a judge of the Supreme Court or High Court, except in case of impeachment?
@)Articles 121 and 211 (B) Articles 122 and 212

(C) Articles 123 and 213 (D) Articles 124 and 214
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078.

079.

080.

081.

082.

083.

084.

QUEL-THE 20Ul saHIA AEL-TTHE 20U S 24l 218 AsL.

a1 a1

1. 544 262 i dR-A% ALl 2R QL [Aeugi-l ysiel

2. 544 280 i, L 2uaiL

3. 544 300A jii. [Rasa-l 2=f85R

4. 544 315 iv. 28R Adl 2L

(A) 1 -iv, 2 -iii, 3-ii, 4-i @1-i, 2-ii, 3-iii, 4-iv
(C) 1-ii, 2-iii, 3-iv, 4-i (D) 1 -iii, 2-iv, 3-ii, 4-i

MURAL R ML 1AL WA sl yeyd g5 -l ?
(A) HEURL Y5 sl ARS5R @B)>usa-i (Shelter)l 21512
(C) stidl uein (D) Rl 21[852

Aog-lla- woleels [Rueaidl Qe Da-u W8 sy (a7 san [Qal aea 4l ?
@) v1e1ad g1 HaHi Hhl as 8.

(B) i | YRl 4eid i 40i(8d 1, i Yol A8 [Reaidi-n Amdlse 1S - yneyd R sR1E
YRl sA A3 9.

(C) d sl A% v auilae 52 6.
(D) HNRd S5IL YRS 6.

AL QAL [Qaigi-u [Ausw 22 cudHl sitRaddl 58 sau, aud- nguld- sidiod uRug-l
2L sl AL 209 8 ?

(A) 260 (B) 261 (C) 262 ®):263

SLAHE MIRA, sUL 3ANUA 22 A1 Yo R Aol (5l 23 2iallH-2) (FTA) -l cuerenel 530 8 69 ?
@)u-152s Bosw (B) Az
(C) 3l (D) -l

i PaY

15-16 AR2361R 2022 £33 WS S12A1u3A 2WUSIAA (SCO) 224 WS Qv AN ...
vild Aoy 8.

(A) 65921, A (B) Hisl, L

©)uuzse, GaoilBran (D) AoL8Ls, WSA3

2023 [Bi-osianel anan (Qw: AHa (The 2023 Non-Aligned Movement Summit)d 2%HIA

.......... 019l
Aot (B) WlEecirt
(C) sx (D) [Brousd

[BEG-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


078.

079.

080.

081.

082.

083.

084.

Match I (Articles) with II (Provisions)

List-1 List - 11

1. Article 262 i. Adjudication of disputes relating to waters of inter-State rivers
2. Article 280 ii. Finance Commission

3. Article 300A iii. Right to property

4. Article 315 iv. Public Service Commission

(A)1-iv, 2 -iii, 3-ii,4-1i .1-i,2-ii,3-iii,4-iv

O)1-ii, 2 -iii, 3-iv, 4 - i D) 1-iii, 2 -iv, 3 -1ii, 4 -1

Which is NOT a Fundamental Right in Indian Constitution?
(A) Right to pollution-free air .Right to shelter
(C) Legal aid (D) Right to education

Which is/are NOT correct regarding the Directive Principles of State Policy?
.Can be enforceable by any court

(B) Parliament can amend fundamental rights for implementing the Directives so long as the
amendment does not touch the basic features

(C) They embody the concept of a welfare state
(D) They supplement fundamental rights

Which Article of the Indian Constitution gives powers to the President of India to set up an
Inter-State Council for resolution of disputes between states?

(A) 260 (B) 261

(C) 262 ®):263

With which European country India is currently negotiating for Free Trade Agreement (FTA)?
.United Kingdom (B) Mexico

(C) France (D) Germany

The 22nd annual summit of the Shanghai Cooperation Organisation (SCO) was held during
15-16 September 2022 in

(A) Beijing, China (B) Moscow, Russia
.Samarkand, Uzbekistan (D) Bangkok, Thailand

The 2023 Non-Aligned Movement Summit will be hosted by
.Uganda (B) Pakistan
(C) Zambia (D) Zimbabwe
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08s.

086.

087.

088.

089.

090.

-\
.

G20 (AR AHA, a2 d-L 22 Uiy Lld Al

al A1
1. 2021 i. dadl
2. 2022 i, S-sinfiu
3. 2023 jiii. ®URd
4. 2024 iv. eulda
@)1 -i, 2-ii, 3-iii, 4-iv (B) 1 -ii, 2 -iii, 3-iv, 4-i
(C) 1 -iii, 2-iv, 3-ii, 4-i (D) 1-iv, 2 -iii, 3-1i, 4-ii

gL Yaudl A% Arenslia denl@d s 8gell vitrr (733 yaiRl) AlRMRUH 1992 xR,
Yaadidl d2efllalg Aaia- st s 69 ?

(A) MRdg desllua  (B) ey 22ell ya O alzadldn (D) %wu AR

AU AE2AAL 24HAl50 HIS AAE AHA HIRAAL S S19URL UL W2 SIS suel studl A3 6
(A) dxtd qpi-L quldefl

(B) Hi2weuRt- uesai-l iuld e

(C) % d Aol uld e

@) 515w %u A [

oAl ALSAMIAU A8 2 Gureaisl oot viudll Sy, dl Al 529 511 tiomasl ?
(A) MRA Guruld

(B) GURerL Yuu =pay(d

(C) AAEI ouoidi-u -l

@)1 A ue 3 Fu-dl Rnggs 02uld 52

I S, dl HIRAL adaAA sael SReiuRelA 6 dd alltid sau-l un 8.
@) sraert vitral siSua Aaas Gecan s34 glaug sgua.

(B) 514EL 227U Yl [t (conscience)d Bedaq sl glard sua.

(C) stagl eguldn [QgmulBsiRyg Geclan sl Slard, e,

(D) Buisd U4 215 v )

AU AR G121 AY&1E UFiALL B2 W2 auRudl Al - 208 sUL S ?
(A) AN Rwtinfl (Federal Diplomacy)

(B) titnelly [3wtinzil (Constituent Diplomacy)

.QQ[RLC-QHQQ (Paradiplomacy)

(D) Hal3wind]l (Metadiplomacy)
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08s.

086.

087.

088.

089.

090.

Correctly arrange the years of G20 Summits and the Country.

Year Country

1. 2021 i. Italy

2.2022 ii. Indonesia

3.2023 iii. India

4.2024 iv. Brazil

.1-i,2-ii,3-iii,4-iv B) 1 -ii, 2 -iii, 3 -iv, 4 -1i
O)1-iii, 2 -iv, 3 -ii, 4 -1 M) 1-iv, 2 -iii,3-1i, 4 -ii

Who conducts all Panchayat elections as per the Constitution (Seventy-Third Amendment) Act
1992, which aims at promoting the Panchayati Raj Institutions in the country?

(A) Election Commission of India (B) State Election Commission

.District Administration (D) State Government

The Parliament can make any law for whole or any part of India for implementing international
treaties:

(A) With the consent of all the States
(B) With the consent of the majority of States
(C) With the consent of the States concerned
.Without the consent of any State

Who will perform the duties of the office if the posts of Speaker and Deputy Speaker of Lok Sabha
are vacant?

(A) Vice President of India

(B) Chief Justice of India

(C) Parliamentary Affairs Minister

.Such member of the House as the President may appoint

The Indian judiciary has power to declare a law unconstitutional, if
.the law is found to have contravened any provision of the Constitution
(B) the law is found to be contravening the basic conscience of the nation
(C) the law is found to be contravening the prerogatives of the President

(D) none of the above

Which is the most common term used for the conduct of diplomatic activities by State Governments?
(A) Federal Diplomacy (B) Constituent Diplomacy
.Paradiplomacy (D) Metadiplomacy
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091.

092.

093.

094.

09s.

096.

~ b

IR siERRL MM Uls Al GuRAAL ARURS $2, Bl dAA2 GURATL USAHT I A ...
(A) % HIRd USAHL =1L ¢4l
(B) drll Hidl/Rdrmiol SISl %1 Gud NS AHE QUL Si.

(C) B2l AL (bitneL) i MIeel AZ2AAA el USAL Ui avell 2oL A Slu d2dl UMY WIS MIRAxL
gAML Rl Ad 8 6,

®)GuRisd axun

cuRdrl [dgell AuRs adls Aldd alsail .....

(A) %A A2l WlZcint 214 ARAIZAHE 8L 1A dl UL A2l siadl AR SdL HI2 WA 69,
(B) Het uct-ll 2512 9 uig AudHi 42ell asau-l «dl.

(C) A HIRAHI 3613 S1%R SIA dl MRAHL HAgL 5] (A uall zuuawi 2udl 8.
@) cuRani 1 2uual 3 Garaql EsR .

MURAML t{HIRRIL $UH 79 VUFAR HE .......... A oidl 8.
(A) ALSAGL A AFAAUML

(B) AlsUML, ApAAML 211 [Aaae

©)rrzuld, disucu 2 AU

(D) Guarrzuld, dlsu™L 24 ABAAML

$9 Rudag un ‘csin’ did 214 A2 56 oL Al wlaREa 52 82
(A) AdRell 24 R (Baitarani and Miass)

(B) aasuell i HIRSL (Brahmani and Moscow)

.@tﬁlgﬂl i Hivsal (Brahmaputra and Moskva)

(D) tidal 2A+ & (Betwa and Moksha)

“Common but Differentiated Responsibilities” (CBDR) A5 RAglAD % ... -l United Nations
Framework Convention on Climate Change (UNFCCC)¥i 2AMAURS $cuHi 2l Sl

(A) L2 Wdisla, 1997 @)Rul Q) ARy, 1992

(C) slungals, 2009 (D) Wl 513, 2015

RURAML GIHIRRIHE ML TV A Hi Bedut 534 HNGYd 520 [del Nl WA 53 [t / sun [Qsn-l a9 ?
L H0odd 59 =naa 2uea (Re) gia @y 530 astdl .

L d o{Relly ueald gL i 5390 asu 8.

IIL 5% wan $24 WolRSL 2 s 8.

(A) A TA1Y 8. (B) HuA T 244 1T 0 9.

(C) WsL TT 1 . @) i B,
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091.

092.

093.

094.

095.

096.

At the commencement of the Constitution of India, every person shall be a citizen of India who has
his domicile in the territory of India and

(A) who was born in the territory of India.
(B) either of whose parents was born in the territory of India.

(C) who has been ordinarily resident in the territory of India for not less than five years immediately
preceding such commencement.

.all of the above

Persons registered as Overseas Citizens of India

(A) Are eligible for dual citizenship even if they reside in Pakistan and Bangladesh -
(B) Have right to vote but not to contest elections in India

(C) Have been granted special permission to vote in India if physically present in India

.Have no right to vote or get elected in India

As per Article 79 of the Indian Constitution, the Parliament consists of:
(A) The Lok Sabha and Rajya Sabha

(B) The Lok Sabha, Rajya Sabha, and Vidhan Sabha

.The President, Lok Sabha and Rajya Sabha

(D) The Vice-President, Lok Sabha and Rajya Sabha

The name of cruise missile ‘BrahMos’ represents which two rivers of India and Russia ?
(A) Baitarani and Miass

(B) Brahmani and Moscow

.Brahmaputra and Moskva

(D) Betwa and Moksha

“Common but Differentiated Responsibilities” (CBDR) is a principle that was formalized in the
United Nations Framework Convention on Climate Change (UNFCCC) of

(A) Kyoto Protocol, 1997 .Rio de Janeiro, 1992
(C) Copenhagen, 2009 (D) Paris Agreement, 2015

Which of the following is/are correct regarding Fundamental Duties in Part IV A of the Indian
Constitution?

I. Fundamental Duties cannot be enforced by writs

II. They can be promoted only by constitutional methods

II1. Duties are obligatory on citizens

(A) Only I is correct (B) Only I and II are correct
(C) Only II is correct .All are correct
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097.

098.

099.

100.

101.

102.

dugla wouell-l A5140 SI “Primus Inter Pares’ (1AL 923 UAH) dARAUHL 2Ud € ?

@) 2isn-u A (B) HAAL Hsn ypu ugA
(C) HAL {3t A (D) HAL H3n-u Guuymd
IR iRl $E4H 50 .......... -l Gedu 53 69,

(A) Wl 244 PAldsifAs He il 2HIREL 2A argAld 8 54,
(B) UALARELAL 28R A JHIREW HIL,
(C) eunual-l Aeun Yl wsal we.

@) ~uadaA sRieuld waol s2a.

M YAd- ARl Rugs sia 52 €9 ?
(A) AH YAAT AHIH AL B) u2512

(C) 42l slha-: (D) A

2144 ol Al 2uaion Aeeini - U4 sy [/ sun Q- a8 ?
L doiarelly de .

L d-iL uedil Al 2Rl ¢Hid- ar2uld gl 58l saui 2ud 8.

I 2001 204l §Ru aye He oiella 214 2 sl reud @ddl dun ousididl aw

sal ©.
(A Al (B) H1A IT
(C) HA T2 I @) v i B,

[yecn uRne g 6 ?
(A) Pyecan ~uud= (B) dHIH Y14l a3l

(©) e sau-l W (D) A URNE- AL AdL

A0 U 5y [Qanq / s Q- aca 69 ?

L 5622 202040, MR-l Al HEIAA AR 5 AU 3L SC 241 ST AR 61edlHT SUHA 20Ul

CEDICEDIR
I1. o2l 2-iMdrl gldl 24 Yued 85 -l
IIL Yot 4812 SC / ST sHALN2AUA tladlHi -itMd s21aal 2idi-L 2usl ol sul 6.
(A) HA (1) 0 9. (B) oL (IT) A1 9.
©) ) a2 (1) o1 8. (D) {12 (1) 24 (I11) 2L 69,
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097.

098.

099.

100.

101.

102.

Who is considered as the ‘Primus Inter Pares’ (first among equals) in a parliamentary form of

government?
.Leader of the Cabinet (B) Chief Member of the Cabinet
(C) President of the Cabinet (D) Vice President of the Cabinet

Article 50 of the Indian Constitution mentions

(A) To protect monuments and objects of ancient and historical importance
(B) To protect and improve the environment

(C) To provide early childhood care

.To separate the judiciary from the executive

Who appoints the Secretary of Gram Panchayat?
(A) All members of Gram Panchayat .Government

(C) Election Commissioner (D) Sarpanch

With reference to the National Commission for Scheduled Castes, which of the following statements
is/are correct?

I. Itis a constitutional body.
II. The conditions of service of its members are determined by the President of India.

III. The Commission has to investigate all matters relating to the constitutional and other legal
safeguards for the Anglo-Indian community.

(A) I only (B) II only

(C) I and II only .All are correct

What is Zilla Parishad?

(A) District Judiciary (B) Head of all Panchayats
.District level Panchayat (D) Head of all Councillors

Which is/are correct among the following?

I. In February 2020, the Supreme Court of India stated that State is not obligated to provide
reservation in promotions to members of SC and ST.

II. Claim of reservation in promotions is not a Fundamental Right.

III. The Punjab government has issued orders to remove reservation in promotions for SC/ST

employees
(A) Only I is correct (B) Only II is correct
.Only I and IT are correct (D) Only I and III are correct
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103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

YW 544 esld (Pushpa Kamal Dahal) ‘W438" diggdui sul 22t sl a3 e e ?

(A) Hagla
(C) Aeist

12 2udlun 2023 sud HIRA 214

(B) S-sidfi
®)rua

.......... a2l uaH [guslly sl saud 9.

(A) USA @)

(C) 3131 (D) 2l

cuRdlY Hoe AAdl dl2Al 42352 (Leo Varadkar) A% dRMi .......... A uAHAL 415 Yy e 9.
(A) UK (B) Awn

(C) SR @) nud-s

sl 291 2023 U8l FIFA acssysl aarmi e ed ?

(A) culda B2 [ 247 4 AA-
(C) v (D) 2u% 4l

2isal vilalus w2 saildsia s uau cudla ulRa S+ s 89?

(A) slaar edl (B) e edl

©)craudl 2l (D) silas edlst

Sl FIFA 2022 ugl su1 uvld 5264 vadlat (Raltil osud <0 ?
.Lionel Messi (B) Cristiano Ronaldo
(C) Xavi (D) Andres Iniesta

FIFA 4¢S $4 202241 517
(A) aulpa
(C) 3-$

A4 82l AH s151ani ua sul.
(B) A3 (Chad)

@)Soa-s

cuRdla 2iA[FLS Aos1L Al UaAH HSAL uyw sl 97

AL 4l Ry
(C) ¥ s5iu

@M. 4. G
(D) AL Asad

Add WiA FIFA 4554 4R Al MAH ulsd 5101 o) 69 ?

.Cristiano Ronaldo
(C) Lionel Messi

(B) Neymar
(D) Antony

Sl A6$5U 20220 ATUAUR HAUSL2 (Mascot) 4 UH 9 €9 ?

.La’eeb

(C) Striker

(B) Phuleko
(D) Zakumi
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103. Pushpa Kamal Dahal ‘Prachanda’ was recently elected as the Prime Minister of which country?
(A) Maldives (B) Indonesia
(C) Sri Lanka .Nepal

104. Veer Guardian 2023 Exercise is a maiden bilateral air exercise between India and

(A) USA .J apan
(C) Canada (D) Australia
105. Leo Varadkar, the Indian-origin leader, has been recently re-elected as Prime Minister of ?
(A) UK (B) Nepal -
(C) Indonesia .Ireland

106. Which country will host the 2023 Women’s FIFA World Cup?
(A) Brazil @)Australia & New Zealand
(C) Japan (D) Argentina

107. Who is the first Indian woman fencer to qualify for Tokyo Olympics?
(A) Kavitha Devi (B) Daina Devi
(€ Bhavani Devi (D) Kaushik Devika

108. Which famous football player announced retirement after Qatar FIFA 2022?

.Lionel Messi (B) Cristiano Ronaldo
(C) Xavi (D) Andres Iniesta
109. In FIFA World Cup 2022, France defeated to move into the semi-finals.
(A) Brazil (B) Chad
(C) Denmark .England

110. Who is the first woman president of the Indian Olympic Association?
(A) P. V. Sindhu @)P. T. Usha
(C) Mary Kom (D) Saina Nehwal

111. Who has become the first man to have played five consecutive FIFA World Cups?
.Cristiano Ronaldo (B) Neymar
(C) Lionel Messi (D) Antony

112. Identify the name of the official mascot of Qatar World Cup 2022?
@)La>ceb (B) Phuleko
(C) Striker (D) Zakumi

[BEG-1] rro. E3



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


113.

114.

115.

116.

117.

118.

119.

NG

512 vild FIFA a¢$su 20220 Bgauen siisHul MiRdd WaRfc st sy ed ?
@)sudlu vz (B) -13-% €l

(C) Ax-ua R (D) A[Ad e

2024 WRu lalus wasie (Mascot) d<l3 -l uigofl ad & ?

(A) Aubie the Tiger (B) Sebastian

.Phrygian Cap (D) Bucky Badger

2021-22 €% MIRd UNSCUL 2Rl ug adls .......... Hed WE Aal 2l 8.
(A) 68l B) 740l

(©) 8l )9+

auRd-l ‘Look East’ Al .......... Ui 2433 (Gl saul) scumi 2udl .
@)Act East Policy (B) Mission East Policy

(C) Concur East Policy (D) Go East Policy
Sesiullzs YR .......... gl 9.

(A) HIRd x4 R3S

@) (Se e1uorR 2 WAl S He1oR
(C) MURAlY AL 244 US Wale s smu-s

(D) *udly Guvis A4 WRE s &

.......... A ARLELH Al Qal €2 ad 9 Ay duRll cudla [Ban adls Gyaqmi »ud ©.

(A) MR- [Asiaul cudlu Ao Y402 [Agdiil
B)eura-u [Qsiuni (@2l (urdla ayewr
(C) MuRd- [Asinui cudlu uiglo nysr

(D) MR- [Asiuui [Azell cudlu wda ayen

2UURAA 90U ... HIG A3 SN 20,
@)z niedl cudla waRsi-u @anid
(B) N uRag w2 sou-l us1S

(C) Wl ARt Sul-iL YA

(D) Buisd U4 215 v )
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113.

114.

115.

116.

117.

118.

119.

Who represented India at the inaugural function of FIFA World Cup 2022 in Qatar?
.Jagdeep Dhankhar (B) Narendra Modi
(C) Rajnath Singh (D) Amit Shah

Which has been selected as the Mascot for the 2024 Paris Olympics?

(A) Aubie the Tiger (B) Sebastian

.Phrygian Cap (D) Bucky Badger

India has served its term as non-permanent member of UNSC during 2021-22.
(A) 6th (B) 7th

(C) 8t .9th

India’s ‘Look East’ policy has been upgraded to
@)Act East Policy (B) Mission East Policy

(C) Concur East Policy (D) Go East Policy

The ‘Indo-Pacific’ connotation denotes

(A) India and Pacific

.Indian Ocean and Pacific Ocean

(C) Indian Navy and US Pacific Command

(D) Indian Sub-continent and Pacific Region

Pravasi Bharatiya Divas is celebrated on 9t January every year to mark the contribution

of

(A) Indian Nobel laureates in the development of India
.Overseas Indian community in the development of India
(C) Indian Portuguese community in the development of India

(D) Overseas Indian Women community in the development of India

The Operation Ganga was launched for
.Evacuation of Indian nationals from Ukraine
(B) Cleaning of River Ganga for navigation

(C) Rehabilitation of Cows in rural areas

(D) None of the above
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120. P19 (Glasgow) [1v12 WRNEHT asat 3% HIElA YAy d dl5 casd 53¢l rnany ulRad- aieienel
W2 Rl Wldstgat Aeeiui i W s [Qau i ?

L R 2030 YR Al Bit-2408401d Glogt anani 500 GW Yl usi=il s,

1L &URd 2030 YL d-l Qo 50% s 3<luidl Y Glod ld (renewable energy)Hid yel 529l
TI1. MR 2030 YL -l 248 cuqenul siei una audla 45% ol 21 s29l.

IV. uRd 2070 YHlHi 42 AU (Net Zero) dguis sind sl

(A) "1 (1) 24 (II1) 0L 69, (B) {2 (1), (II1) 244 (IV) 2L 89,
(C) At (ID), (I11) AL (IV) A1 6. @) run 2 8.
121. Indo-US 2 +2 ¥l daug-i Ggat .......... 6.

@) cua-U5 5 Ani 20289 21 YA ALiHl 2 YSles AesIRA oL 2l
(B) 611 220l 422 U5 2 crrd) A 512 421 2ual.

(C) 5121 A i GUAS NAURIAU AARL AYsd (il arndl,

(D) WAURS U Blod U512 1 A A YRASIA 20 quLaal,

122. The Quadrilateral Security Dialogue (QUAD) $l gl a2 xRS SIMICERTCTES 97

@022 [, cnd, ot 2 USA (B) 222 [, efEw siRu, i 214 USA
(C) 202 [aun, wilEdiq, i 211 USA (D) 22 (&1, wilEdiq, A 214 USA
123. AUKUS 443 UWH .......... 8.
@)iz2(qu, UK, US (B) i22[du, UAE, $idluy, US
(C) 2[da, UAE, $315d17, US (D) g (aun, yoursy, Aeudl, US

124. S13HIRA% 52 (Dommaraju Gukesh) 56 Hd A1 Astndan ¢ ?

) B3e B
(C) tisHlve-t (D) 18l
125. s Qi Gudr cud [ 8- arn 2ulls iR .......... sl 2ud 69,
(A) AU 2igart B)usavu zigan
(C) Q22 2R vig, (Account) (D) (a2l [AlRna 2-una

126. A d, vier [B2ie1 5oual Uel 530 a5 8, uid d 2iga s asu s, 4 .........
(A) A1 2] AEER HIDL AYRUTRHL HEER YRASIHI AHIR 53,
(B) AHIH A5 WA Al sa uR ysasll adls salaqumi 2ud.
(C) WAL A5€R HidLall
®)GuRisd axun
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120. Which are correct regarding India’s commitment to climate change negotiations as expressed by

121.

122.

123.

124.

125.

126.

Prime Minister Narendra Modi as ‘Panchamrit’ at Glasgow summit?

I. India will reach its non-fossil energy capacity to 500 GW by 2030.

II. India will meet 50 % of its energy requirements from renewable energy by 2030.
III. India will reduce the carbon intensity of its economy by less than 45% by 2030.
IV. India will achieve the target of Net Zero by 2070.

(A) Only I and III are correct (B) Only L, IIT and IV are correct
(C) Only I1, III and IV are correct .All are correct

The Indo-US 2 + 2 Ministerial Dialogue aims at

.Boosting defence and security ties and strategic cooperation in the Indo-Pacific region
(B) Boosting economic and trade cooperation between two countries

(C) Enhancing joint partnership in the field of space exploration and satellite launch

(D) Furthering civil nuclear energy cooperation and shell gas supply

The Quadrilateral Security Dialogue (QUAD) is an informal strategic dialogue between which

countries?

.Australia, India, Japan and USA

(B) Australia, South Korea, Japan and USA
(C) Australia, Pakistan, Japan and USA
(D) Australia, Pakistan, China and USA

The full form of AUKUS is

@A ustralia, UK, US

(B) Australia, UAE, Korea, US

(C) Australia, UAE, Kazakhstan, US
(D) Australia, Uganda, Kiribati, US

Dommaraju Gukesh is associated with which sports?
(A) Cricket .Chess
(C) Badminton (D) Kabaddi

All economic transactions of India with the outside world in a year is called
(A) Balance of Trade .Balance of Payments

(C) Foreign Trade Account (D) Foreign Exchange Reserve

Generally, deficit financing can create inflation but it can be checked if

(A) government expenditure increases the aggregate supply in the aggregate demand ratio.
(B) all the investments are indicated as payment on national debt only.

(C) only the aggregate demand is increased.

.all of the above
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127.

128.

129.

130.

131.

132.

133.

134.

% RBI 153 AA-UlMd ﬂ@ﬁﬂ% (cash reserve ratio) Hi gLl $3 dl W A% (credit creation) U g; VAR
2y ?

(A) 516 AU Ay [ (B) dHi a213l

©)ui ail an (D) GuRisd WA 25 uaL 4l
JAM 26€4 U3 UH ......... 8.

.Jan Dhan, Aadhaar and Mobile (B) Jan Dhan Account Mission
(C) Jan Aadhar and Mandal (D) Jan Aadhar and Mobile

UL 515U 8 WIS 2 U5 20269 ULS LRl 2L dHL 222 YA s 8 ?
(A) Rl @an, ouild dla aie-u

@)l Gorapacu Al

(C) s~ uyle dloy-it

(D) naHAAl o4n Al

&4 GAUEHL MR [AAMi ... HLSH O,
@nan (B) [zl
(C) winHL (D) £921

QA Q4 55 sild vudd 0l AoiRa 9 ?
(A) % $ila (Silver Revolution) @) c11A) 5ild (Grey Revolution)
(C) Yl sild (Golden Revolution) (D) 2auedl sild (Pink Revolution)

Atal Innovation Mission (AIM)L &2 A1 U5l 53 / sa1 9 ?
L idlA 221820un uilid s W2 S5yl A2+l - 251 2uudl.
IL AdlHaid Uicis 2uudl 214 eani Gaior uslas S sifleuul sild caaa we.

(A) 12 (T) (B) =t (1)

© @) ax (1) o1 (D) GuRsd UL 25 wat d)
25 Al 3Rl e Guz ... AL SRelER SIY 69,

@)RBI 212 (B) ®URd-L 82Ul

(C) H1RaxL il (D) ¢ i AlRa

38 205 nalri-u sa izt dst »ud © ?
@alas ax (B) 20L&
(C) gdla &nt (D) A A
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127.

128.

129.

130.

131.

132.

133.

134.

If RBI reduces the cash reserve ratio, what will happen to the credit creation?
(A) There will be no impact. (B) It will decrease.
.It will increase. (D) None of the above.

The acronym JAM stands for:
.Jan Dhan, Aadhaar and Mobile (B) Jan Dhan Account Mission
(C) Jan Aadhar and Mandal (D) Jan Aadhar and Mobile

Which programme aims to safeguard the health of women and children by providing them with

clean cooking fuel?

(A) Pradhan Mantri Jeevan Jyoti Bima Yojana
.Pradhan Mantri Ujjwala Yojana

(C) Sukanya Samridhi Yojana

(D) Pradhan Mantri Jan Dhan Yojana

India ranks in milk production in the world.
.First (B) Second
(C) Fifth (D) Sixth

Which among the following is related to fertilizers?

(A) Silver Revolution .Grey Revolution

(C) Golden Revolution (D) Pink Revolution

Which is/are the aim/s of Atal Innovation Mission (AIM)?

I. To support the establishment of incubation centres to nurture innovative start-ups

II. To promote innovation and revolutionize the entrepreneurial ecosystem in the country
(A) Only I (B) Only 11

.Both Iand II (D) None of the above

The One Hundred rupee note bears the signature of
.RBI Governor (B) President of India

(C) Finance Minister of India (D) Finance Secretary of India

Dairy comes under which sector of economic activity?
.Primary sector (B) Secondary sector

(C) Tertiary sector (D) Quaternary sector
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135S.

136.

137.

138.

139.

140.

141.

142.

Aies AR ......... A2 i8¢,

(A) g™ vl Aayn (B) -l vidl
©)voud 27 vy (D) 3yl vidl
qaafly dig-i (s15a S i (FYP)) -l vl .......... Higl danmi sucui 6.
(A) USA (B) UK

(C) w4+ @) craud QA e

Alofl JuuA cpvullid sa1 WL HIUES Huad suLuRe uR 2utRd € ?
(A) @art @adi-l s 2uaiaHl Rald

(B) A%OUR USIR 2 HIYES

(©)+1et 2urunt 217 Ao AMEAU AWEA W w3 W

(D) AERAL R

dloyargll 2uaid 241 st v el 20dd 5243 .......... 8.
(A) GST B0 s
(C) Gewen Y5 (D) VAT

MIRAHL $4 B3¢ BAUE (Gross Domestic Product) (GDP) +{l d121d<) 56 A0 s 6 ?

(A) NITI 200419, B)ara 2085 2B
(C) Sflunt 22828\s54 Sélee (D) Axd 15 2118 S0
5 daly dlo-u g3 (uRd s v1edaarl urigdll 530 edl ?

(A) naw qaarla dige @) &l iy al-u
(C€) ddla qaalu o (D) Agel daalu dieg-u

ARAL elHRR 56 sanui weusla 52158l ARUS 2L By, SAUHT 20Ul ¢ ?
(A) 544 352 (B) 544 356
©)san 360 (D) 544 368

Ul t{HIRRIAL 217269E 360 Ss0 RN 52158) 20l 53 Wiy ll?

(A) 02uld g1R1 udl 2152l Ml AU €35 28 AHA YSAUHT 1AL,
@)=ineu 1 w3 wrlie ur s s viy 524l

(C) 24U BNBU G121 RE A% el AS 6.

(D) ax -t [Bretl nesul [Aamueu g121 v a0 uesl nguld-Al (e 112 2umd van-L sia 6.
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135S.

136.

137.

138.

139.

140.

141.

142.

Golden Revolution is related to
(A) Rare minerals exploration (B) Jute cultivation

.Horticulture and Honey (D) Sunflower cultivation

The concept of Five Year Plan (FYP) was taken from
(A) USA (B) UK
(C) Germany .F ormer Soviet Union

The criteria for defining the poverty line primarily depend on the factors of
(A) Condition of living and accommodation

(B) The type and criteria of employment

.Expenditure required for the acquisition of goods and associated resources

(D) Literacy level

The tax imposed on import and export of commodities is
(A) GST @) Custom Duty
(C) Excise Duty (D) VAT

Which institution calculates the Gross Domestic Product (GDP) in India?
(A) NITI Aayog @) National Statistical Office
(C) Indian Statistical Institute (D) Reserve Bank of India

During which Five Year Plan did India opt for Mixed Economy?
(A) First Five Year Plan .Second Five Year Plan
(C) Third Five Year Plan (D) Fourth Five Year Plan

Financial Emergency provision is mentioned in which Article of the Indian Constitution?
(A) Article 352 (B) Article 356
@Article 360 (D) Article 368

Which is NOT correct regarding the Financial Emergency under Article 360 of the Indian
Constitution?

(A) A proclamation of financial emergency by the President shall be laid before each House of
Parliament.

.The proclamation shall cease to operate at the expiration of three months
(C) May be revoked or varied by a subsequent Proclamation

(D) All Money Bills are to be reserved for the consideration of the President after they are passed
by the Legislature of the State.

[BEG-1] rro. 53
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143. $1S ASsU S13UL ‘GAME’ A ‘HZND? dil3 5133 €Y, dl d 51341 ‘RAVD $6 d 13 iy ?

(A) VIAR (B) SBWJ
(C) SZWJ ®)szwH

144. A AU 7Y x°, Bl A “—> C L ¥ “+ &1y, dl (9 C5) A (6 C 6) -l [Bud Secdl a9 ?

(A) 81 ®)168
(©) 162 (D) 178

145. 4000 0l azd) qnad, A5 un Haels 150 &2 well-l o390ud 42ud 6. d dunni yel se-ll el 2isly
HIY 20m x 15m x 6m 6. 1 (8l well s2en [Bax Yl uasl ?

(A)S B)4
©)s (D) 6

146. s Y2ellui ol GHeail 2ell asul 10% HALIRL A HAgL A 54 2500 cl2 2AHL4 BN 21 [ diAd 1wy
al2l 55% dl2 Hoedl 244 2000 Hdlefl DUl HAEIR UWEIHL A HALIRUAL A0 kL.

@&))2,50,000 (B) 2,70,000
(C) 3,00,000 (D) 3,50,000

-\
.

147. 2l vi2di is ikl

116138
17112] ?
25134119
19(38] 11

(A) 15 ®)16

oO13 D)9

148, UAS UL AH 2UUA YisA Al 2004 s131 Guaian 530 5133 s €9,
$95:0246895317
513: LBAMKT RXU P

dl 952481027 Hi2-ll A2l 513 UE 52
(A) TRBKAULBP (B) TRBAKLUBP
(C) TRBAKULPB @) TRBAKULBP

149. % 0431 36l seay, soid U-fld seaiy, Urflad Al sSay, A 6191 sea, di suns -l @wal ?

@)=zl (B) 201
(C) soil (D) Uil
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143. In a certain code, ‘GAME’ is written as ‘HZND’. How is ‘RAVI’ coded in this code?

(A) VIAR (B) SBWJ
(C) SZWJ ®)szwH
144. If A stands for ‘x’, B stands for ‘—°, C stands for ‘+’ what is the value of: (9 C 5) A (6 C 6)?
(A) 81 @168
(C) 162 (D) 178
145. Avillage having population of 4,000 require 150 litres of water per head. It has a full tank measuring
20m x 15m x 6m. For how many days will the water of this tank last? -
A)S (B) 4

©)3 (D) 6

146. In an election two candidates contested. 10% of the voters did not vote. 2,500 votes declared
invalid. The winner gets 55% of the valid votes and wins by 2,000 votes. Find the total number of
voters in the voting list.

@&)2,50,000 (B) 2,70,000
(C) 3,00,000 (D) 3,50,000

147. Find the missing number.

1y 6138
17112] ?
2513419
19(38] 11

(A) 15 ®)16

(©) 13 (D)9

148. The number mentioned against each question is to be coded using the following codes:
Number:0 2 46895317
Code: LBAMKT RXUP
Find out the correct code for 952481027
(A) TRBKAULBP (B) TRBAKLUBP
(C) TRBAKULPB .TRBAKULBP

149. If Eraser is called Box, Box is called Pencil, Pencil is called Sharpener and Sharpener is called Bag,
what will a Child write with?

.Sharpener (B) Eraser
(C) Box (D) Pencil

[BEG-1] rro. B3
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150.

151.

152.

153.

154.

25 Wl uRaa suadl Bidal s&]: “d-dl uedl2d 1l uell-l 245 W €158 6. dl Bidlar 24 d waud
58 d won wn d ?

(A) (B) €lEL
©)uu (D) Y
Ui [#31l A, B, C, D 241 E 611531 UR 6161 69, A 2 B -l d2d uogui 6isl 8. C A D Nl udaioisl 8. D

E a8 618l #9l. E 24 3101 93 6161 9. C 24 %Hell sl oflog $37 616l 9. A 1 B -l Hell d2s 21 E )
MRl dRS 6loL 9. A i C A1 G161 9. A sui olsl ¢9 ?

(A) B D -l az’ (B) D i1 C -l a3
(C) C A E )l azd) ®)B 211 C - a=d

56 U 140% + 140 UL 56% = ..........

(A) 78.4 (B) 158.6

(C) 156.6 @)Gurisd WA 25 w4l

25 gdlan sl 23 ad 8. 5 alld 10 Mle a4 sas sial .......... viag ;ue sy el ?
(A) 145° (B) 150°

©)155° (D) 160°

UL SI2sHL v2dl 2is 2kl

2|3

12| 6
(A)9 @15
©) 15 (D) 16

YA : U 155, 156 2 157 2 A 2ude s1es § 3 50 Alsdii-dl 2ls 2uas sald 8 d-u Gu
spaRd 6.

ST EER R

a8 3L Ui
vl

200 <4l 2l 12
250 < 21l 26
300 =l 241 34
350 <Al 21l 40
400 = 21l 50

sl 155, 156 241, 157 Ul Bk BU-L 51 5L BUHIR U,
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150. Introducing a man, Girish said, “His wife is the only daughter of my wife.” How is Girish related

to that man?
(A) Father (B) Grandfather
.Father—in-law (D) Son
151. Five friends A, B, C, D and E are sitting on a bench. A is sitting next to B. C is sitting before D.

D is not sitting with E. E is on the left end. C is on second position from the right. A is on the right
side of B and to the right side of E. A and C are sitting together. Where is A sitting?

(A) Between B and D (B) Between D and C -
(C) Between C and E .Between Band C
152. 140% of 56 + 56% of 140 =

(A) 78.4 (B) 158.6
. one of the above
C) 156.6 N f the ab

153. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through

(A) 145° (B) 150°
©)155° (D) 160°
154. Find the missing number in the table.
713
121 6
(A)9 ®)1s
O 15 D) 16

%  Instruction: Question numbers 155, 156, and 157 are based on the table below which shows the

daily income of 50 persons.

. Number of
Income in Rs.
Persons

Less than 200 12
Less than 250 26
Less than 300 34
Less than 350 40
Less than 400 50

Answer the following three questions (155, 156, and 157) based on the above table

[BEG-1] [PT.0.
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158.

156.

157.

158.

159.

160.

161.

162.

163.

secl Alsa2iAl 2[As 2uas 31 250 5 dell ay i1 31 350 Al 2l 9 ?

(A) 12 (B) 13
©)14 (D) 15

B[As 2uas 3L 250 5 ddl ay uRuadl sa alsauid dva .......... uldaid 8.
@&)48% (B) 50%

(C) 52% (D) 54%

BlAs 31 200 ol 246 2uas qAAAL AL v 244 B[RS 31 300 ol ay 2uas vAadL s
vuirl oRiTiR ALkl

@)s3: 4 B)3:5

(C)3:6 D)3:2

A PINK ¥ 1691411 ddl5 513 g ¢iY, dl RED % .......... a3 518 sl
(A) 1963 (B) 1854

©)1553 (D) 1954

COREIE] (Marathon) EEY) (race) W2 9 A4 Hibernation .......... we o,
(A) R (Winter) (B) G-l (Summer)
(C) Blasd (Bear) )Gl (Sleep)

o 516 -l olle Al AR Sid, di do -l 314 24 sl wr 89l ?
(A) HaauR (B) alAaR

(C) YsaR ®)inar

Aest, d-u a2l el@w B azs 60 {2z a8, cueug siell bugg avl 244 30 Hle: A, @idl G ds
aull 241 40 H122 A, dl 24 20l dellg &R 56 [Bauni eal ?

(A) BR (B) e[Ba-uln

(©) yd @)Griz-ulun

AK ¥ DK -l (18 6, CK 1 AKl Hidl 89, BK 21 DK+l Wl 8 244 FK 3 AK+L YA 9. el FK 244
DK 59 d o0 i ?

(A) WA (B) @Al

(C) 5151 @)

AL=+M=-,N=x,P==814, di5SNSPSL5M5=..........

(A)5 (B) 0

<10 D) 15
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15S.

156.

157.

158.

159.

160.

161.

162.

163.

How many persons’ daily income is between Rs. 250 or more, but less than Rs. 350?
(A) 12 (B) 13

©)14 (D) 15

Percentage of total number of persons having daily income of Rs. 250 or more is
@)48% (B) 50%

(C)52% (D) 54%

Find out the ratio of number of persons earning less than Rs. 200 daily, and number of persons

earning more than Rs. 300 daily. -

@&)s: 4 (B)3:5

©)3:6 (D)3:2

If PINK is coded as 1691411, then RED will be coded as

(A) 1963 (B) 1854

©)1353 (D) 1954

Marathon is to Race as Hibernation is to

(A) Winter (B) Summer

(C) Bear .Sleep

If it is Sunday on the 2nd of a month, then what day will it be on the 31 of the same month?
(A) Tuesday (B) Saturday

(C) Friday ®)Monday

Ritika went 60 meters South from her house, then turned left and went 30 meters, then turned
North and went 40 meters. In which direction is her house from this place?

(A) North (B) South-West
C) East North-West
(

AK is brother of BK. CK is mother of AK. BK is granddaughter of DK and FK is the son of AK.
What is the relation of FK to DK?

(A) Grandson (B) Nephew
(C) Uncle .Great Grandson

L=+, M=—-N=x,P=+,then SNSPSL5MS= .

A5 (B) 0

<10 D) 15

[BEG-1] rro. B3


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


164.

165.

166.

167.

168.

169.

170.

171.

5 el AAS1auH] Rig 214 12 9. Wl 2R3 5di d 80 i 9. dx-L Ll Avan 200 A 9. 4
wellAASIAUHL S2EL HIR 83l ?

@&)oo (B) 20

©) 50 D) 30

20 30N u3d Bud 2 X 3900 d2uw [(Bua g2dl 6. o st 25% i, di X A [31q sedl e9 ?
(A)15 ®)16
(©) 17 (D) 20

M 215 S1H 15 [Eauni 214 ool 24 514 20 [Baui $30 As 9. A dil 20 514 4 [Ban 28 wolld 52 dl
S Y LGNS O d ... 69,

1 1
@) 5 ®) 15
7 8

4 yul 21 6 A1 eliasing 11 8 [Bausi yel 53 a5 69, R 3 Yyl 2 7 A d 511 10 [Bauui
y3 53l a5 6. 10 Al d 514 Sean [Baumi yel 5231 ?

(A) 35 )40

(C) 45 (D) 50

w[Ad 214 ool i wolld 2s 511 30 [Banui y3 530 as 9. dia 20 RBan w8 4ol s sy 14
cuRewg olofl 91804 dl 28l uRewE 20 [Bauui xR cudl 8¢ 511 yal 4. wRd 2sdl d 514 sea
Bauniyg s as?

(A) 40 (B) 50

(C) 54 ®)s0

5 Al2H 10 SUHL O 214 25 vuel 221 69, @l2d) W95 Ad saHi 20d 8. S-un ol Acua
sedl 69 ?

(A) 110 (B) 2/5 (C)5/7 ®):2/7
oA Al €101 50% Y Sl dl Al AL A S d ... e,

@12 332 (B) 12 51

(C) 18 532 (D) 18 $d

29lle A4 (Rashid Rover) .......... 6.

@)-iysa 2uer wMA naw s FMan

(B) GBLlR[Brang, uam 2ig [Maq

(C) SBuS A, nan g Raq

(D) 323 222 s AR s nau 92 Man
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164.

16S.

166.

167.

168.

169.

170.

171.

There are Lions and Peacocks in a zoo. By counting heads, they are 80. The number of their legs
is 200. How many Peacocks are there?

@)oo (B) 20

©) 50 D) 30

The cost price of 20 Mangoes is the same as the selling price of X Mangoes. If the profit is 25%,
then what is the value of X?

(A) 15 ®)16

(€) 17 (D) 20

Amit can do a work in 15 days and Boby in 20 days. If they work on it together for 4 days, then the
fraction of the work that is left is ?

1 1
@ ®) 1o

7 8
© D) =

Four men and six women can complete a construction work in eight days, while three men and
seven women can complete it in 10 days. In how many days will 10 women complete it?

(A) 35 )40
(C) 45 (D) 50

Amit and Boby can together finish a work in 30 days. They worked together for 20 days and then
Boby left. After another 20 days, Amit finished the remaining work. In how many days Amit alone
can finish the work?

(A) 40 (B) 50

(C) 54 ®)6o

In a lottery, there are 10 prizes and 25 blanks. A lottery is drawn at random. What is the probability
of getting a prize?

(A) 1/10 (B) 2/5
(C)5/7 ®):2/7

If gold jewelry is 50% pure, it means it is of

@12 carat (B) 12 Karat
(C) 18 Carat (D) 18 Karat
Rashid Rover is

.United Arab Emirates’ first Lunar Mission
(B) Saudi Arabia’s first Lunar Mission
(C) Israel’s first Lunar Mission

(D) United States of America’s first Jupiter Mission

[BEG-1] rro. B8
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172.

173.

174.

175.

176.

177.

Seflurt cualainsd 321 Ave: (IBDC) 3 % digdHl A% AMMd sl 20 d ... vitd [ 6.
A) Raw @)sQcreue

(C) i3l (D) weflud

ISRO® .......... Ad Wels Aaias Guas weudl (Regional Navigation Satellite System)'ﬂ YU
53169,

(A) GPS (B) BeiDou

(C) Glonass .NaVIC

ARER AcAMMIS u2d [Agl A1 U4 5y [t / su Q- ue & ?

L Al (lRd- NaH AeHAl 249 Ao asmsn gdl.

I &AMl 565 UL MRl Aaul AL saUHE HeTaddl e4[Rs1 mod.
M1 dxg WRaRs ar vueie Prean-t suugni 2udg ©.

(A) WA T2 1T (B) WA 11

(C) HA T 2R T @) um i B,

222y 2115 Y[Rl (Statue of Unity) [Agl 1A WAL sy [Atun / s (Al uea €9 ?

L AREIR ACAMALS U2 A-HIAHE il 2udd 8 i [dug Al Gly 22y ©.

L u2eR w2arll 1434 -4 i dl (AR 2521612 201841 Ggaue SR 2u,

L. A2l 20204, d A S-39-S Bat (SCO)- 2usH) 21onu0llui GHAUHL 20,
(A) WA T2 1T (B) HaL T 44 11T

(©) WAl @) i B,

A2l W 56 ulsaui g8l 214 R Al H5a 12 2uadl Ad 511 53 8 ?
L snoueiaysa  IL sl ellyeud i L - s19352
(A) HAT (B) A II

© 121 (D) v 10 8.

il sia ersiedn eilRez, AwrsRell, caRAl 24 [Qgi 8dl FHY GURAHL Add HAH
£ A SR+ Ananui 2460 eyRs1 tordl el ?

@224 Aarim Qld
(B) 2itusin speus uea
(©) [B1s2eus ellvyeus 2

(D) S
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172. The Indian Biological Data Centre (IBDC) which was dedicated to the nation recently is located in

(A) Hisar @) raridabad
C) NOIDA (D) Panipat
P

173. ISRO has established a Regional Navigation Satellite System called

(A) GPS (B) BeiDou
(C) Glonass .NavIC
174. Which is/are true regarding Sardar Vallabhbhai Patel? -

I. He was the first Home Minister and Deputy Prime Minister of India.

II. He played a key role in the integration of about 565 princely states into the Indian Union.
II1. His family home is located in Karamsad in Anand district.

(A) Only I and IT (B) Only 11

(C) Only I and III .All are correct

175. Which is/are correct regarding the Statue of Unity?
I. Built in honour of Sardar Vallabhbhai Patel and the tallest statue in the world.
II. Inaugurated in October, 2018 to mark the 143rd birth anniversary of Sardar Patel.

IIL. In January 2020, it was added to the ‘Eight Wonders’ of the Shanghai Co-operation

Organization (SCO).
(A) Only I and 11 (B) Only I and III
(C)Only I .All are correct

176. Who among the following personalities had worked prominently for the liberation of Dadra and

Nagar Haveli?

I. Kamalaben Pandya I1. Shri. Bhikhubhai Pandya II1. Nana Kajrekar
(A) Only I (B) Only 11

.Only Iand II (D) All are correct

177. Who among the following was a barrister, politician, linguist and scholar from Rajkot who played

prominent role in the Non-cooperation Movement during India’s freedom struggle?
@)Ranjit Sitaram Pandit (B) Ambaben Budhabhai Patel
(C) Dinkarbhai Bikhubhai Desai (D) llaben Vyas
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178.

179.

180.

181.

182.

183.

184.

Hirrla asimeiA 2l 43 Higl g1R1L 2SR sAUHL A il A1 U Al AHdL 2l =) ?
(A) [s[ad suad asuis.

(B) zataiel Wrlasdl g2 s2.

(C) 2uunu ¥ (Bg21H) (roots) UR d 42U,
@)2a29c1 Wieul3et 521

-

Novak Djokovic (-lats $A5dls) 5 BEL Add AR [Aro1¢3-1 [Brior (2018, 2019, 2021 241 2022) DAl d

.......... garl 89,
(A) ansflay (Gambia) .2{0{[?{[ (Serbia)
(C) w3l[Bran (Namibia) (D) Auod (Zimbabwe)

-\

ez AALHAL WMIEHHL HSIR1N2 AL 521 [Becuat i3 A Avid uldsiR sul sdi ?
(A) i (Beall B rsueonl Beal

(C) vinan g4l (seal (D) adln2e-l [3el

MIRA 201641 5UL 22 A ASA 5192 B2 MIledl HIS VUdR-USIZ] 5A UR SR sl SdL?
@) (B) S»R13d
() (2 (D) %4+l

215U 24 UlEl QAL U8 vt Uun g 6 ?

.sa,zis 3wy (Durand Line)

(B) {54l vl (McMohan Line)

(C) 335¢lls v (Radcliffe Line)

(D) wesl syl (Palk Strait)

193941 H81% wA WALl HstEs1RAUE1240 (monopolists)ll 2ulds ANlAzil [t wa2l g1 43

244 25 Aiglat Nupi Lan (4l @) 21 uglell aurasi sun aoumi siazella 214 adladl yarRipi Wl
uigian o1y ?

(A) WA~ (B) 2014

©)ayr (D) Bixn

Bz uga-u 2l AALNH WHSIA ..., AL &St HRBUTR U [ARINRL (2022) AUd SAML 24l
(A) 0 (B) &4 dAau

@R 27 R (D) Rl3u [Qsuq

[BEG-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


178.

179.

180.

181.

182.

183.

184.

Which of the following is NOT part of ‘Panch Pran’ announced by Hon’ble Prime Minister

Narendra Modi?

(A) Goal of developed India
(B) Remove colonial mindset
(C) Take pride in our roots

.Promote cleanliness

Novak Djokovic who won four Wimbledon titles in a row (2018, 2019, 2021, and 2022) belongs to
(A) Gambia .Serbia

(C) Namibia (D) Zimbabwe

Which fortin Maharashtra offered a tough resistance to the British during early freedom struggle?
(A) Jhansi fort .Ahmednagar fort

(C) Panchalankurichi fort (D) Salimgarh fort

With which country India signed an inter-governmental agreement in 2016 to procure the Rafale

fighter jets?
.France (B) Israel
(C) Russia (D) Germany

What is the name of the border between Afghanistan and Pakistan?
.Durand Line (B) McMohan Line
(C) Radcliffe Line (D) Palk Strait

The Nupi Lan, an agitation by women in 1939 against the economic policies of the Maharaja and
the Marwari monopolists, later became a movement for constitutional and administrative reforms

in which state of India?

(A) Nagaland (B) Assam

.Manipur (D) Mizoram

Shri Radhey Shyam Khemka of Uttar Pradesh has been posthumously awarded Padma Vibhushan
(2022) for .

(A) Art (B) Civil Service

.Literature and Education (D) Medicine
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185. wEl-THE deuauil usisll (2022) st 28l ulsd2il 2uud 8 2 WEl-TIHE A48l % &sul sl
A 8 d-ll 08 A3,

ulel-1 wel-11
1. BUAGHIR HILMALA AU i [Asu 24 SoAd)
2. ddl 2Ras s ii. RABR [Qsuq
3. wdld yrded) jii. AU 24 [z
4. ALY A 2AS iv. 28R eustdl
.1-1, - ii, 3 - iii, 4 - iv (B) 1 -ii, 2 -iii, 3-iv, 4 -
O)1-iii, 2 -iv, 3 -ii, 4 -1 M) 1-iv,2 -1, 3 -iii, 4 - ii
186. dMea A Ag .......... YAt ugiagal deid a1 uda 8.

L awgst/ Brecn i o5 g ud ddl 2uagusdid ) s34 0134 2R ALRS Sl Al
L R 390u1did uRygl s2a1 A%uH 8000 HuH S-<i-l 2euu-u s,
III. VCEs (Village Computer Entrepreneurs) (A4 f?mgaa Q{lé,[iifs\l) all %l"b’%lﬂi R

(A) WA T (B) " 1
(C) WA III @) i 8.
187. AU HAAHIA .......... H ol WAL 6.
(A) Al (B) 51
(C) Hividlu @) Guisa WA s w4l

188. ‘The India Way: Strategies for an Uncertain World’ - 21 Yd 51l Avis slaL e ?
@A usis: (B) a2ll a2
(C) [ 2is2 HAn (D) 1D €lad

189. sl [Bau tiddlu AloL [Bau aZls Goaaii »ud ¢ ?

(A) %1 20 @) 21
(C) % 22 (D) % 23
190. Apartheid .......... 6.
(A) %8 AidRAE)A A1 (B) %5 asllell uReuw
©)<islu digena Al (D) Gusd WL 25 yay )
191, AYsd A2 Y& U[RUE (The United Nations Security Council) (UNSC) .......... {l el 69,
(A) 5 AL (B) 11 ugl
©)15 neil (D) 19 AR
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185. Match I (Personalities awarded Padma Shri (2022) from Gujarat) with II (Field of Contribution).

1. Jayantkumar Maganlal Vyas i. Science and Engineering
2. Lata Anilchandra Desai ii. Medicine

3. Khalil Dhantejvi iii. Literature and Education
4. Maljibhai Devjibhai Desai iv. Public Affairs
.1-i,2-ii,3-iii,4-iv B) 1 -ii, 2 -iii, 3-iv, 4 -1i

O 1-iii, 2 -iv, 3-1ii,4 -1 M)1-iv,2-1i,3 -iii, 4 - i -

186. Digital Seva Setu is an initiative by the Government of Gujarat to deliver

I. Citizen centric services at village level by minimizing the need of citizen to visit Taluka / District
Centres

II. 8000 e-Grams centres have been established in the state to fulfil the needs of the citizens
II1. Generation of employment through VCEs (Village Computer Entrepreneurs)

(A) Only I (B) Only 11

(C) Only III .All are correct

187. The Rohingya Muslims are seen in
(A) China (B) France
(C) Mongolia .None of the above

188. Who is the author of the book The India Way: Strategies for an Uncertain World?
.S Jaishankar (B) Shashi Tharoor
(C) Shiv Shankar Menon (D) Ajit Doval

189. Which day is celebrated as International Yoga Day?
(A) June 20 @) June 21
(C) June 22 (D) June 23

190. Apartheid is:
(A) An international association (B) A medical term

.A policy of racial discrimination (D) None of the above

191. The United Nations Security Council (UNSC) consists of
(A) 5 members (B) 11 members
.15 members (D) 19 members
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192.

193.

194.

19s.

196.

197.

Grr-oasirl [Aga-lld A Y .......... 18 AbiAa 9.
@)z a-Nfd ¢t 2ad~A [elu ddl

(B) Alus susididl 2l

(C) uuuale [l aaw

(D) ALY UL e A 534

‘A5 yedl, 25 uRaR, 2is M[AW (One Earth, One Family, One Future) i ..........
(A) BRICS (212 ulug 2022

(B) COP27 sty ulRad- [z ulRue 2022

(C) SCO [z ulme 2022

) G20 Rz uRug 2023

VVPATH 43 M 8 €9 ?

.Voter Verifiable Paper Audit Trail

(B) Voter Verified Paper Accounting Trail
(C) Voter Verifiable Paper Automatic Trail

(D) Voter Verified Paper Authentication Trail

a0

sulL 2 duHl vilr2-A2aude (ASAT) [Ruda sl usndayds udla sy 97
(A) YA, 517, SAAAA, B silRu

(B) yiu, 51, S314d, S21

©)uiu, AR, A, *uRd

(D) yriu, A2, A, SHda

Kyoto Protocol (sui2l 21%g1dl Rr2iaR) «A .......... A EREYIREETLS| DI CE2 N
(A) GURL 2AA512 @)y uRad+

(C) 2udsaie [Qzid (D) vi-a1sl251

aidlun Rsauiddl 2o g1 dnaiRal aaent sieulis 2isud .......... sScUHi 2ud €9,
(A) D255 (Bitcoin) @)021<i4R (Petrodollar)

(C) XE 34l (D) aaell 2

Al Yoy (AR 6.
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192.

193.

194.

195.

196.

197.

‘Non-aligned’ foreign policy basically relates to:
.Independent foreign policy decision making
(B) Aloofness from the global affairs

(C) Anti-imperialist stance

(D) Non-interference in internal affairs

‘One Earth, One Family, One Future’ is the theme of
(A) BRICS Summit 2022

(B) COP27 Climate Change Summit 2022

(C) SCO Summit 2022

) G20 Summit 2023

What is the full form of VVPAT?
.Voter Verifiable Paper Audit Trail

(B) Voter Verified Paper Accounting Trail
(C) Voter Verifiable Paper Automatic Trail

(D) Voter Verified Paper Authentication Trail

Which countries have successfully tested their Anti-Satellite (ASAT) missile capabilities?
(A) USA, France, Israel, North Korea

(B) USA, France, Israel, Iran

@) UsA, Russia, China, India

(D) USA, Russia, China, Israel

The Kyoto Protocol is an international treaty relates to
(A) Outer Space .Climate change

(C) Counterterrorism (D) Antarctica

A notional unit of currency earned by a country from the export of petroleum is called
(A) Bitcoin .Petrodollar

(C) XE Currency (D) Paper money

[BEG-1] [PT.O.
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198, ®URA i Al a2l Ue g AR G 9 ?
.ﬁ.‘s‘-ﬁé"l wy (McMohan Line)
(B) 2354l vl (Radcliffe Line)
(C) $3YRUs vil (Durand Line)
(D) wesl syl (Palk Strait)

199. “Yuyd’ (Ui [Auuazgil)-L a2sid i $ % 8d MiRd-l [Qeadlla-dl g 2L Aa’ wdedl 8.
(A) ddin, A4, Yreu, ailq, qgld
- (B) Aseu, uyle, Aslq, yau, aild
(C) Yrau, ueudl, uy(, aild, Aae
@), e, unlH, YR, Agld 217 ueudl

200. ®Rd-l |8l Arlu 815l Aud Guun g 897
(A) AiMdl (1) MICETE
(C) al3andl (D) [Reiwt
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198. Which is the border between India and China?
.McMohan Line (B) Radcliffe Line

(C) Durand Line (D) Palk Strait

199. Identify the components of ‘Panchamrit’ (five themes) which are now the ‘new’ pillars of India’s

foreign policy strategy?

(A) Shantosh, Samridhi, Suraksha, Shanti, Sanskriti

(B) Sankalp, Samridhi, Sanskriti, Suraksha, Shanti -
(C) Suraksha, Sabhyata, Samridhi, Shanti, Samvad

.Samman, Samvad, Samriddhi, Suraksha, Sanskriti and Sabhyata

200. What is the nickname of Women's National Hockey Team of India?
(A) Shambhavi .Nabhvarna

(C) Shaktimayee (D) Nirbhaya
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BEG-2
PROVISIONAL ANSWER KEY

Name of The Post Accounts Officer, Class-2, Gujarat Accounts Service
Advertisement No 22/2022-23
Preliminary Test Held On 26-02-2023
Que. No. 001-200
Publish Date 27-02-2023
06-03 -2023

Last Date to Send Suggestion (S)

Instructions / }jell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234


CNF
Highlight

CNF
Highlight


001.

002.

003.

004.

00s.

AD2-umiel sy/sa [yl unuealani sl adls aami 2ud .
i e fa dadla s aasinsll el il © 2iA d-l adHis eudla Rald eald 6.

i “uHuE(d M-l w8 dl-l Guaiorl 3 dairdl (il 511020 244 Asufla Rafd-Al 2uoudl sami
HEE 52 89,

jii. uHuElA [0 QUAASAAA d501d [Rela dani vee s doiBd AR ueir 52 ©.

iv. (A A weudl-l Asond i ugl 200U 89 211 2dl A4S A ASIAAL HIZ BULAUHL
Al wardi-l 24u 51251 2090 wlalzu 2ud 9.

(A) WA (i) (B) MU (i) 2R (i)

(C) M= (i), (i) 2 (i) @ereu i), (i), (i) 24 (iv)
DAl s/su QA 0/ 97

i HaL8la UsHAL 2400 2Rl v quend © 5 Hal wldsH xao e,

ii. 20¢ Ul el qieu € 5 daunl sl GriufsiR 2ad Add 2R 84,

i, WU VU HAL $5d d o AASIA B YU wuni (8 as do [Bauoll vl Anami
204 8.

(A) WA (i) (B) ML (i) A (i)
@) (i), (i) 2 Gii) (D) H=A (i) 24 (i)
AAnidl 56 2uas 4 208 43 Rumi 2ud 8

@) 2Reu 5100 gL 5100 204 AR

(B) 615 A1UBL UR Ay

(C) 5461 24 dARAAAA Brumi s acqrn

(D) U AHRARYALY A

ay (R aevy ud sl
(A) 3l v (B) vyl vt
(©) %l »uas @)yl »uas

A2lumio sy/su [QayQanl [ wusalan aseyaanl adls aRami 2ud 97
i. €35 UASIRU 6L WAL 81U 89, A2d 5, Vs Ua AL BUUAL 1Y 89 A oo cudt Hoadl iy 69,

ii. 835 AR oL WAL [AcU[¥d scumi 21d 8, BHIR i 4L 245 viLdMl BHIR sa1d, & 1 ollon
VLALHL %HL 54l 6.

iii. €35 GrIRUT d-l 143U 27 uHIA AL Sl Buagus .
(A) WA (i) (B) 13t (i) A1 (iii)
©)a), (i) 2 (i) oLy (D) L (i) 241 (i)
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i. Accounting measures past performance of the business entity and depicts its current financial
position

001. Which of the following statement/s is/are regarded as functions of accounting ?

ii. Accounting helps in forecasting future performance and financial position of the enterprise
using past data

iii. Accounting provides relevant information to the users of accounts to aid rational
decision-making

iv. Accounting also identifies weaknesses of the operational system and provides feedback regarding
effectiveness of measures adopted to check such weaknesses

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) @A (i), Gi), (iii) and (iv)

002. Which of the following statement/s is are correct ?

i. Business entity concept explains that the business is distinct from the proprietor

ii. Going concern concept assumes that the business has a perpetual succession or continued
existence

iii. According to money measurement concept only those transactions which are expressed in
monetary terms are to be recorded in accounting books

(A) Only (i) (B) Only (ii) and (iii)
@Al (i), (i) and iii) (D) Only (i) and (iii)

003. Which of the following is regarded as Capital receipt?
.Share capital contributed by the shareholders/ members
(B) Interest on Bank Deposits
(C) Annual Subscriptions in the case of clubs and associations

(D) Sale of old news papers

004. A bad debt recovered during the year will be
(A) Capital expenditure (B) Revenue expenditure
(C) Capital Receipt .Revenue Receipt

005. Which of the following statement/s is/are regarded as features of Double Entry System?

i. Every transaction has two fold aspects, i.e., one party giving the benefit and the other receiving
the benefit.

ii. Every transaction is divided into two aspects, Debit and Credit. One account is to be debited
and the other account is to be credited.

iii. Every debit must have its corresponding and equal credit.
(A) Only (i) (B) Only (ii) and (iii)
.All (i), (ii) and (iii) (D) Only (i) and (iii)

[BEG-2] rro. [EN
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006.

007.

008.

009.

010.

011.

D2Aunioll 53 Guor-vii-t vl ddl5 dRiumi »ud 8?

@) rusl vl vug (B) 42l vug

(C) vill&s AuerL ~AsRIA vug (D) A3 vug

513 1Y, Al sul/su1 Sq/Sqil Yl uis 697

i Al caaeiiAl visaldidl A5 duna we.

i, stSuRL vidladl-l 6udl 2541 vuadl s

iiil. €35 w1 Aeeu [GH] 242 yel A A 6 A yual a3 viddl sa we.

iv. AUls [0 B33uddl dUIR $AUHL A01dL 28 A W,

(A) WAL (i) (B) ML (i) 241 (i)

(C) WA (i), (i) 2 (i) @), Gi), (i) 217 iv) o1

A 5185 54 vil2L vl HdaRll s 20l glu 2adn d vl sug auiami sudl Sl g uael
vzl Sl 2l viél tudl 518l Sy, did “.......... 7 Al 5u duual.

@)2zq 28 B) [ s

(C) U™ & (D) Rigia-l ma

A-unidl siq csfRasian-dl [QaNdyzi adls aiaHi 2ud £9?

A

iduAsuAs 6.

-

ji. d (S0l uZaAl 215 o e

jii. 253 WO HAOL 615 61 S| 217 WA 15 YoroL 6ls 1Sl AL dglad-i sIRRIHL Hnaell s W2 srlaaii
20d 6.

iv. d weudla au eRan aH R 2 2R uRL 33 Sl AR duR 3 Asu Y.

(A) WL (i) (B) A (i) 21 (i)

@)+~ (i), Giii) 217 (iv) (D) 6L (i), (i), (i) 2R (iv)

AR YAl d UL g Alsin Re1 (AeREWIR) HIS 2SR SAHL 2 D dA ... ERETURS

(A) -l 3l Bersz wia yd

(C) ¥oudd 3l (D) aya 2uda 4l

£2s - bududl Sy deedui, dls ualve ois2 (i) ga cududl uldvigaiu .......... §AA .........
Sl Hid] % it Sl d Yridn cudul-l gasiel Guisal.

@&)5%; 3. 25 cm (B) 5%; 3. 50 cumt

(C) 2.5%; 3. 30 cm, (D) 2.5%; 3. 50 cm,
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006.

007.

008.

009.

010.

011.

Which of the following is regarded as nominal account?
.Travelling Expenses A/c (B) Machinery A/c
(C) Intellectual Property Rights A/c (D) Cash A/c

Trial balance serves which of the following purpose?
i. To check the arithmetical accuracy of the recorded transactions.
ii. To ascertain the balance of any ledger Account.

iii. To serve as an evidence of fact that the double entry has been completed in respect of every

transaction.

iv. To facilitate the preparation of final accounts promptly

(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

If an amount is posted in the wrong account or it is written on the wrong side or the totals are
wrong or a wrong balance is struck, it will be a case of « .

.error of commission (B) error of omission

(C) compensating error (D) error of principle

Which of the following is/are regarded as feature/s of bank reconciliation statement?
i. It is a statement.
ii. It is a part of the process of Accounts

iii. It is prepared to reconcile the causes of difference between the Bank balance as per Cash Book

and the Bank balance as per Pass Book

iv. It can be prepared at any time during the financial year, as and when it is required.

(A) Only (i) (B) Only (ii) and (iii)

.Only (i), (iii) and (iv) (D) All (i), (ii), (iii) and (iv)

That part of the authorized capital which is offered to the public for subscription is called

(A) Nominal capital .Issued capital

(C) Called-up capital (D) Paid-up capital

In respect of every underwritten issue, the lead merchant banker(s) shall undertake a minimum
underwriting obligation of of the total underwriting commitment or whichever
is less.

.5%; Rs. 25 Lakhs (B) 5%; Rs. 50 Lakhs

(C) 2.5%; Rs. 30 Lakhs (D) 2.5%; Rs. 50 Lakhs
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012.

013.

014.

015.

016.

017.

Daumiddl sy Q- vl ©97?

(A) 1R 3 A Ul & Fui ol 5 ddll ay sudlail x1Rac viadl 2 su-dlui 290 5d 00 9.
Bl s nof2 2 dur-t sl a2Ag HAR B F 2Us o 51U Bewe-liqi Gene sl wa Qa6 8.
(C) R Su-dl ALe s A A3 B, AR dA $iAS HAR dZl3 U] 20d 9,

(D) %12 518 Su-l WanMA AL ALUU A1 AU 89, AR A elsas YR sSaumi 24 .

AR yeuis sall Ae-oilEa uglan .......... uRL s8aHi 2ud 6.
@)rialRs yeu usla (B) Buar-2uuRa ugld
() smell amd ueald (A 3uladl Has) (D) aweoll yeu ugld

AN

(5oL [Rum- wiRl, 19490 sa4 9 Haror, Ai-6i[301 5 HAIAL Rs1a Awe -l didlviell a8 2u6{l208

-

GIRL douaUMl HUdA AHANNAL ........... il {e2 aAdl A,

(A)3 (B) 5 ©- (D)9

IFRS UHNGA HOeL Horor waudla uasi-l geueis cala@saizi-u deeiud, Da-unidl sy / sa [Qan

/ [t 12 / i 97

i YA OpRuHSs AABsAll YRivddL 2 [Aany 204 6.

i, RSl R (el dstad diaal 12 uam 8 o d yaldHilRd jeu, Ratas yeu sia saa oid
MDY

jiil. AL, AsIARNEHAL AHUAYASAL A AHFRAAHAL 2 ORucHs Aal@isatl © 3 Aoilfd 211
[Qany, d 29 suni 2uddl Al Gualidid auR €.

iv. HURdlA 2w 1 AlBrani adllga 524, cail@sdl ealadl 214 g 52l d 41D s dg si-ud 8.

(A) WA (i) (B) HAA (i) 241 (i)

(C) A (i), (ii) A1 (i) @) (i), Gi), Gii) 24 iv)

“BIfl2” Aot Al A0e IR U UL B B AL AU Y .......... :

@) icing (B) tllad (C) 514 534, (D) Qg

2 Al 2l AAuniodl siql aHdn 2 6.

i g [Qauell At asiond 21 #l2a dui.

iii. d Q2 Astd BRAAdL B gIRL SHE 20d 6.

jii. d AWBAR, e2elidA, MUl 1 scure WAl noal vl Hegdl sami 2ud 9.

iv. 218122 AL55AU AHAUUU W2 dAIR ST 2udal wRuSla (el 2A(8gddil widid ige 52 9.
(A) "I~ (i) (B) A (i) 241 (i)

(C) WA (i), (i) 2 (iii) @ereu (i), (i), (i) 24 (iv)
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012.

013.

014.

015.

016.

017.

(A) Merger is a process in which either two or more companies unifies into another existing
company

Which of the following statements is incorrect?

.Vertical merger is a merger between business competitors who are manufacturers or
distributors of the same type of products

(C) When a company combines with the customer, it is known as forward merger

(D) When a company combines with the supplier of material, it is called a backward merger

Asset-backing method of valuing shares is also termed
@)intrinsic Value Method (B) Yield-basis Method
(C) Earning Capacity Method (D) Fair Value Method

According to Section 9 of Banking Regulation Act, 1949, Non-banking assets must be disposed off
within years from the date of acquisition or period extended by RBI.

(A)3 (B) 5 ©) D)9

With respect to qualitative characteristics of financial statements as per IFRS conceptual
framework, which of the following statements are correct ?

i. The fundamental qualitative characteristics are relevance and faithful representation

ii. Financial information is capable of making a difference in decisions if it has predictive value,
confirmatory value or both.

iii. Comparability, verifiability, timeliness and understandability are qualitative characteristics
that enhance the usefulness of information that is relevant and faithfully represented

iv. Classifying, characterising and presenting information clearly and concisely makes it
understandable

(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), (ii) and (iii) @Al (), (i), (i) and (iv)
The term “audit” has been derived from the Latin word “audire” which means
.to listen (B) to speak

(C) to act (D) to think

The meaning of an Audit contains which of the following?
i. An intelligent and critical examination of the books of accounts of business.
ii. It is done by an independent qualified person.

iii. It is done with the help of vouchers, documents, information and explanations received from
the clients.

iv. The auditor satisfies himself with the authenticity of the financial accounts prepared for a
particular period

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)
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018. NA-unil sud 23010 2ua2us Q2R | @zl ds aRami »ud 9?

i, dul B, excudod, vzl Fdl a5l as ddl Hldl-u Amed-ni yiarll Yrioddl, [Qaa-lud
21 udltddlg Heuis 2 asiaell aHa ©.

ii. d (3160l 2144 211aRs »igal wendl2i-l [Qedueucns, sl2a 24 awrnens uHlan 8.
iii. 282 sdd WSl usudla 2iaan [Bie--ugndla §is as .
iv. AaaRad 24 AanAs d Ml Yeuise W2 HiRel A2l HIUES Slal AS .
(A) WA (i) (B) 12t (i) 241 (iii)
(C) HA (i), (i) 2 (i) @ereu i), (i), (i) 241 (iv)
019. A-umidl sui 2182 - s1aglL dls i 2ud 97
i 282 24 25 a8, -l Gualal [Alay [Samr st wisHHul dR-L [Rdid 282 s W sA as 8.
i, 20812 2 WA yriRLeHs HUES 1l ud d-l uldius xR 9.
i, A2 sHALLAL [0 ALUL 244 2470 250 2AUI2 S UG, A S A A2 28 B,

iv. 251U [AAy Aadl g 202 sda (e ay [ swni »ud 8.

(A) A (i) (B) A (i) A (i)
(C) A (i), (i) 24 (i) @) (i), Gi), Gii) 24 iv)
020. a5 A2 2482 U Bruui, sidaa A 2082 sl .......... gIRL 155l sUH 2ud 9.

@) [Frizts 217 w1dvi udlas (CAG) 21 su-dl vy, 2013
(B) MRaxAL [Rots 211 ug1dvi udlas (CAG) A cudlu Rad 6ls
(C) aurdla Rxd 6is 24 su-l 'y, 2013

(D) AR, qRUAY 214 222 65 wlis Sl

021. .......... 2 Al w2 e 9.
(A) ualA QU4
@B)eura-u Reins 214 wsidvi udlas (CAG)
(C) *udlu Roxd ois
(D) A28 615 s Sl

022. ... idle Wi R e , Rufdd, duias 23 wsndla 2082 Al assiu Ras gl
SIASARAL AW AL A1 8.
(A) auloys (B) wuilaelly
O30 (D) 510l
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i. It involves evaluation & verification of the relevance, reliability and adequacy of evidence in

018. Which of the following are regarded as essential features of Auditing?

support of verifiable information such as vouchers, documents, explanations.
ii. It is analytical, critical and investigative review of systems of Accounting & Internal Controls.
iii. The information audited may be financial or non-financial.

iv. There should be standards or criteria for evaluation of the information in a systematic &
scientific manner.

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) @Al (), (i), (iii) and (iv)

019. Which of the following are regarded as advantages of audit?

i. Audit is a tool, which different stakeholders can use to protect their interests in the enterprise.

ii. Audit is not only a corrective measure but has a deterrent effect.

iii. The employees of the organisation remain alert and vigilant as regards the updating of books
of accounts and other records.

iv. Audited accounts are considered more reliable by different cadres of Government.
(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

020. In the case of audit of a government body, the scope and audit programmes are set by the
.Comptroller and Auditor General (CAG) of India and the Companies Act, 2013
(B) Comptroller and Auditor General (CAG) of India and the Reserve Bank of India
(C) Reserve Bank of India and the Companies Act, 2013
(D) Supreme Court and the State Bank of India

021. The is the Supreme Audit Institution.
(A) Supreme Court
.Comptroller & Auditor General (CAG) of India
(C) Reserve Bank of India
(D) Central Bank of India

022. audit involves examination of legalities by blending the techniques of propriety audit,
regularity, investigative and financial audits.

(A) Social (B) Environmental
.Forensic (D) Operational
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024.

02S.

026.

027.

.......... 2 €35 [Qora-l asuelui xguami uadl usast 24 wsudla uaast 214 2elFd ana-l
Bedu 530 saHi 2aiR 432101 sl [Aoraau: ules- €9,

(A) 208l uld (B) 2udle sl
(C) ¥l yria @)1 selsn

.......... A 835 212 U a4 2um) uReuH dls 2ioecuHi 2ud 69,
(A) 20812 514 (B) vidle s1dsu
©)~idle xdaa (D) iidle Y

25 sriau AidlRs »iga usudl2 DAumidl 53 uein 59 AS2A?

i, 51020044 puoteilii-n diou (e .

i, UABIRA S A Y 5 WIS ALY A[AgdAL 20 s Aluell W,
iii. A8l Dl wan sa0 12 diou sl uniadl 12,

iv. A AASIRIHL uloy AHlan 219 21[AgddL HIE d (U100 AIUIIRAHT AL d US AL 2 dHIH HHLSl
Rasd-l yrau we.

(A) WA (i) (B) MU (i) 2 (i)

(C) WA (i), (i) 2 (i) @ i), (i, Gii) 24 (iv)

DAumiddl suin 2idlRs e @zl adls aeimi 2ud 97

i d a1l €2 2s WdA YyRuis uala o,

i o LSl BUsHAL 2215 gl 224 d 8q W2 [RYsd 2adat cnals lsd gt gla sl sudl as .
jii. d 2U5168[F221, wensl 2144 214 SIHAIEL 24 Aenul 22 =il udlan w2 sia vami 2ud 9.
iv. d A2eu-l Al adls g1 uani 2uadl 18l udg A 2is Gt s ARH 2ud 9.

(A) WA (i) (B) MU (i) 2 (i)

@)~ (i), (i) 241 i) (D) 8L (i), (ii), (iii) 241 (iv)

DAl 53 (At / (sl 02 / 0 697

-

i ABAR A w2, e [Ade e yel 2dal agiRAlL Albid At 3udi WHIRL 2udl YRual sis
®L0L 89,

i, Yo ABUAA 2uNiBLs (sid2rd) ABA s8ami 204 89, A dudl AsAl AL SIS EeUdAA
waAs AGAR sSaumi 2ud 69,

iii. WGAA Su-dl-l 2ig2 (AR WGAA) A Su-lHl o112 (busr BAA) -2 s3 A3 9.
(A) WA (i) 24 (i) (B) WA (ii) A (i)
©)+~ (i) 214 i) (D) 418 (i), (i) 21 (i)
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023. An is a detailed plan of the auditing work to be performed, specifying the procedures
to be followed in verification of each item and the financial statements and the estimated time
required.

(A) audit committee (B) audit engagement
(C) audit evidence .audit programme

024. is called as the ultimate and final product of every audit.

(A) Audit engagement (B) Audit programme
.Audit Report (D) Audit evidence

025. An efficient internal control system should provide which of the following?
i. For proper division of functional responsibilities.

ii. For proper authorization and assignment of duties to perform and record the transactions.

iii. For adoption of proper practices for adherence with management policies.

iv. For proper review and authorization of all transactions before they are recorded in the books
of accounts and safeguard all business assets.

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) @A (i), Gi), (iii) and (iv)

026. Which of the following are regarded as features of Internal Audit?
i. It is an independent appraisal activity within the organization.

ii. It can be conducted by the staff of the entity or by an independent professional appointed for
that purpose.

iii. It is conducted for review of accounting, financial and other operations and controls established
within an organization.

iv. It is not conducted as a service to the organization but is regarded as a part of the organization.
(A) Only (i) (B) Only (ii) and (iii)
.Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

027. Which of the following statements are correct?

i. A voucher is a piece of substantiating evidence, in the form of a written record of expenditure,
disbursement, or completed transaction

ii. Original vouchers are called collateral vouchers, and their copies or supporting documents are
called primary vouchers

iii. Vouchers may be generated inside the company (internal vouchers) or outside the company
(external vouchers)

(A) Only (i) and (ii) (B) Only (ii) and (iii)
.Only (i) and (iii) (D) All (i), (ii) and (iii)
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029.

030.

031.

032.

033.

.......... , AUHAR 24 UILER gl A sul Yoo, “yeu, Wlas), Ruls, xRac, sorod 214 Masd
UL 515U ool sl duin 8.7

(A) wGRoL B)usiual
(C) AR 2idle (D) Ay s x118le

A58 Surll R Sudl-u van 2ifle-dl Rugs ol 2 R3sed gl su-dl-l Alaelll ailved
.......... [Bar-l »ie2 sl »nasl.

@30 (B) 45

(©) 60 (D) 90

DAl 56 alZd surdl-u 241822 a3 Rugs W as d)?

i. Halld gaeeldl alleldl s, 2008 o0 A vuilled sl el Rau-d siule e
ii. Sull-l 2[5 218 s+

jiii. 215 Al3d % cueller 8, vl 3 Sudl-u 2«05 212 sH AL AU 9

iv. 215 Al3d ¥ d-i el 212 cuRllerR siu

(A) WA (i) (B) MU (i) 2 (i)

(C) WA (i), (i) 2 (i) @) (i), (i), (i) 24 (iv)
.......... aya 2uddl 248l vuadl nd su-dl we 2idle aflda-dl - s2A%ud ©
(A) 3. 50 cuvt 5 adfl ay, (B) 3.1 5213 5 ddfl ay
(C)3.55A3 5 ddll ay @)3. 10 51 3 dell ay

D2uniodl usaz [S2uell usald-u Gaa / Gaeul ddls aaumi »ud 8.

i [Afas as-lst 249 v eudliiq Guaiol s34 [Aldy uRRaldxtiui vl vid<l 54N,

ii. (AlAy 4oto0ni d (Budl 158l s2aL

jii. HiaHAL, 1Y 24 uRia A {21 HIRRI 55l S0 stdaHdl 55l s 2 Higld s2aL.

iv. LU RS WSl AR s WIS Sdred) 25t Heu 158l 54,

(A) WA (i) (B) MU (i) 2 (i)

(C) WA (i), (i) 2 (i) @) (i), (i), (i) 247 (iv)

Aausly e[y, Wwadl Gaued Al A Al 8d HI2 AUl A Wl ...
s WU Y,

u3d (B) 7151
(A)
(C) »uas (D) s
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028.

029.

030.

031.

032.

033.

, as defined by Spicer and Pegler, is “An enquiry into the Value, Ownership, Title,
Existence, possession and presence of any charge on the assets”.

(A) Vouching .Veriﬁcation
(C) Propriety Audit (D) Social audit

First auditor of the company, other than a Government company, shall be appointed by the Board

of Directors within days from the date of registration of the company.
@&)3o (B) 45
(©) 60 (D) 90

Which of the following persons shall not be eligible for appointment as an auditor of a company?

i. a body corporate other than a limited liability partnership registered under the Limited Liability
Partnership Act, 2008

ii. an officer or employee of the company
iii. a person who is a partner, or who is in the employment, of an officer or employee of the company

iv. a person who is his relative or partner

(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

Audit committee formation is mandatory for a public company having paid-up share
capital.

(A) Rs. 50 lakh or more (B) Rs. 1 Crore or more

(C) Rs. 5 Crore or more .Rs. 10 Crore or more

Which of the following are regarded as the objectives of Cost Accounting?

i. To ascertain the Costs under different situations using different techniques and systems of costing
ii. To determine the selling prices under different circumstances

iii. To determine and control efficiency by setting standards for Materials, Labour and Overheads
iv. To determine the value of closing inventory for preparing financial statements of the concern
(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

is a measurement, in monetary terms, of the amount of resources used for the purpose of
production of goods or rendering services.

@) Cost (B) Profit
(C) Revenue (D) Loss
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034.

03s.

036.

037.

038.

039.

040.

Daumiddl 54/ sunQun / [Qal a0 / e 697?

i, U, HIAAHIA + Neddt gl + Neust W = Walis usdR

i, U8 HIARAMLA + URA# MY + AHUE WA = URAE USdR

i, MeAB MM + Ueddt HYRL + uRia W = was usd

iv. URLAL HIARAIHIA + UR1E MR + Uedd WA = URIE U3dR

@) i) 214 (i) (B) WA (i) A (i)

(C) WA (i), (i) 2 (i) (D) BLL (i), (i), (i) A1 (iv)

.......... U3dR 2 25 el oflon 2R NglAni F51R1 518 WAHE Adl FER O,
@)as1aq (B) AHid (C) Aslus (D) oiAd

D2lumiol 53 / sun Qe / Qe 0 / 2 97
i. Auid udd 2 v5e lAd WAl 51 9, 2ed 3 wal@s usd adl aldd ua Wy

-

ii. A5(2us usaR i SIS ALssU A AU 21gal AlssA Nd AAE-AAL Gualdl s34 oal glda
[Aseuld yeu 6.

jii. 240i(8d U3dR vl vl 8 % AlssU g, viaal uRRal e vilhd Sl o

iv. 361efl ugdR i GldrunL Wzl € -l v gaisl usl ©

(A) Wt (i) 21 (i) (B) A (i) 24 (i)

@) (i), (i) 211 (i) (D) 68 (i), (i), (iii) 2 (iv)

.......... U3dR 2 UsH UsdR A1 Uoi[8d 21583 v © FHI UM UL1eL -l AHAA A4 9 % Bewrg-nil

25 22l Ay dsissHl d-l 20w ndl au 9

(A) 512 B)ox (C) *ysd (D) A

.......... U3 3 M5l $eldld 5a AL HIA AR AU, Bulg s WSl Aialds vl 6,

(VRIEMIEE (B) ydRaiRa (C) MMl (D) viell¥q
AA-uniofl 554 usa [Bauell ueald-dl asls a3 awani >ud 972

i AlHid widr i, UHIBL U3dR

iii. vielpu-dly viga VAYIEDTRIRES

(A) WA (i) 21 (i) (B) WA (ii) A (i)

@) (i), (i) 21 (i) (D) 8 (i), (ii), (iii) 241 (iv)
Dalumiofl sy w2 972

@) rn AWl = Yriardl AWl + yriarel ozl — (QuAAL ATH £ X QYTH Yri:arEl un)
(B) 4 AW = Yri:ael AWl + Yr:arel w2l — (AUl QYT €2 X QYTIH Yri:del AHYU)
(C) H8TH AW = Yrt:aRel AWl — Yr:arel 2l + (QUAA QAYTH € X AYTH Yrl:dREl AHAU)
(D) 4gnH AW = Yr:arel AWl — Yr:arel 2l + (AU QATH € X dgTH Yr:del AHU )
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034. Which of the following statements are correct?
i. Direct Material + Direct Labour + Direct Expenses = Prime Cost
ii. Indirect Material + Indirect Labour + Indirect Expenses = Overheads
iii. Direct Material + Direct Labour + Indirect Expenses = Prime Cost
iv. Indirect Material + Indirect Labour + Direct Expenses = Overheads

@ only () and (i) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

03s. cost is the change in the cost due to change in activity from one level to another.
@)pifrerential (B) Marginal (C) Opportunity (D) Relevant

036. Which of the following statements are correct?
i. Marginal Cost is the aggregate of variable costs, i.e. prime cost plus variable overhead

ii. Opportunity cost is the value of alternatives foregone by adopting a particular strategy or
employing resources in specific manner

iii. Relevant costs are costs which are relevant for a specific purpose or situation

iv. Sunk costs are future costs which are to be incurred

(A) Only (i) and (ii) (B) Only (ii) and (iii)

.Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)
037. Costing is the aggregate cost related to a cost unit which consists of a group of similar

articles which maintains its identity throughout one or more stages of production.

(A) Contract @) Batch (C) Joint (D) Operating
038. Costs are the actual costs of acquiring assets or producing goods or services.

.Historical (B) Predetermined (C) Standard (D) Estimated
039. Which of the following are regarded as techniques of Costing?

i. Marginal Costing ii. Standard Costing

iii. Budgetary Control iv. Process Costing

(A) Only (i) and (ii) (B) Only (ii) and (iii)

.Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

040. Which of the following is correct?

.Maximum Level = Re-Order Level + Re-Order Qty — (Minimum Rate of Consumption X
Minimum Re-Order Period)

(B) Minimum Level = Re-Order Level + Re-Order Qty — (Minimum Rate of Consumption X
Minimum Re-Order Period)

(C) Maximum Level = Re-Order Level — Re-Order Qty + (Minimum Rate of Consumption X
Minimum Re-Order Period)

(D) Minimum Level = Re-Order Level — Re-Order Qty + (Minimum Rate of Consumption X
Minimum Re-Order Period)
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041.

042.

043.

044.

045.

[Alsu unu ved

(A) SRVIAIHL SIHEIRL 1L [Adidal ana

(B) slal@uui SIMEIRL IR [Adidal auu

(©) 5142131 6121 dur sm Rucua Redel uwmy
(D) $1HEIR1 1R dul s uR [Aaidal aun

-

(335227 HSAY, 247 VA d-l 25 (A 6.

C C

(A) Gewig ulamiad B)adladl wriamad

c

(C) QR uaa (D) [Qaze uRlamd

Daluniddl 54/ sun Qe / [Qail wig [ vie 872

i §@ USdR = WAMS usdR + & uRla wal,

i, AGSHAL 20215, Yeuis WalRs usd-L 2ua12 ad ASA.

i, AUR HIAU HUR22L5 T HEL AR USARL AUHIR 155 523G AL,

iv. GAUlE USdRHL WA Bewlgrt 2bi(8d Mg AL uHda i 6.

(A) 1A (i) 24 (i) @) i) , Gii) 2 (iv)
(C) WA (i), (i) 2 (i) (D) G184 (i), (i), (i) A1 (iv)

SUL USRI G Slu HUsHIRE 2oL UgdR utald iguauul 2ud 697

i. ool AoiBd 51 5201 54

i, -l Su-latl

iii. [Ad8 Ugiold Geawen 5L Hi2L sl

(A) 1A (i) 24 (i) (B) WA (i) A (iii)
(C) M= (i) A (i) @ereu (i), (i) 241 i)
wlBuL ugaz-u AeelHi, NA-unidd sy / s [Qaun / [l ) / e 87?

i, oA AL A AAHL AL [Qo(Fd sRami vuag .

i Y5 USI2ll / 23 Ugial Geurt A1 & 1 UYsd vl aduell o33 6.

iii. 215 uBunidl ol uEuni usd-l sed s 2ud 9, 5120 3 Ul s wEanidl ol uEuui
N 9.

iv. Uele d-l cusells 2000 A € 51281 5 d Add NASHI BeullBd i €.
(A) 1A (i) 24 (i) @)+ i) , (i) 21 (iv)
(C) WAt (i), (ii) A1 (iii) (D) B8 (i), (ii), (iii) 241 (iv)
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041. Idle time is
(A) Time spent by workers in factory
(B) Time spent by workers in office
.Time spent by workers off their work

(D) Time spent by workers on their job

042. Directors remuneration and expenses form a part of
(A) Production overhead .Administration overhead

(C) Selling overhead (D) Distribution overhead

043. Which of the following statements are incorrect?
i. Total cost = Prime cost + All indirect costs -
ii. Closing stock of work-in-progress should be valued on the basis of prime cost
iii. Closing stock of finished goods should be valued on the basis of cost of sales
iv. Production cost includes only direct costs related to the production
(A) Only (i) and (ii) .Only (ii), (iii) and (iv)
(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

044. Job cost accounting is followed in which types of manufacturing organisations?
i. Jobbing concerns
ii. Small firms
iii. Large enterprises manufacturing a variety of products
(A) Only (i) and (ii) (B) Only (ii) and (iii)
(C) Only (i) and (iii) .All (i), (ii) and (iii)

045. With respect to Process Costing, which of the following statements are correct?
i. Losses are not segregated into normal and abnormal loss
ii. Joint products/By-products do arise and joint cost apportionment is necessary

iii. Transfer of costs from one process to another is made, as the product moves from one process

to another
iv. Products lose their individual identity as they are manufactured in a continuous flow
(A) Only (i) and (ii) .Only (ii), (iii) and (iv)
(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)
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046.

047.

048.

049.

Daumiddl 54/ sunQun / [Qal a0 / e 697?

i Aluid usa urald yoror Ugia-dl usdui malis usd anl R ulavia-l axda a6,
i, A4 UsdR utkld 2 AlHid usd utald ad-l asiad Aldd vl 2121 deeini 9.
iii. [Ra2 A Yedl usaz (U3 si2) a3 a@umi »ud 8.

iv. (A W 254 gls RuR 8 8.

(A) WA (i) 24 (i) @)+t (i) 211 (iv)

(C) WA (i) &A1 (iii) (D) &8 (i), (i), (iii) 241 (iv)

AAuHiefl 53 / sun [Qanq [ [Qeunl ) / 0 87?

-

i, A5 A [Quad 2 smeRid 3sadami 2udal wavie auaddl BHlBid usd 8 g W2 daizl
AU SIRUAR S14 5Y .

i, HogR w2 [Auar 2 wAviR HYIL A i WHRL YRl Wl a2l dslad 6.

jii. AR M B2 [Qadaq 21 [@Qlay usiz- siuria-l Gualell (oL €9 % uHUBLd, [l 243 Gaug Al
autdl [Qlay usizAl amall- wv: M a1 asiadHidl Gemd .

iv. A s [Qaan 21 urd Genga-dl uHlBid ugd: 244 quddl aunHAdl- o wwR o2l
A2l d51ad 89, % 2154 €16 WHIRLA GulRd U219 [(BHd glL dRusIR saHi 2ud 8.

(A) 1A (i) 24 (i) (B) WA (ii) , (iii) 21 (iv)

@) (i), Gi) 21 (i) (D) 8L (i), (i), (i) 2t (iv)

auniddl su siRRiUR gru-2uaRd 2ielrust 2 uRulasioid elpust sdl ay 1 97

i d AAasin [Qrdar WA A [Qedue uel [@lay naltiil e -l sinasll sa-ll as 2ud 6.
i, A LS AR UMM 2 dA §R SUHT AALA5i HEE 43 9.

jii. d 51404 vigluan siulz Gaoul e A3 Anasiq ylaw 200 8.

iv. d 8qil g1t Auanell cuqreuurda-l 22gzud-l yla 2 ©.

(A) 1A (i) 24 (i) (B) A (i) , (iii) 211 (iv)

(C) WA (i), (i) 2AA (iii) @ereu i), (i), (i) 24 (iv)

A2-umiofl suid Aaadla (el ueald-n yra 6aa/Gaeul dls owaiuni 2ud 97

i 2uAler 2 (el danri Guaial W eudly, udd 2 2 Aissiéla Wl dl e duasiq [Qadl
yl izl

i, 2% [Aseu 58] s2a1 12 dsleus asiqu usudla ulRenHi-l 2Rl 530 Aaasi 2ud sdl.
jii. dadl s weudla ugltiziid 2099 Adl ugau- dlo-usily 3uidwe 54,

iv. 2511l AUAR 51y, Hiur 214 RuillZon.

(A) Wt (i) 21 (i) (B) A (i) , (iii) 211 (iv)

(C) WA (i), (i) 2 (i) @) (i), (i), (i) 24 (iv)
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048.

049.

i. The cost of a product under marginal costing system includes Prime cost plus fixed overhead

Which of the following statements are correct?

ii. The difference between absorption costing and marginal costing is in regard to the treatment of
Variable overhead

iii. Fixed costs are treated as Period costs

iv. Variable cost remains fixed per unit

(A) Only (i) and (ii) .Only (iii) and (iv)

(C) Only (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

Which of the following statements are correct?

i. Idle time variance is the standard cost of actual time paid to workers for which they have not
worked due to abnormal reasons

ii. Labour cost variance is the difference between the actual labour costs and the standard labour
costs

iii. Material mix variance is that part of material usage variance which arises from the difference
between the standard mix and actual mix of different types of materials used in production

iv. Material mix variance is the difference between the standard cost of production achieved and
the actual total quantity of materials used, multiplied by the standard weighted average price
per unit

(A) Only (i) and (ii) (B) Only (ii), (iii) and (iv)
@ only (), (i) and (ii) (D) Al (i), (ii), (iii) and (iv)

Zero-based budgeting is better than traditional budgeting due to which of the following reasons?

i. It gives an opportunity for the management to allocate resources to various activities after a
detailed cost-benefit analysis

ii. It helps the management to identify wasteful expenditure and eliminate them

iii. It also facilitates the management in linking the functional budgets with corporate objectives
iv. It facilitates introduction of a system of Management by Objectives (MBO)

(A) Only (i) and (ii) (B) Only (ii), (iii) and (iv)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

Which of the following are regarded as the main objectives of management accounting?

i. Providing management with accounting, costing and other statistical data for use in planning
and decision-making

ii. Computing and presenting to the management the financial results of alternative courses of
action to decide on the best alternative

iii. Translating the management plans covering all financial activities of business
iv. Measuring and reporting on the effectiveness of the enterprise

(A) Only (i) and (ii) (B) Only (ii), (iii) and (iv)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)
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050.

051.

052.

053.

054.

05S.

D2-umiel suA ugl oRiaR adls i »ud 97?
(A) -S54l dpeitr B) ¥l BralRa
©)-21s aane: geiar (D) 510 4514l 9pRilR

il sid eisior 3lid dgls oviaumi sud 97

i. daurl sielluidl edisin

ii. 5105131 YA g2usy

iii. Ra2 Rasdid dae

iv. 248l o812 wisdl

(A) 1A (i) 21 (i) (B) WA (i) , (iii) 241 (iv)
(C) WA (i), (i) 2 (i) @) (i), Gi), Gii) 241 iv)
Dauniddl sy Q- vl 97

(A) 53 NAsUAs 6 st AR Alvil a2y Assl Raldui $:812 sald 9.
(B) 253 Nasuss HuEaldnL 53 2u8Rd caqan v 2uaRd 9.

-\

©)ueudlu Redua-n aq a3 A58 nasuss diewdnouqi [@Qedua 214 A58 2wl W2 ay
Guuwoll ©9.

(D) A58 NAUUAS 511{1E, A58 21 ARnSl Nl AEHHT A5 2098 21 Aas RAHE A
AUR SUHL 2ud 69,

oftrRl (12241 yawRl) [Qdus, 2014 1 .......... LAY R Auld HFHIEL W 2y 244 v{RL
(10141 YauRl) AU, 2016 t1=ul, BR HIRART GSTA ALY S HRL HsML sul.

(A) 14l 2[4, 2016 (B) 14l s, 2016

©)5: w2012, 2016 @) 1l s, 2017

58U ..., Hoyor, GST ayad-ll Ut AUE duer €35 AUl [Aarusun 2uuani 2udl €.

(A) 245A ®)246A (C) 247A (D) 251A

GST ayaa-il Arit-u AoiaHi, NA-umisdl s3/sa [Qaqy/fQa-i w2/ 872

i. CGST — MIRarll 3% U1 IR HA3UHL 214 6,

ii. IGST — A% USIRU GIRL A3AUHL 20 69,

jii. SGST — bilfd AU ASIRA g1 A3UH] 214 .

iv. UTGST — MIRerll 5% U512 g1 83l 2udd 6.

(A) WA (i) 2 (i) @) (i), Gii) 21 (iv)
(C) ML (i), (ii) 2 (i) (D) 8L (i), (i), (iii) 2 (iv)
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052.

053.

054.

05S.

Which of the following is regarded as activity ratio?
(A) Debt Equity Ratio (B) Capital Gearing
.Inventory Turnover Ratio (D) Operating Profit Ratio

Which of the following are regarded as Sources of Funds?

i. Funds from business operations

ii. Decrease in working capital

iii. Sale of fixed assets

iv. Issue of share capital

(A) Only (i) and (ii) (B) Only (i), (iii) and (iv)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

Which of the following statements is incorrect?
(A) Cash Flow Statement reveals the changes in cash position between two balance sheet dates
(B) Cash Flow Statement is based on cash basis of accounting

.Cash Flow Statement as a tool of financial analysis is more useful for long-term analysis and
cash planning

(D) Cash Flow Statement is prepared by taking into consideration the inflows and outflows in
terms of operating, investing and financing activities

Constitution (122nd Amendment) Bill, 2014 received the assent of the President of India on
and became Constitution (101st Amendment) Act, 2016, which paved the way for introduction of
GST in India.

(A) 1** April, 2016 (B) 1+ July, 2016

.8"‘ September, 2016 (D) 1%t July, 2017

As per Article , the power to levy GST has been given to the Parliament as well as to
Legislature of every State.

(A) 245A B)246A

(C) 247A (D) 251A

In relation with the power to levy GST, which of the following statements are correct?
i. CGST - enacted by Central Government of India

ii. IGST — enacted by State Governments

iii. SGST — enacted by respective State Governments

iv. UTGST - enacted by Central Government of India

(A) Only (i) and (ii) .Only (i), (iii) and (iv)

(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)
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056.

057.

058.

059.

060.

g, 2 Adl 52 (GST) Aetu DA-umiedl 54/ su1 [Qeun / [l 2 / i 697
i. GST 2 AL 21a1 Aal 224l bid U Yeualtd sayaid .

ii. GST 4 dldeu-2181Rd Ayl 42 9.

iii. GST 25 3(32-1l 2uus 11 Udd Yo 2ud 8.

iv. GST $3-1l 5123301 w121 ond) v 69,

(A) H=A (i) 2 (i) (B) 1A (i), (i) 2 (iv)
@) (i), (i) 21 (i) (D) 8L (i), (i), (iii) 2 (iv)
DAHidl a1 GST -l $1UEL A5 dateumi 2ud 87?

i s A, s s,

i, 215 WA LiAAL URAE 52 FH 5 d2, CST, uldx 254 QR §2 2l

-
.

i, 531 51250301 21121 £2 53l 2U2d & 52 UL 52 g2 sl
iv. AUUIR sl ANAIHL AR,

(A) H= (i) 2 (i) (B) H1A (i), (ii) 2 (iv)
(C) HA (i), (i) @A (i) @ereu i), (i), (i) 241 (iv)
Dauniddl sy Qi a0 97

@)GST 33 217 5123012 A%U AR AHA CURAH] AHAH] B,

(B) GST %34 21 519412 A%UA 6UE Sl AHA HIRAHD AHAHL 8.
(C) GST MIRd-ll A3 [Ae1R YHl o v1aHi 6.

(D) GST &uRe-it AfleL (AR Yl o AHani 6.

AAuHiefl 53 / s [Qanq / [Qeunl ) / 0 8972

[Qar-1: ¢k (G-22Au2) (Dual GST) HI3A AU, 9 UL S5 i A%UL GIRL HsAE 5 AEAH]
14 69,

[Qu-2: o [Qaaen [ S=al@d Sl glRL 53U HIA 5 AL AHAAAL Gl AldR-ABY
Y2asl U UTGST ayauii 20d 8 214 2sBid saumi »ud 8.

(A) A [Qsn-1 g .
(B) WA [Qain-2 1y 6.
©)as-1 24 [Qr-2 oid 8.
(D) [Qtu-1 244, [Qn-2 oiq wiaL 89,

3[61n2 g1R1 A3 23 AldA 25U H2as (GSTN) A U515 visHUL 3uidRd a1 58 vl [Qauen a8?
(A) 14 geusS, 2017 (B) 84l yenss, 2017
(C) 154 22, 2018 )26+ 2212, 2018
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056. With respect to Goods and Services Tax (GST) which of the following statements are correct?
i. GST is a value added tax levy on sale or service or both
ii. GST is a destination-based consumption tax
iii. GST offers comprehensive and continuous chain of tax credit
iv. GST preserves cascading effect of tax
(A) Only (i) and (iii) (B) Only (i), (ii) and (iv)
.Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

057. Which of the following are regarded as advantages of GST?
i. One Nation One Tax
ii. Removal of bundled indirect taxes such as VAT, CST, Service tax etc.

iii. Removal of cascading effect of taxes i.e. removes tax on tax

iv. Increased ease of doing business
(A) Only (i) and (iii) (B) Only (i), (ii) and (iv)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

058. Which of the following statements is correct?
.GST extends to whole of India including the State of Jammu and Kashmir
(B) GST extends to whole of India excluding the State of Jammu and Kashmir
(C) GST extends only to urban cities of India
(D) GST extends only to rural cities of India

059. Which of the following statements are correct?

Statement-1: India adopted a dual GST where tax is imposed concurrently by the Centre and
States

Statement-2: UTGST levied and collected by Union Territories without State Legislatures, on
intra-state supplies of taxable goods or services or both

(A) Only statement-1 is correct
(B) Only statement-2 is correct
.Both statement-1 and statement-2 are correct

(D) Both statement-1 and statement-2 are incorrect

060. Cabinet considered converting Goods and Services Tax Network (GSTN) to government entity on

(A) 1 July, 2017 (B) 8" July, 2017
(C) 15" August, 2018 .26“" September, 2018
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062.

063.

064.

06S.

066.

aURdL siERRAl L......... Horor, MuRArL ArUldA 234 His AlduA 254 (GST) s16[R1a-l -1 sa-)
AL 2l 20l 69,

@)san 2794 (B) 544 280A

(C) s 281A (D) $4H 283A

AAuHiefl 53 / sun [Qanq / Qe ) / e 897?

i GURAL AUl 154 023012, 201641 A% GST $16[Rae-l a0 s34,

ii. GST $18[raaul 24848 d<ls AU WRUHA-AL AHIA 8L,

jii. GST $18[R1A 5v% ARSI 7 AU USRI $EA 2i0 (Bl sl 69,

iv. GST $16[R1& 5% USIR 1 A%U ARSI A2ALES HALEL 29 (armel sauxl 69,
(A) "= (i) 21 (i) @) (i), i) 21 (iv)

(C) WA (i), (ii) 2 (i) (D) &4 (i), (ii), (iii) 241 (iv)

ag, A Al 52 51481 2017 -l 544 2(107) Hartt, “sua UlBa” A nd W ©: A Ald 5% ..........
Q601 AlHAA naal U4ell s2a W2 AAAER 8 (M2d 5 A 2-ziar gaies Halell ay Siu dl -l
o33 & AdiR) A saU 24 (¥2d 3 52A%Ud GST 861 Aluell).

(A) 544 20 B)san 22 (C) 544 23 (D) 544 25

AAHil s CGST 2152, 2017 sa4 7(1)(a) 860 YASIL AU dZL5 dARAAUHT 214 97

i A ii. $v1ed iiii. g (barter) iv. QR

(A) H=A (i) 2 (i) (B) A (i), (iii) 241 (iv)

(C) WA (i), (ii) A1 (iii) @ereu i), (i), (i) 24 (iv)

A& g sHARA bl anui Heui .......... ol ay - Sl ddl Mz W vaal Al A vidHl
Ay aul Al

(A) 3. 10,000 (B) 3. 20,000 (C) 3. 30,000 ®)3. 50,000

(R enun e e, DA-umisll s34 / s (Qan / @l 2 / 2 97

[Qan-1: Rs wenani 215 o Bud W2 AR 2 Azl o a0 ay Albdod aweadg
AUl

[Qaun-2: 52 gaanelu g We, ol 5 ddl ay A diadl Mgt aenun d aegu 2wy 493 owiami
2192 B 52 €2 Alefl el Sl

@) Q-1 03 8.

(B) WiaL (A2 0y 8.

(C) [Qtu-1 241 (A2 oiq 01 69,

(D) (a1 241 [Qtun-2 oid wiarL 69,
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066.

As per of the Constitution of India, the President of India is empowered to constitute
Goods and Services Tax Council.

@)Article 2794 (B) Article 280A

(C) Article 281A (D) Article 283A

Which of the following statements are correct?
i. The President of India constituted the GST Council on 15th September, 2016
ii. The GST Council shall consist of State Finance Minister as a Chairperson

iii. GST Council is to make recommendations to the Central Government and the State
Governments on tax rates

iv. GST Councilis to make recommendations to the Central Government and the State Governments
on threshold limits

(A) Only (i) and (iii) @) only (i), i) and (iv)

(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

According to Section 2(107) of the GST Act 2017, “taxable person” means: A person who is
registered or liable to be registered under (i.e. registration required if turnover exceeds
threshold limit and so on) or Section 24 (i.e. Compulsory registration under GST).

(A) Section 20 @)section 22

(C) Section 23 (D) Section 25

Which of the following are regarded as forms of supply under Section 7(1)(a) of CGST Act, 2017?

i. sale ii. transfer iii. barter iv. exchange

(A) Only (i) and (iii) (B) Only (i), (iii) and (iv)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

Gift not exceeding in value in a financial year by an employer to employee shall not
constitute supply of goods or services or both.

(A) Rs. 10,000 (B) Rs. 20,000

(C) Rs. 30,000 @)Rs. 50,000

With respect to Mixed supply, which of the following statements is correct?

Statement-1: In Mixed supply two or more individual supplies combination of goods or services
with each other for a single price

Statement-2: For tax liability purpose, mixed supply consisting of two or more supplies shall be
treated as a supply of that item which has the lowest tax rate

.Only statement-1 is correct
(B) Only statement-2 is correct
(C) Both statement-1 and statement-2 are correct

(D) Both statement-1 and statement-2 are incorrect
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067.

068.

069.

070.

071.

LS AL A7 A [Bedl-Hod azd Bsdl Al Hud AR 22 v -ud Hid Yl wdl sdl.
[Bedlui vR515 241 AHIA LS SAHL 204 6. Hia-l A i, 254 aydaL 0 kL.

@)rua-u e 20 Beadl § 217 A~uS-u (. <A IGST Ysadl w2 AAGER B,
(B) HlA-lL A 220 A~ € o S (A, <Al IGST Ysadl e SR 6.
(C) Huarl At a0 HoS & 2 A-wS- [, A’ IGST Ysadl e FAelR .
(D) Hierll A, a0 el 8 2 A~uS-u [, <A UTGST ysadl 2 gasier 8.

-\

Houd vid Rad eudlu (332 214 6l (BCCI) TPL HA W2 2 Rl daa 52 6, 2 Auls

A~
Y A\

22[3uH, A0S vid AlNd. A5, 2id Y vid H2A M B, HAAHAH] Sd-2Hi U 214 254 ayacu-l
Al A 2an i?

@)A1 yras1 20 4 B 20 BCCI 21 CGST 247 SGST 3sdal 12 SAULER .
(B) Al YyRastg A0 A~ € 21l BCCI 2 CGST i1l SGST Ysadl W2 YAUGEIR 6.
(C) At Yaslg 20 A~ 8 214 BCCI 3L IGST YsaAl HI UHER 8.

(D) Al Yaslg 20 {1 8 214 BCCI 3L UTGST Ysadl W2 YAUGER 6.

AA-uHiell 53 / s Qe / [Qeunl ) / 0 8972

i 5aH 4 2L AW 564 8 A1 d 2uasaR swerl 55 ©.

i 251260 Ay 2124 €2 a¥ 1el 2=ABaru [Bad 23 adl 12 H&-u-l anouml,

i, Wiega il s YEUis sAUMT 2D € 21 ded % UG- 2u5160 avHi sWA 8.
iv. weod al 2424 2usiell an ugld dd o Awusly aul.

@) i) 214 Gi) (B) WA (i) , (iii) 241 (iv)

(C) WA (i), (i) 2 (i) (D) BL4L (i), (i), (i) 21 (iv)

2ua5dU HIRL, 1961 44 2(31) 601 Ul3arAl cavur-i Aeein, DA-uniddl sy [Qan vilg 97

(A) HDFC 61 [A23 su-ll al3 awaicnsi 2ud 69,

(B) 2l AR o127 Ul d)S duRcnmi 2ud €.

(©) sasi YRARAA 25 Arirt 2Asm a3 a@iami 2ud 8.

(D) 2l AMAAL Y5 uRar, NHdl A4 214 UL Yo ad 24 A [€g 2UAMsd g8e1 (HUF) adls
ARAUML 2014 €9,

U592 HIRL, 1961 8601 wuas <)L carwu-l Aeiau DA-uniddl s34/ sun [Qanq / Q- ) / uad 97
i 2UA5 A53HE AL ASS AHsaHidl ura ad a3 9.

ii. Al3a il 0 aaeRHidl st 530 asdl 4.

iii. 28 20 oA 2291 s1aHl WAauid] €IS as o,

iv. SIUEL L SIUBUR 3 IRJIULAUR 2UAS AR SIS 35 Wdl ).

(A) 1A (i) 24 (i) (B) WA (i) , (iii) 241 (iv)

(C) WA (i), (i) 2 (iii) @ereu (i), (i), (i) 24 (iv)
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067.

068.

069.

070.

071.

Mr. C of Chennai supplied goods to M/s Sour Jet Airlines of Chennai flying between
Delhi-Mumbai. The goods are loaded in the aircraft in Delhi. Find the place of supply of goods
and levy of tax.

.Place of supply of goods is Delhi and Mr. C of Chennai is liable to pay IGST
(B) Place of supply of goods is Chennai and Mr. C of Chennai is liable to pay IGST
(C) Place of supply of goods is Mumbai and Mr. C of Chennai is liable to pay IGST
(D) Place of supply of goods is Delhi and Mr. C of Chennai is liable to pay UTGST

Board of Control for Cricket in India (BCCI) located in Mumbai, sold tickets online for IPL. match,
is going to conduct at Chepauk Stadium, Chennai. However, finally the match was conducted in
Mumbai. Find the place of supply of service of admission to sporting event and levy of tax.

.Place of supply of service is Mumbai and BCCI is liable to pay CGST and SGST
(B) Place of supply of service is Chennai and BCCI is liable to pay CGST and SGST
(C) Place of supply of service is Chennai and BCCI is liable to pay IGST

(D) Place of supply of service is Mumbai and BCCI is liable to pay UTGST

Which of the following statements are correct?
i. Sec. 4 is a charging section and it is the backbone of the Income Tax Act
ii. Assessment year means the period of 12 months commencing on the 1st day of April every year

iii. Income of a previous year is assessed and taxable in the immediately preceding Assessment
Year

iv. Previous Year means the financial year immediately following the Assessment Year

.Only (i) and (ii) (B) Only (i), (iii) and (iv)

(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

With respect to definition of PERSON under Section 2(31) of The Income Tax Act, 1961, which of
the following statements is incorrect?

(A) HDFC Bank Ltd is regarded as Company

(B) Mr. Amitabh Bachchan is regarded as Individual

.Calcutta University is regarded as Local authority

(D) A joint family of Sri Ram, Smt. Ram and their son Lav and Kush is regarded as HUF

Which of the following statements are correct in relation to definition of ‘Income’ under The
Income Tax Act, 1961?

i. Income may be received in cash or in kind

ii. A person cannot make profit out of transaction with himself

iii. Income may be from a temporary source or from a permanent source
iv. The Act does not make any difference between legal or illegal income
(A) Only (i) and (ii) (B) Only (i), (iii) and (iv)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)
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072.

073.

074.

075.

076.

077.

078.

N

245420 HIRL, 1961 86U, §E HUAS UR ARAAUH] 2UAdL 521 4D5L ... Yl AG= s s AL,
(A)3.1 @)3. 10 (C) 3.50 (D) 3. 100

.......... 21 [Ad8 Yl3d, suld, £92 24 AL G121 SIUAEL GIRALYRA WSUHT 2UAQ HYLL QLM ASA 52 FAUAEIR)
g213al-l 5 1oL 69,

@)= udios (B) 5214

(C) 5 A2l (D) $+l 842-uil (Tax Incidence)

RURAHE 8 URA YU Rlovrt-u (BRumi, 2usiell an 2022-23 e ... A e 2uas 12 gru s+
€ 6.

(A) 3. 2,50,000 (B) 3. 3,00,000 (C) 3. 3,50,000 ). 5,00,000

usRell aul 2022-23 |2, 2iasAR HIRL, 1961 L sau 87A Ssu €92 1A Ul w2 Guasy € o
2us6llHl g 2uas ... dl ay - i

(A) 3. 2,50,000 B) 3. 3,00,000 (©) 3. 3,50,000 .Q. 5,00,000

AAuHiefl 53 / sun[Qanq [ [Qeunl ) / 0 8972

i, AL € YU 69 A SA 2UAS 3. 50 cuv Al Ay A Sl

i, AU € 5271 10% 8, A §& 2UAS 3. 50 v Ay ud 3. 1 532 ay .
i, A €2 57U 20% €9, A §& A 3. 1 52A3 Ay 8 ug 3. 3 532l ay e,
iv. ARAA U €2 52U 30% €9, % $A a5 3. 3 5213 AY 8 ug 3. 6 53¢l ay -dl.

@) i) 214 (i) (B) WA (iiil) 241 (iv)
(C) WA (i) A (i) (D) WA (i) 21 (iv)
usiell aul 2022-23 Hi2, 2014 1 (g Bus (AA1Y) ......... 6.

(A) AR UL 52 AN @2% AHIH 251280 UR QL)
(B) u201% gl 52 FUGERU @3 % dHIH 25180 U @y
(€)% Ul 52 FUAEIRU @4% drm 2usiell uR Q)
(D) A% UL 52 AAAEIRA @5% AHIH 2151280 UR QL)

Daluniddl 54/ sun Qs / [Qanil 0 / e 697

i 5261l 861l €20 -l puasHl aygeud-l wad 158l 52 ©.

ii. A3 WAl 1S AssA 208 UR $2 AHi 2099 5 ], d AHiL SR E%% UR VIR AV 8.
iiii. €35 WAL AL AEHHE 81U €% 154 s 204 9,

iv. 215 Al5d 215 52l ay SAHT AHIA W SR %A 4R1dl A5 6.

@ereu (i), (i), (i) 24 (iv) (B) {12t (i) A (iii)

(C) HA (i) ¥A (iv) (D) HAA (i), (iii) 241 (iv)
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072.

073.

074.

07s.

076.

077.

078.

Under The Income Tax Act, 1961, the tax calculated on the total income should be rounded off to
the nearest

(A)Re. 1 @)rs. 10 (C) Rs. 50 (D) Rs. 100

is a way to reduce tax liability by taking full advantages provided by the Act through
various exemptions, deductions, rebates & relief.

.Tax planning (B) Tax evasion (C) Tax avoidance (D) Tax incidence

In case of super citizen who is resident in India, rate of tax is Nil for Total income upto for
the Assessment Year 2022-23

(A) Rs. 2,50,000 (B) Rs. 3,00,000

(C) Rs. 3,50,000 ®)Rs. 5,00,000

For Assessment Year 2022-23, Rebate under Section 87A of The Income Tax Act, 1961 is available
to resident individual if the Total income of the assessee does not exceed

(A) Rs. 2,50,000 (B) Rs. 3,00,000 (C) Rs. 3,50,000 @)Rs. 5,00,000

Which of the following statements are correct?
i. Rate of surcharge is Nil if Total income does not exceed Rs. 50 Lakhs

ii. Rate of surcharge is 10% of Tax, if Total income exceeds Rs. 50 Lakhs but does not exceed
Rs. 1 crore

iii. Rate of surcharge is 20% of Tax, if Total income exceeds Rs. 1 crore but does not exceed
Rs. 3 crore

iv. Rate of surcharge is 30% of Tax, if Total income exceeds Rs. 3 crore but does not exceed
Rs. 6 crore

@ only (i) and (i) (B) Only (iii) and (iv)
(C) Only (i) and (iii) (D) Only (ii) and (iv)

For Assessment Year 2022-23, Health & Education Cess is .
(A) Applicable on all assessees @2% of Tax liability after Surcharge
(B) Applicable on all assessees @3% of Tax liability after Surcharge
.Applicable on all assessees @4% of Tax liability after Surcharge
(D) Applicable on all assessees @5% of Tax liability after Surcharge

Which of the following statements are correct?
i. Residential status of an assessee determines the scope of chargeability of his income

ii. Whether a person will be charged to a particular income or not, depends on his residential
status

iii. Residential status is determined in respect of each previous year

iv. A person can have same residential status in more than one country
.All (i), (ii), (iii) and (iv) (B) Only (i) and (iii)

(C) Only (i) and (iv) (D) Only (ii), (iii) and (iv)
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079.

080.

081.

082.

083.

Aumiddl sy “uour” A odinls Ssnll 2uas dadls Aypiugl swA 9?2

i s[han ii. ol iii. Hiaal Mey iv. A8 ANAR MeY
@ereu (i), (i), (i) 247 (iv) (B) "= (i) 241 (i)
(C) HAA (i) 241 (iv) (D) H1AA (i), (iii) 241 (iv)

A1 Resa-l vuasl oamidl saiu doiami DAunied 53 / salQn /[l iy / i 92

[Qan-1: airdlds W euqui dlan @ dum W (R Qadl i v ey @) iseiu
A5 MIRL, 1961 saH 24(a) 8601 Alven Alls YL 30% UHUBLA sULd dZ]S HI=d 69,

[Qtun-2:  orui Alvof culils Heu QL vaU Yru 1Y, AL 2UASARU WIRL, 196141 24(a) 8601 UHUBIA SUld
Guaoy .

@)lasi-1 27 [Qan-2 oid 8.
(B) [Qann-1 24 [An-2 oid viier 9.
(C) Wt [Asun-1 3y 9.

(D) A=A [Qtu-2 g 9.

AUHUAR BARIA .......... W2 2010 atudl asd 9 24 2uselHl sidua 2uas (usRus 2uas w4
WaUR Ran) 0 Ae s asiu 6.

(A) 4 (B) 6 2l

(C) 8 () SIEIERER )

AwRusla Ayl 2021-22 M2 WA S2UAlAL YASIS .......... 8.

(A) 280 (B) 289

(C) 301 ®)317

Dalumiddl sy/sa Qa2 97?
i alonono el gsAimq W Qion duou-L YsL H Hizaun 53 asi 8.

ii. g6 dlgizil vl 214 gnaa-l uglini 28¢ st $5d 2udl ualadl 2uas 049 o
Higawn s3 asu 8.

iii. 2otlauiddl adl vile, 2l 2uas 35 B 544 10 S50 Y3 69, d SiSURL 2uas A0 Higan 530 A5 S,
iv. dleduigdl @da 4 518 vite 53 asidl 9l
(A) B (i), (i), (i) 21 (iv) @) i), (i) 217 (iv)

(C) HAA (i) 241 (iv) (D) HAA (i), (iii) 241 (iv)
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080.

081.

082.

083.

Which of the following are fully taxable as Income under head “Salaries”?

i. Commission ii. Bonus

iii. Dearness Allowance iv. City Compensatory Allowance
.All (i), (ii), (iii) and (iv) (B) Only (i) and (ii)

(C) Only (ii) and (iv) (D) Only (ii), (iii) and (iv)

Which of the following statements are correct in relation to calculating Income from House
Property?

Statement-1: 30% of the net annual value is allowed as standard deduction u/s 24(a) of The
Income Tax Act, 1961, in respect of all expenditures (other than interest on

borrowed capital) irrespective of the actual expenditure incurred

Statement-2: Where net annual value is negative or zero, standard deduction u/s 24(a) of The

Income Tax Act, 1961, is not available
.Both Statement-1 and Statement-2 are correct
(B) Both Statement-1 and Statement-2 are incorrect
(C) Only statement-1 is correct

(D) Only statement-2 is correct

Unabsorbed depreciation can be carried forward for and can be set off against any income

(except with Casual income and Salaries) of the assessee.
(A) 4 years (B) 6 years
(C) 8 years .indeﬁnite period

Cost inflation index for the financial year 2021-22 is
(A) 280 (B) 289
(C) 301 ®)317

Which of the following statements are correct?
i. Long-term capital loss can be set off only against long-term capital gain

ii. Loss incurred in activity of owning and maintaining race horses can be set off against income

from such activity only
iii. Loss from a source, income of which is exempt u/s 10, can be set off against any income
iv. No loss can be set off against winning from lotteries
(A) All (i), (ii), (iii) and (iv) .Only (i), (ii) and (iv)
(C) Only (ii) and (iv) (D) Only (ii), (iii) and (iv)
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084.

08sS.

086.

087.

088.

sa 2nasHidll suia- Aeud, DA-unidl 53/ s Qs / [l ) / il 97
i. LIC Ml[3uy, PF 4i 12181 Q213+ A£&{H 80C 861 sULd.

ji. Urglrl §3ui ARSI ALMUL 80CCC 861 SuLd.

iii. dollofl dlau MlRHAL A HHE SOE 8601 sUid.

iv. 9Al325 gl wLlEl Aeriui SOEEG 860 sUld.

(A) 48 (i), (ii), (iii) 21 (iv) @)+ i) 21 i

(C) WA (i) A (iv) (D) WA (i), (iii) 241 (iv)

.......... A AlFaztl 2 (g 2xlAmsd 5501 (HUF) W2 8 il siduat Hildsl 8sn Hul A8 caqui
yeadl -l

(A)ITR - 1 @®)1TR -2

(C)ITR - 4 (D) ITR-6

uas ded Madl Rad alv 5§ 8 ol st (Guelleil Ul cuollerl ulda) sidandla
UABIR (AUASIRL) AL $14 3CEB 860121l 92EHI Al 29 sl 933 87

(A) 3130 e (B) 3131 2412122

(C) 31: 5212 @)30+1 12

UASARA HIRL 1961 L 54 234H 861, i 518 Ald [RalRd alvl 21241 d uddl d-il 2uHR o1
L ML [ren ou 69, di d geudd dlul uesl yasit 2uudl avid, [RailRd sami 2uddl 2udl 4,
.......... dl ay dl ygaal v FUHEIR QL.

@)3. 1,000 (B) 3. 2,000
(C) 3. 5,000 (D) 3. 10,000

Daumiddl 54/ sun Qs / [Qanl i / e 697

Qat-1: wals WA 21 S8 AssA Aldd 212 AR gL wals wliduidl wdrn Guaio w2
A5 saml 2uda wladl .

[Qaur-2: Sl HUlRdl A 518 2 UlSd 2iaal AL G121 AL Uidirl Guaiol 12 As[Ad srami »uda
HURd & ug durAsdl ual d- d-u GuaioL w2 Had 8.

@)asin-1 247 [Qa-2 oid 8.
(B) [At-1 21 [Qaun-2 oid vie .
(C) Wt [asun-1 3y 6.
(D) HA [Qan-2 3 .

[BEG-2] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


084. With respect to Deduction from total income, which of the following statements are correct?
i. Deduction u/s 80C in respect of LIC Premium, Contributions to PF, etc.
ii. Deduction u/s 80CCC in respect of Contribution to Pension Fund
iii. Deduction u/s 80K in respect of Medical Insurance Premium

iv. Deduction u/s S0EEG in respect of Purchase of Electric Vehicle

(A) All (i), (ii), (iii) and (iv) .Only (i) and (ii)
(C) Only (ii) and (iv) (D) Only (ii), (iii) and (iv)
08S. is for Individuals and HUFs not carrying out business or profession under any
proprietorship.
(A) ITR-1 @®)1TR-2
(C) ITR-4 (D) ITR-6

086. What is the due date of filing the return on income where the assessee (including the partners

of the firm) is required to furnish a report in Form 3CEB u/s 92E pertaining to international

transaction(s)?
(A) 31 July (B) 31 August
(C) 31% October )30 November

087. Under Section 234H of The Income Tax Act, 1961, where a person fails to intimate his aadhaar

number on or before prescribed date, he shall be liable to pay such fee, as may be prescribed, not

exceeding , at the time of making intimation after the said date.
@)rs. 1,000 (B) Rs. 2,000
(C) Rs. 5,000 (D) Rs. 10,000

088. Which of the following statements are correct?

Statement-1: Primary Data is the data collected by a particular person or organization for his

own use from the primary source

Statement-2: Secondary data is the data collected by some other person or organization for their

own use but the investigator also gets it for his use
.Both Statement-1 and Statement-2 are correct
(B) Both Statement-1 and Statement-2 are incorrect
(C) Only statement-1 is correct

(D) Only statement-2 is correct
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089.

090.

091.

092.

093.

was WlRdl DaA-umidl 58 ugld g 2504 530 asa 9?
i. U A5l vadis

ii. wRla AL dwa

jii. 22AUAS AL 24 UAUAASIR L GIRL AHELA

iv. nauadl giat e dl

@ereu (i), (i), (i) 24 (iv) (B) WAL (i) 24X (i)

(C) ML (i) 211 (iv) (D) {1~ (i), (iii) 241 (iv)

R HURdl-i adll5al N8R AU dSlad] HFAR S1U 8, AR adfls2auA .......... SSAHL 20d 69,
(A) wuns llsw @) (Temporal) aolls@

(C) 22 ivit) (Spatial) a°lls21 (D) dRuens asllsw

A-umidl s sReiA Reel Al aasiHi Guaiol i 972

i. el Al Any 214 il oiad a8 as 9.

i, AR AU irid i, @en ueAl Siu R [Agel Al 2sHIsL 22l 8 8,

jii. 22 Ul A S50l argrl el Al uHida A 8 R [Reel Al visnist uieall 8 8.

iv. Reel ira Ad [Realddl suei-l 2810 siea 18 oirud 8 244 2un, ARl s2dls caldisaid
adldl Wl dl Anaaimi vee 2 69,

@ (i), (i), Gii) 24 (iv) (B) WAL (i) AR (if)

(C) HA (i) 241 (iv) (D) HAA (i), (iii) 241 (iv)

Aeiarirn AeelHi, NA-uniddl 53/ s Qs / [Qanl 2 / e 87?

(enn-1: R ae-udl Aena-i viseu [Ald sia, uR Acua-idl 2isidr 22840 1 seauni »ud 69,
[Qtn-2: €35 uldad 21s [Bad yey [AlRd © ddl Acua-ill Asiendl 1n .

@)asr-1 247 [Qa-2 6id 8.

(B) [At-1 21 [Qaun-2 oid vie .

(C) WA [Asun-1 2y 6.

(D) Hiot [Qsn-2 3 6.

(2(32 1 41 100 YN B. A ) {d s s04i 2ud © 214 [2[52 wiele9s {d dani 2ud ©. g 53
(2(52Hi 5 o612 iaal 54 oRis glardl Acuann sedl ©.

(A) 172 (B)1/3

©1/5 (D) 1/10
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090.

091.

092.

093.

The primary data can be collected by which of the following methods?

i. Direct personal observation

ii. Indirect oral investigation

iii. Estimates from the local sources and correspondence

iv. Data through questionnaires

.All (i), (ii), (iii) and (iv) (B) Only (i) and (ii)

(C) Only (ii) and (iv) (D) Only (ii), (iii) and (iv)
When the basis of classification of data is according to differences in time, the classification is
called .

(A) Quantitative Classification .Temporal Classification
(C) Spatial Classification (D) Qualitative Classification

Sampling is used in practice for which of the following reasons?

i. Sampling can save time and money

ii. Sampling remains the only way when population contains infinitely many members

iii. Sampling remains the only choice when a test involves the destruction of the item under study

iv. Sampling usually enables to estimate the sampling errors and, thus, assists in obtaining
information concerning some characteristic of the population

.All (i), (ii), (iii) and (iv) (B) Only (i) and (ii)
(C) Only (ii) and (iv) (D) Only (ii), (iii) and (iv)

With respect to Probability, which of the following statements are correct?

Statement-1: When the probability of an event is absolutely certain, the probability is said to be
unity or 1

Statement-2: Every person is certain to die one day hence the probability is equal to unity
.Both Statement-1 and Statement-2 are correct

(B) Both Statement-1 and Statement-2 are incorrect

(C) Only statement-1 is correct

(D) Only statement-2 is correct

Tickets are numbered from 1 to 100. They are well shuffled and a ticket is drawn at random. What
is the probability that the drawn ticket has a number 5 or a multiple of 5?

(A) 172 (B) 1/3
©)15 (D) 1/10
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094.

095.

096.

097.

098.

099.

Aol Aeedul, AA-unidl 54 / sun Qs / [Qal 0 / e 697
i o o A 25 o [Baumi 2000 a8 dl ALY Y- ALY s8I,
ii. oA oL 24 [Qg [Bouni 2000 af, dl usivid e slad ssau 8.

jii. 2UR WAL 6] AA SIU A d 6] A A A6IUAL VURULA SAUHL U, U d U0 ASALLAL 3. 69,

iv. A2 6L 520l Y A Sl 2 UL VA5 AQ S Y dHIH AL A4 Aol A0 530
oAy AsALiuAL 5U 6.

@ereu i), (i), (i) 24 (iv) (B) "= (i) 241 (i)

(C) H12A (i) AR (iv) (D) ML (i), (i) 2 (iv)
[Raddoinis g Ar........ Al 121012 Sl

(A)2 (B) -1 ©1 ®)o
IR QY HIS YASLS SHAWL ... a5 dami 2ud ¢,

A1 (B) 10 (C) 50 ®)100

sirgeAS B3 2516201 J21uid) 251620 Ruizd Rt sauui Ha uordizi-l $1 sul 697
i. Gaeul-ll carn

i, 8 aa ildx @3u 2uug

iii. 3216003 08 549 sl

iv. Adaiad W

(A) (i), (ii), (iii) A1 (iv) @) ), (iv), Gii) 21 (i)

(C) (i), (i), (iv) 1 (i) (D) (i), (i), (iv) 1 (i)

Dal-umiol 53 / sun Qe / Qe 00 / 2 97

[Atr-1: XBRL Al 218 8 ‘vise[una Brodu Rulla dodey’.

[Qaun-2: XBRL A Rl%¥2a [Biosin RullZor w2 tiun Sr22md 221m38 a3 awiaumi 2uag &l
(A) [@8nn-1 241 [Qtun-2 oid 0 69,

(B) [At-1 24 [Qaun-2 oid viier 69,

©) - Qa1 09 8.

(D) Hiot [Asn-2 3 6.

XBRL ¥ XML U2 208URd €. XML il 249 g €97
(A) ‘s [Rna nsqY Al

B) vis2[uoa suu dody’

(C) Vs [Fuo1a uell dxqy’

(D) ‘vis[Ruoa Ms[Axu ddde’

N

dl

d
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099.

With respect to Correlation, which of the following statements are correct?
i. If the two variables move in the same direction, the correlation is said to be positive
ii. If two variables move in opposite direction, the correlation is said to be inverse

iii. When there are only two variables and the relationship is studied between those two variables,
it is a case of simple correlation

iv. When there are more than two variables and we study the relationship between one variable
and all the other variables taken together then it is a case of multiple correlation

@A (i), Gi), (iii) and (iv) (B) Only (i) and (i)
(C) Only (ii) and (iv) (D) Only (i), (iii) and (iv)

The regression coefficients are zero if r is equal to
(A)2 (B) -1

©)1 ®o

Index number for the base year is always taken as .

Ay (B) 10 (©)50 .100

What is the series of steps involved in designing accounting reports from computerised accounting
data?

i. Definition of objectives

ii. Finalising the report

iii. Querying with the database

iv. Structure of the report

(A) (i), (ii), (iii) and (iv) .(i), (iv), (iii) and (ii)

(C) (i), (iii), (iv) and (i) (D) (iii), (ii), (iv) and (i)

Which of the following statements are correct?
Statement-1: XBRL stands for ‘eXtensible Business Reporting Language’

Statement-2: XBRL is not considered as the open international standard for digital business
reporting

(A) Both Statement-1 and Statement-2 are correct
(B) Both Statement-1 and Statement-2 are incorrect
.Only statement-1 is correct

(D) Only statement-2 is correct

XBRL is based on XML. What does XML stand for?
(A) ‘eXtensible Markup Legislation’

.‘eXtensible Markup Language’

(C) ‘eXtensible Machine Language’

(D) ‘eXtensible Mechanism Language’
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100.

101.

102.

103.

104.

(A) Any solution that also satisfies the non-negative restrictions of the general Linear Programming

With respect to Linear Programming, which of the following statement is incorrect?

Problem, is called a feasible solution

(B) A feasible solution to a general Linear Programming Problem which is also basic solution is
called a basic feasible solution

(C) Any basic feasible solution which optimize (maximize or minimize) the objective function of
a general Linear Programming Problem is called an optimal feasible solution to that Linear

Programming Problem

.Linear Programming takes into consideration the effect of time and uncertainty

Which one of the following statements is incorrect?

(A) A production cycle estimates the level of the working capital required by a firm.
(B) Hedging approach is more risky than the conservative approach.

(C) Depreciation is ignored while calculating net working capital.

.The net working capital is the ratio between fixed assets to total assets.

Which one of the following does not act as a limitation in dividend payments?
(A) Cash requirements (B) Limitations placed by creditors

.Macroeconomic constraints (D) Legal constraints

Which one of the following statements is correct?

.Wealth maximization is a criterion to be adopted in dividend policy
(B) State of capital market does not affect dividends

(C) Interim dividend is paid every year

(D) Cash dividends are paid out of accumulated profits

Consider the following two statements:

Statement (I): Leverages help firm to establish relationships between earnings, revenue as well as

the earnings per share of the shareholders.
Statement (II): Leverages are not useful in designing the capital structure of a firm.
With respect to the above given statements which one of the following alternatives is correct?
(A) Statement (I) is false but statement (II) is true
.Statement (I) is true but statement (II) is false
(C) Both the statements are true

(D) Both the statements are false
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105. Which one of the following statements is incorrect?
(A) Both operating leverage and financial leverage are interrelated
(B) Combined leverage is obtained by multiplying operating leverage and financial leverage
(C) Financial leverage shows the effect of EBIT on earnings per share
.If both operating leverage and financial leverage are high it means that the firm has very low
risk
106. Consider the following two statements:
Statement (I): Cost of capital is the basic data used for NPV calculations.
Statement (II): Financial risk is external to the firm.
With respect to the above given statements which one of the following alternatives is correct?
(A) Statement (I) is incorrect but statement (II) is correct -
(B) Both the statements are correct
.Statement (I) is correct but statement (IT) is incorrect

(D) Both the statements are incorrect

107. Which one of the following statements is incorrect?
(A) Retained earnings have implicit costs even if there are no explicit costs of retaining them

(B) Explicit costs are the discount rate, which equates the present value of cash inflows with cash

outflows
.The risk free interest rate is determined by the regulator appointed by the government

(D) Business risk in terms of cost of capital is analyzed as a risk, which is due to internal reasons

108. Which one of the following statements about capital budgeting is correct?
.In independent project, firm can select all feasible projects
(B) Payback technique is based on discounting technique
(C) Traditional techniques of capital budgeting use time value of money

(D) Sunk cost is a relevant cost in capital budgeting

109. Which one of the following is not a merit of Internal Rate of Return (IRR) technique?
(A) It takes time value of money into account
(B) It considers all cash flows
(C) It is in accordance with the wealth maximization principle

.It is biased towards small projects and gives importance to larger projects
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110.

111.

112.

113.

114.

115.

Which one of the following is not a modern technique of capital budgeting?

(A) Profitability Index (B) Net Present Value (NPV)

.Average Rate of Return (ARR) (D) Internal Rate of Return (IRR)

Which of the following is/are advantage(s) of using computers in accounting?
(A) to keep accounting record of big companies

(B) separate payroll accounting is possible

(C) automation of all financial accounts

.all of the above

Which one of the following is issued by registered foreign portfolio investors to overseas investors

who want to be part of the Indian stock market without registering themselves directly?

(A) Certificate of Deposit (B) Commercial Paper
(C) Promissory Note .Participatory Note

Consider the following statements regarding credit rating:

Statement (I): Credit rating helps in better decision-making of the lenders and investors.

Statement (II): Ministry of Finance is responsible for regulation of credit rating agencies in India.

With respect to the above given statements which one of the following alternatives is correct?

(A) Statement (I) is incorrect but statement (II) is correct
.Statement (D) is correct but statement (II) is incorrect
(C) Both the statements are incorrect

(D) Both the statements are correct

Which one of the following statements is incorrect?
(A) Controller of Capital Issues was the predecessor to SEBI
(B) SEBI is responsible for the regulation of mutual fund industry in India

.SEBI encourages insider trading to promote market efficiency

(D) SEBI is responsible for the regulation of commodity derivatives market in India

Which one of the following features is incorrect with respect to secondary capital market?

(A) Only existing shares are traded
.Only buying of securities takes place
(C) Major intermediaries in secondary market are brokers, jobbers, etc.

(D) The price of the securities is determined by demand and supply of the market
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116. Which one of the following statements best defines demand?
(A) Demand is desire for a commodity
(B) Demand is desire for a commodity backed by purchasing power
.Demand is desire for a commodity backed by purchasing power and willingness to spend
(D) Demand is desire for a commodity backed by purchasing power, willingness to spend and
availability of supply
117. Which one of the following is not an advantage/objective of demand forecasting?
(A) Helps in arranging for manpower
(B) Aids in deciding the level of production
(C) Helps in arranging for finance
.None of these

118. Consider the following two statements:

Statement (I): RBI has launched e-Rupee on a pilot basis.

Statement (II): Crypto currencies should be banned as they have the potential to decrease
effectiveness of monetary policy.

With respect to the above given statements which one of the following alternatives is correct?
(A) Both the statements are positive

.Statement (I) is positive and statement (II) is normative

(C) Statement (I) is normative and statement (II) is positive

(D) Both the statements are normative

119. Which one of the following describes a change in quantity demanded?
(A) Downward movement on the demand curve
(B) Upward movement on the demand curve

(C) Downward shift of the demand curve

®)Both (A) and (B)

120. Which one of the following statements is incorrect with respect to the law of demand?

(A) Law of demand expresses qualitative relationship between quantity demanded of a commodity
and its price

(B) Substitution effect and income effect explain the inverse relationship between demand and
price

.There are no exceptions to the law of demand

(D) Prestigious goods violate law of demand

121. Imposition of GST shifts the supply curve to which side?
(A) To the right @) 1o the left
(C) To the right as well as to the left (D) None of the above
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122. What will be the shape of supply curve if price elasticity of supply is zero?
(A) A horizontal straight line parallel to X-axis
.A vertical straight line parallel to Y-axis
(C) A straight line starting from Y-axis
(D) A straight line starting from X-axis

123. Where would one move in case of contraction of demand?
.From lower point to upper point on the same demand curve
(B) To right on the other demand curve
(C) From upper point to lower point on the same demand curve

(D) To left on the other demand curve

124. When we say that Economics is an art, what do we mean by it?

(A) Knowledge of economics helps in forecasting
(B) Knowledge of economics helps in establishing cause-effect relationship
(C) Economics has its own methods of verifying theories

.Knowledge of economics can be applied to solve real life economic problems

125. Which one of the statements is incorrect with respect to demand forecasting techniques?
(A) Quantitative techniques provide reasonably accurate forecasts
(B) Sales force opinion survey method is less costly
.There is no biasedness in expert opinion survey method

(D) Regression method uses complex calculations

126. Which one of the following statements is incorrect?
(A) Demand curve is upward sloping in case of Giffen goods and Veblen Goods
(B) Price effect is the sum of substitution effect and income effect
.Inferior goods violate the law of demand

(D) Income effect has nothing to do with wages of consumers

127. Under which one of the following situations will supply curve shift leftwards?
.Natural disasters (B) Decrease in factor prices

(C) Decrease in indirect tax rates (D) Improvement in technology

128. When consumers have a strong need that cannot be satisfied by an existing product, what is it

called?
(A) Non-existent demand (B) Declining demand
.Latent demand (D) Negative demand
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129. Assertion (A): Generally the quantity demanded of a goods increases with a decrease in price of
the goods. However, this may not always be true.

Reason (R): Giffen goods are an exception.

Select the correct answer from the options given below:

(A) A is false but R is true

(B) A'is true but R is false

(C) Both A and R are true but R is not the correct explanation of A
.Both A and R are true, and R is the correct explanation of A

130. Which one of the following is not an assumption of the law of supply?
(A) There is no change in the goal of the firm

(B) There is no change in business expectations

.There is no change in income of consumers

(D) There is no change in the technique of production

131. Which one the following statements is incorrect?
(A) If entrepreneurs are willing to take risk of higher output, the supply will be more elastic
(B) Perishable goods are relatively less elastic in supply than durable goods
(C) Elasticity of supply will be higher in the long term
.None of the above

132. Which one of the following is a correct statement?
(A) Decrease in input prices causes a leftward shift in the supply curve
(B) The demand for a commodity is inversely related to the price of its substitute goods
.The demand for a commodity is inversely related to the price of its complementary goods

(D) Increase in number of firms in an industry causes a leftward shift in the supply curve

133. Consider the following statements regarding the nature of Economics:
Statement (I): Microeconomics studies economic behaviour of individuals.
Statement (II): Macroeconomics studies the behaviour of aggregated economic variables.

With respect to the above given statements choose the correct answer from the options given
below:

(A) Statement (I) is correct but statement (II) is incorrect
(B) Statement (I) is incorrect but statement (II) is correct
.Both these statements are correct

(D) Both these statements are incorrect
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BuRlsd [Aturi-n Agedni A-umidl sal [asey i 972
@) as(1) 21 QeI i 8 wa [@Qaq (1) wig 8.
(B) [Asu(r) 12 &9 um [ 2 Qs (1) viey 8.
(C) 81y [Qtu-il viier 6.

(D) =3l [dtunl 02 6.

siulia [Bra {0 DA-umidl sy [Qan vilg 97
(A) siHRIAd [Bra 2 oielluiod Sruzi-2u ©.

B) 51 1l{a BrediA 2uR602u8 g1t udal a2t 204 8 247 vl dA el 65l gt s34 aziami
20d 8.

(C) MURANUL stHRa Bra disBia .
(D) HRAH SRl (B W oronR 2lAsaa 8.
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134.

135.

136.

137.

138.

Which one of the following statements is incorrect?

(A) Scarcity definition of Economics was given by Adam Smith
(B) Wealth definition of Economics was given by Lionel Robbins
.Welfare definition of Economics was given by Alfred Marshall

(D) Growth and Development definition of Economics was given by A C Pigou

Which one of the following statements is correct?

.Generally income of consumer and demand are directly related
(B) All inferior goods are Giffen goods

(C) All Giffen goods are not inferior goods

(D) Demand curve is downward sloping in case of speculative goods

Which one of the following match is incorrect?

(A) Call money — money lent/borrowed for one day

(B) Notice money — money lent/borrowed for a period of 2-14 days
(C) Term money — money lent/borrowed for 15 days to one year

.None of the above

Consider the following statements regarding Cash Management Bill (CMB):
Statement (I): CMB was introduced in 2010.

Statement (II): It is a short-term instrument sold by RBI on behalf of the Government of India

to raise money for temporary needs of the Central Government.

Statement (III): Tenure of CMB is 180 days.

With respect to the above given statements which one of the following alternatives is correct?

.Statement (I) and statement (II) are true but statement (III) is false
(B) Statement (I) is true but statement (II) and statement (III) are false
(C) All the three statements are false

(D) All the three statements are true

Which one of the following statements regarding Commercial Bills is incorrect?

(A) Commercial Bills are negotiable instruments

. Commercial Bills are first discounted by the RBI and then it is further rediscounted by

commercial banks
(C) Commercial Bills are not popular in India

(D) Market for Commercial Bills is underdeveloped in India
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(D) [R6i=a2 Su-ll-l 3l HnvnHl 218 cuoL 69,

140. DA-uHioll 53 (A vilg €97
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143. Aaerirl gt Aeedni DaA-unisd 53 (@A vig 97
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(D) [ReaHi zruani »uddl s1aal G-l dladl 25 sum-l di daigaill dart 48l vidmi Aldani
204 69,
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139.

140.

141.

142.

143.

.The interest paid on debentures is a charge against profits of the company and it increases the

Which one of the following statements regarding debentures is incorrect?

gross profit
(B) Debenture holders do not get any right to vote
(C) Debentures are generally transferrable

(D) Debentures form a part of company’s capital structure

Which one of the following statements is incorrect?
(A) RBI is an important participant in the money market

(B) Reforms in the money market were introduced on the recommendations of the Sukhmoy
Charkravarty Committee and Narasimham Committee

(C) Treasury Bills are considered risk free

.Commercial banks can provide loans against certificate of deposit

Consider the following statements with respect to depreciation of home country currency:
Statement (I):  Depreciation of currency increases exports and decreases imports.
Statement (II): Depreciation of currency increases imports and decreases exports.

Statement (III): Depreciation is successful in correcting deficit in trade balance only when other
countries do not depreciate their currency.

With respect to the above given statements which one of the following alternatives is correct?
(A) Statement (I) is correct but statement (II) and statement (III) are incorrect
(B) Statement (II) is correct but statement (I) and statement (III) are incorrect
.Statement (I) and statement (III) are correct but statement (II) is incorrect

(D) All the three statements are correct

Which one of the following is a source of supply of foreign exchange in home country?
(A) Demand for imports (B) Demand for travelling abroad for business

(C) Demand for investment abroad .Supply of exports

Which one of the following statements is incorrect with respect to balance of payments?

.Exports and imports of goods and services are recorded in the capital account of balance of
payments

(B) All unilateral transactions are recorded in the current account of balance of payments

(C) Income earned out of investments done abroad is recorded in the current account of balance
of payments

(D) Short-term loans advanced to or borrowed from abroad are recorded in the capital account of
balance of payments
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144.

145.

146.

147.

AAmigdl sun (a2 duir Aas- wolses yeyd Rugidi 1dl?

G IACICEIRY] i, Y5 UUIR
jii. 0y s sl iv. aroll sl
v. 52 w5 ulansd vi. Hina 2851

vii. ergualla R ueald
A2 2udan si3 Bualol 530 AL AL YRAE S

(A) (), (i) A1 (iii) (B) (iii), (v) 21 (vi)
(C) (iii), (vi) 21 (vii) ®))iii) 27 (vi)

L IDETRESTUETEIN DY E

Yl Y-

a. (A2 AU Aasn i. 1993

b. G2+0d AG~3 AagllzAaA ii. 1995

c. WTO-23 widlAl dley oildl iiii. 1997

d. fl U2 (AH-sH2) s iv. 1999

A 2 si3Hl Gualol 30A A1AL sl uAE S

(A) a-i, b -iii, ¢ - iv, d - i (B)a-i,b-iv, c - iii, d - ii
.a-ii,b-i,c-iii,d-iv (D)a-iv, b -ii, ¢ -i, d -iii

SLAHL MR AidA QUi Aeeini DA-umisdl s34 / saQaun / [Qadl iy / i 87
1. auRd-l duladdl [Asi d-l dwdlaadl 2uad sd 2480 9.

2. 1Bl ANHE Rl dlvis 2 2Eld, U181, vidR 24 4L 2uani g2ist aul 9.
3. el Al s d-l Al 2uud s ay ©.

4. MR AUs5eL A/, vididl vueaedl s 6.

A2 2 si3Hl Gualol 30 A1AL sl uAE S

(A) WAL 1 244 2 (B) H1AA 2 24 4

(C) 3 @)1, 324

Aumiddl sy nes 21’ o A el 53 97

(A) [a= oisl Qi [Rren

(B) v olsll siualldluidl 2is

(C) [A2 R 2161 gIRL drl AeUIA 2uuail 2uadl 582 [Rew
@) iRl e ¢idin g1t d-i 1o 2iuami 2uadl 382 Rirew
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144. Which of the following are not the guiding fundamental principles of the WTO?

i. Non-discrimination ii. Free trade
iii. Social welfare iv. Fair competition
v. Market access commitment vi. Human rights

vii. Multilateral trading system

Select the correct answer using the codes given below:

(A) (), (ii) & (iii) (B) (iii), (v) & (vi)

(O) (iii), (vi) & (vii) .(iii) & (vi)
145. Match the following with the year of establishment.

List I List I1

a. World Trade Organization i. 1993

b. Uruguay round negotiations ii. 1995

¢. WTO-Trade Policy Review Body iii. 1997

d. The Patents (Amendment) Act iv. 1999

Select the correct answer using the codes given below:
(A)a-i,b-iii, c-iv, d - ii B)a-i,b-iv, c-iii, d - ii
.a-ii,b-i,c-iii,d-iv D)a-iv,b-ii,c-1i,d -iii

146. With reference to the international trade of India at present, which of the following statement(s)
is/are correct?
1. India’s merchandise exports are less than its merchandise imports.

2. India’s imports of iron and steel, chemicals, fertilizers and machinery have decreased in recent
years.

3. India’s exports of services are more than its import of services.
4. India suffers from an overall trade/current account deficit.
Select the correct answer using the codes given below:

(A) 1 and 2 only (B) 2 and 4 only
(C) 3 only .1, 3 and 4 only

147. Which one of the following best describes ‘Gold Tranche’?
(A) A loan system of the World Bank
(B) One of the operations of a central bank
(C) A credit system granted by WTO to its members
.A credit system granted by IMF to its members
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148.

149.

150.

151.

152.

AR Ay s1200 Daumiell sy Alefl ay aa-l Acua-u 97?
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3. dUIR Adar YR 8

GuRlsduidl sy / sun Qs / (sl i / i 97

@1 (B) WA 1 241 2
(C) " 3 (D) H1AA 2 91 3

Al [Qrunl g R Qi
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3. 23 302 2=alHr2 (TFA) YU 201641 AHAHT 2UL.

BuR i [Qan-l W4 s [Qrunl i 97?

@) 12472 (B) HiA 1 21 3

(C) WA 2 ¢4 3 (D) 1, 2 ¢4 3 et %
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(C) 2AldRIY A1Lu ;{31 usidl (D) [ 615 ouotdl

(2 Jaqui-z ois (gl Al [Qa-in uqui al:

1. AHi MRS Hert weuell 6, ueaull 3l Mreuqu R Hdlg [Ade saami »ud ©
2. 2R Jqaur2 GlseL adHI UH HALRLRL 2UASIAL 8

3. (2 3qaui-2 G5 SLEHL 68 UL 414 €9

BuR 2uiean [Q-inidl sy 1y 97

(A) WA 1244 3 (B) {1 2 4 3

©)1, 2211300 % (D) WA 1 244 2

L A2l 22unL 195641 49 edl. Slani d-i 186 ucd 22l 9. d [Asiualla sl vl S uHiaq
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148.

149.

150.

151.

152.

Which of the following is more likely to happen due to devaluation of currency?
1. Improves the competitiveness of the domestic export in foreign market

2. Increases the foreign value of domestic currency

3. Improves the trade balance

Which of the above statement(s) is/are correct?

.1 only (B) 1 and 2
(C) 3 only (D) 2 and 3

Consider the following statements:

1. India has ratified the Trade Facilitation Agreement (TFA) of the WTO.
2. TFA is a part of WTO’s Bali Ministerial Package of 2013.

3. TFA came into force in January 2016.

Which of the statements given above are correct?

.1 and 2 only (B) 1 and 3 only

(C) 2 and 3 only (D)1,2and 3

In the context of which of the following do you sometimes find the terms amber box, blue box and
green box in the news?

@)WTO affairs (B) SAARC affairs
(C) IMF affairs (D) World Bank affairs

Consider the following statements about Asian Development Bank (ADB):

1. It has a weighted voting system, votes being distributed in proportion to members’ capital
subscription.

2. Present President of ADB is Masatsugu Asakawa

3. ADB presently has 68 members.

Which of the above given statements are correct?

(A) 1 and 3 only (B) 2 and 3 only
.1, 2 and 3 (D) 1 and 2 only

This institution was established in 1956. Presently, it has 186 member countries. It is focused
exclusively on the promotion of private sector in developing countries. It gives loans to private
companies rather than to governments. Which institution are we talking about?

(A) International Development Association
.International Finance Corporation

(C) International Monetary Fund

(D) World Trade Organization
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153.

154.

155.

156.

157.

158.

159.

160.

Which one of the following is not a concessional lending by the IMF?
(A) Extended Credit Facility (ECF)

(B) Standby Credit Facility (SCF)

(C) Rapid Credit Facility (RCF)

.Flexible Credit Line (FCL)

In which year the IMF introduced the Special Drawing Rights (SDRs) for its member countries?

(A) 1959 (B) 1989 (C) 1979 .1969

Which one of the following is the main government agency responsible for development and
monitoring of international trade in India?

.Department of Commerce

(B) Indian Institute of Foreign Trade

(C) Federation of Indian Export Organizations

(D) Export Promotion Council

Which one of the following is not the guiding principle of the World Bank regarding its lending
operations?

.The bank does expect the borrowing country to spend the loan in a particular country

(B) Proper assessment of the repayment prospects of loans

(C) Lending should be only for specific projects which are economically and technically sound and
of a high priority nature

(D) The lending should be to enable a country to meet foreign exchange content of the project cost

Which one of the following institutions provides structural adjustment facility?

(A) IBRD (B) WTO (C) ADB ®)ivF

Which one of the following Acts governs foreign exchange and foreign currencies in India?
(A) SCRA Act @®)reEmA

(C) SEBI Act (D) Banking Regulation Act

Which one of the following statements is correct with respect to foreign exchange market?
.It is the largest market in the world in terms of cash value traded

(B) Current transactions are carried out in the forward market

(C) Future transactions are carried out in the spot market

(D) The headquarter of global foreign exchange market is in London

Which one of the following export promotion scheme has its objective to neutralize the incidence
of customs duty on imports?

(A) Export Promotion of Capital Goods

(B) Export Credit Guarantee

.Duty Entitlement Pass Book

(D) Duty Free Replenishment
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161. Which one of the following is not a selective instrument of credit control?
(A) Consumer credit regulation .Reverse repo

(C) Margin requirement (D) Moral suasion

162. Which one of the following statements is correct with respect to controlling inflation?
(A) The government should adopt expansionary fiscal policy
.The central bank should adopt contractionary monetary policy
(C) Both (A) and (B)
(D) None of the above

163. Consider the following statements regarding interim budget:

Statement (I):  An interim budget is presented by the government when it does not have time to
present a full budget.
Statement (II): An interim budget is passed after complete discussion in the Lok Sabha. -

Statement (IITI): Interim budget is mandatory.

Select the correct option from the following with respect to the statements given above:
(A) Statement (I) and (IT) are correct but statement (III) is incorrect

(B) Statement (I) and (III) are correct but statement (II) is incorrect

.Only statement (I) is correct

(D) Only statement (II) is correct

164. Which of the following are the salient features of Indian audit?
1. Audit is a Union Subject
2. Integration of auditing and accounting at the sub-national level
3. Primarily concerned with expenditure
Choose the correct answer using the codes given below:
(A)1and?2 (B)2and 3
(C)1and 3 ®)1,2 and 3

165. Which of the following documents are presented to the legislature along with the budget?
1. An explanatory memorandum on the budget
2. A summary of demands for grants
3. An Appropriation Bill
4. A Finance Bill
5. The economic survey
Choose the correct answer using the codes given below:
(A) 1,3 and 5 (B)1,2and 3
(C)2,3 and 5 ®)1,2,3and 4
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170.
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166. In which year the first scheme of delegation of financial powers to decentralise financial control
was introduced?

(A) 1962 ®)19s8
(C) 1968 (D) 1966

167. Which of the following statements are incorrect?
1. Rajya Sabha can reject a Money Bill.
2. Rajya Sabha can make recommendations on a Money Bill.
3. Rajya Sabha cannot reject a Money Bill.
4. Rajya Sabha should return the Money Bill to the Lok Sabha within 14 Days.
5. Rajya Sabha can amend a Money Bill.

Choose the correct answer using the codes given below:
(A) 2,3 and 4 (B)1,2 and 5 -
©)1 and 5 (D) Only 1

168. Match List I with List II and select the correct answer by using the codes given below the lists.

List I List II
a. First Separate Railway Budget 1. 1951
b. Finance Commission 2.1921
c. Integrated Financial Advisor 3.1924
d. Public Accounts Committee 4.1976
(A)a-3,b-2,c-4,d-1 B)a-1,b-3,c-2,d-4
.a-3,b-1,c-4,d-2 MD)a-3,b-1,c-2,d-4

169. Consider the following statements:
1. Most of India’s external debt is owned by government entities
2. All of India’s external debt is denominated in US dollars.
Which of the statement(s) given above is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 .Neither 1 nor2

170. Which one of the following best describes counter cyclical fiscal policy?

.The government makes excess expenditure during recession and adopts a tighter fiscal policy
during economic boom

(B) The government cuts expenditure during recession and adopts an expansionary fiscal policy
during economic boom

(C) The government counters business cycles by increasing subsidies

(D) The government counters business cycles by decreasing expenditure
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171. With reference to the Union Budget, which of the following is/are covered under non-development

expenditure?
1. Defence expenditure 2. Interest payments
3. Salaries and pensions 4. Subsidies

Select the correct answer using the codes given below:
(A) 1 only (B) 2 and 3 only
©)1,2,3and 4 (D) None

172. Which of the following is/are included in the capital budget of the government of India?
1. Expenditure on acquisition of assets like buildings and machinery
2. Loans received from foreign government
3. Loans and advances granted to States and Union Territories
Select the correct answer using the codes given below:
(A) 1 only (B) 2 and 3 only
(C) 1 and 3 only ®)1,2 and 3

173. Which one of the following is unlikely to happen if RBI increases repo rate?
(A) Commercial banks will increase their deposit and lending interest rates
.Commercial banks will decrease their deposit and lending interest rates
(C) Investment expenditure will decrease

(D) Consumer expenditure will decrease

174. Consider the following statements with reference to primary deficit:
Statement (I): The fiscal deficit excluding the interest liabilities for a year is the primary deficit.
Statement (II): The Union Budget 2022-23 has set primary deficit target of 2.8% for 2022-23.
With respect to the above given statements which one of the following alternatives is correct?
(A) Statement (I) is correct but statement (II) is incorrect
(B) Statement (I) is incorrect but statement (II) is correct
(C) Both the statements are incorrect

.Both the statements are correct

175. Which of the following is the correct sequence when the RBI changes monetary policy?

(A) The supply of money remains unchanged, but the amount of business investment spending
increases

(B) The demand for money changes, investment spending changes and aggregate demand changes

.The supply of money changes, interest rates change, investment spending changes and
aggregate demand changes

(D) None of the above
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176. Consider the following statements:

Statement (I): Consolidated Fund of India has been formed under Article 266(I) of the Indian

Constitution.

Statement (II): Contingency Fund of India has been created under Article 267 (I) of the Indian

Constitution.

Statement (III): Public Account of India has been formed under Article 278 of the Indian

Constitution.
With respect to the above given statements which one of the following alternatives is correct?
(A) Statement (I) is correct but statement (II) and statement (III) are incorrect
.Statement (I) and statement (II) are correct but statement (III) is incorrect

(C) Statement (I) and statement (III) are correct but statement (II) is incorrect

(D) Statement (II) and statement (I1I) are correct but statement (I) is incorrect

177. Which one of the following statements about Direct Tax Proposals in Union Budget of 2022-23 is

incorrect?

(A) Income from transfer of digital assets to be taxed at 30%

(B) The tax incentive period to be extended by one-year for start-ups until March 31, 2023
(C) Surcharge on cooperative societies to be reduced from 12% to 7%

.None of the above

178. Which one of the following formula is incorrect?
.Fiscal Deficit = Revenue Deficit + Market borrowings and liabilities
(B) Revenue Deficit = Revenue Expenditure — Revenue Receipts
(C) Effective Revenue Deficit = Revenue Deficit — Grants for creation of capital assets

(D) Primary Deficit = Fiscal Deficit — Interest Payments by government

179. Which one of the following statements is incorrect?
(A) Cash reserve ratio is a short-to-medium term tool of the RBI
.Statutory liquidity ratio is maintained by scheduled commercial banks with the RBI in cash

(C) Scheduled commercial banks are able to earn money while maintaining statutory liquidity

ratio

(D) None of the above
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180. Consider the following statements:

Statement (I):  RBI introduced the liquidity adjustment facility (LAF) on the recommendation

of Rangarajan Committee report.

Statement (II): Repo rate is the rate of interest at which the RBI provides short-term loans to

scheduled commercial banks without any approved securities.
With respect to the above given statements which one of the following alternatives is correct?
(A) Statement (I) is correct but statement (II) is incorrect
(B) Statement (I) is incorrect but statement (II) is correct
(C) Statement (I) and statement (II) both are correct

.Statement (I) and statement (II) both are incorrect

181. Which one of the following statement(s) is/are correct with respect to commercial banking in

India?
Statement (I): Chief objective of a commercial bank is to earn profit.
Statement (II): Commercial banks create credit.

Statement (III): Commercial banks pay higher interest rate to depositors in comparison to what

they charge to their lenders.
Select the correct answer from the alternatives given below:
.Statement (I) and statement (II) are true but statement (III) is false
(B) Statement (I) and statement (III) are true but statement (II) is false
(C) All the three statements are false

(D) All the three statements are true

182. The RBI acts as a banker’s bank. This would imply which of the following?
1. Other banks retain their deposits with the RBI.
2. The RBI lends funds to the commercial banks in times of need.
3. The RBI adyvises the commercial banks on monetary matters.
Select the correct answer using the codes given below:
.2 and 3 only (B) 1 and 2 only

(O) 1 and 3 only (D)1,2and 3
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183. What is the chief aim of Pradhan Mantri MUDRA Yojna?
.Bringing the small entrepreneurs into formal financial system
(B) Providing loans to poor farmers for cultivating particular crops
(C) Providing pensions to old and destitute persons

(D) Funding the voluntary organisations involved in the promotion of skill development and

employment generation

184. Which of the following statement(s) is / are correct with respect to the establishment of ‘Payments

Banks’ in India to promote financial inclusion?

1. Mobile telephone companies and supermarket chains that are owned and controlled by residents

are eligible to be promoters of Payments Banks.

2. Payments Banks can issue both credit cards and debit cards.
3. Payments Banks cannot undertake lending activities.

Select the correct answer using the codes given below:

(A) 1 and 2 only @)1 and 3 only
(C) 2 only (D)1,2and 3

185. Consider the following statements:
1. The RBI manages the Government of India securities but not any State government securities.

2. Treasury Bills are issued by the Government of India and there are no Treasury Bills issued by

the State governments.
3. Treasury Bills are issued at a discount from the par value.
Which of the statement(s) given above is/are correct?
(A) 1 and 2 only (B) 3 only

.2 and 3 only (D)1,2and 3

186. Consider the following statements:
Statement (I): MUDRA Bank provides refinance support to regional rural banks.
Statement (II): Loans of MUDRA have been named ‘Shishu’, ‘Kishore’ and ‘Tarun’.
Which of the statement(s) given above is/are correct?
.Both (I) and (II) (B) Only (I)
(C) Only (1) (D) None of the above
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187. Which one of the following is the main agency for implementing Rural Infrastructure Development

Fund (RIDF)?
(A) ARDC @B)NABARD
(C) RPCC (D) RRBs

188. The RBI regulates the commercial banks in which of the following matters?
1. Liquidity of assets 2. Branch expansion 3. Merger of banks 4. Winding up of banks
Select the correct answer using the codes given below:
(A) 1 and 4 only (B) 2, 3 and 4 only

(C) 1,2 and 3 only @)1, 2,3 and 4

189. Which one of the following Acts is not administered by the RBI?
.F inancial Responsibility and Budget Management Act, 2003
(B) Public Debt Act, 1944
(C) Factoring Regulation Act, 2011

(D) Payment and Settlement Systems Act, 2007

190. Consider the following statements regarding the Monetary Policy Committee (MPC):
Statement (I): MPC was set up in 2016.
Statement (II): RBI governor is the ex-officio Chairperson of the MPC.
Statement (I1I): The Committee meets six times in a year.
Select the correct answer from the alternatives given below:
(A) Statement (I) and statement (IIT) are true but statement (II) is false
(B) Statement (I) is true but statement (II) and statement (III) are false
.Statement (I) and statement (II) are true but statement (III) is false

(D) All the three statements are true

191. Which operation was undertaken by the RBI in 2019 to incentivize long-term investment by

lowering long-term interest rates?
(A) Operation G-Sec .Operation Twist

(C) Operation OMO (D) Operation LTRO
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192. Which one of the following statements is correct with regard to Regional Rural Banks?
(A) The Regional Rural Banks are supervised by NABARD
(B) The Regional Rural Banks have to follow the regulatory norms prescribed by the RBI
.Gujarat has the highest number of Regional Rural Banks

(D) Regional Rural Banks were set up on the recommendations of M. Narasimham Working
Group

193. Which one of the following statements is correct?
.New private sector banks in India are those that came into existence after 1991
(B) Axis Bank and YES Bank are payments bank
(C) SBI was nationalized in 1969
(D) 20 banks were nationalized in 1980

194. Consider the following statements about e-Rupee:
Statement (I): e-Rupee is India’s own Central Bank Digital Currency (CBDC)
Statement (II): e-Rupee is a legal tender, backed by the RBI
Statement (I1I): e-Rupee is physical money in digital form
With reference to the above given statements which of the following alternatives is correct?
(A) Statement (I) is correct but statement (II) and statement (III) is incorrect
(B) Statement (I) and statement (II) is correct but statement (III) is incorrect
(C) Statement (I) is incorrect but statement (II) and statement (III) is correct

.All the three statements are true

195. From which year was the Banking Ombudsman Scheme introduced by the RBI?
(A) 2005 (B) 2001
©)1995 (D) 1998

196. The most significant recommendation of the first Narasimham Committee relating to private
banks was related to which one of the following?

(A) Branch network (B) Merger
(C) Expansion .Entry

197. As per 7" December 2022 Monetary Policy declaration, which one of the following is not properly

matched?
(A) Repo rate — 6.25% (B) SDF rate — 6.00%
.Bank rate — 6.25% (D) CRR -4.5%
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198. Which one of the loans do not constitute a part of priority sector lending?
(A) Loans to small retail traders (B) Loans to agriculture

.Loans to large-scale industries (D) Loans to small-scale industries

199. Which one of the following is the biggest constraint in e-Banking?

(A) Security cost (B) Training cost
(C) Maintenance cost .Start-up cost
200. Which one of the following terms is closely associated with clearing in banks?
(A) NEFT @)Ecs
(C) DEHI (D) RTGS
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